
CHEMISTRY

JEE (MAIN AND ADVANCED) CHEMISTRY

ALCOHOLS, PHENOLS AND ETHERS

PROBLEMS

1. How many structural isomers exist with the formula ?

Watch Video Solution

C4H10O

2. Identify the most stable conformer of glycol.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bKY0znlB9bjH
https://dl.doubtnut.com/l/_nABpVLiDpxWH


3. How many amyl alcohol structures are possible ?

Watch Video Solution

4. How acetylene is converted to ethyl alcohol ?

Watch Video Solution

5. How benzyl alcohol is obtained from benzyl chloride ?

Watch Video Solution

6. How is n-propyl alcohol prepared from propene ?

Watch Video Solution

https://dl.doubtnut.com/l/_x3NZzjX26rvE
https://dl.doubtnut.com/l/_ZZOrLyLPsalm
https://dl.doubtnut.com/l/_17Eav9I6d4ST
https://dl.doubtnut.com/l/_XsGdYUSRVyPI


7. Suggest a method for the conversion of  into

ethyl alcohol.

Watch Video Solution

CH3 − CH2 − NH3

8.   

What is X ? Suggest the mechanism.

Watch Video Solution

CH3 − C
∣

CH3

H − CH = CH2 + H2O
H +

−−→ X

9. How is methyl alcohol converted to ethyl alcohol?

Watch Video Solution

10. tert-Butyl alcohol is much more soluble in water than n-butyl alcohol.

Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_tClAISiwuVzO
https://dl.doubtnut.com/l/_YZ67DzKFWcnp
https://dl.doubtnut.com/l/_P2Pnuihzxnwn
https://dl.doubtnut.com/l/_C9oW5vfxvI9Z


11. Identify the stronger acid among the following: Butanol-1, butan-2-ol,

isobutyl alcohol and tert-butyl alcohol. Give Reason.

Watch Video Solution

12. Write the strucutre of the product and mechanism of the following

reaction: 

Watch Video Solution

(CH3)3C − CH2OH
HBr
−−→

13.   

A is the major product. What is 'A' ?

Watch Video Solution

https://dl.doubtnut.com/l/_C9oW5vfxvI9Z
https://dl.doubtnut.com/l/_Z0niO1aY86Tt
https://dl.doubtnut.com/l/_2MBmLTSRHIE9
https://dl.doubtnut.com/l/_5YVzkF2NyfuL


14. How do you distinguish between methyl alcohol and ethyl alcohol ?

Watch Video Solution

15. What happens when ethyl alcohol is treated with HI and red

phosphorous ?

Watch Video Solution

16. What happens when one drinks ethanol mixed with methanol? Why?

Watch Video Solution

17. Phenol is treated with  in presence of NaOH. What happens ?

Watch Video Solution

CCl4

https://dl.doubtnut.com/l/_QcNdRsohVfmt
https://dl.doubtnut.com/l/_YAg22t8RrsQa
https://dl.doubtnut.com/l/_omfKyARyGl6X
https://dl.doubtnut.com/l/_ZGZ5QSXXIlV2


18. What is the reason for the formation of tribromo phenol when phenol

is treated with aqueous bromine?

Watch Video Solution

19. Write the electrophile and intermediate in Reimer-Tiemann reaction.

Watch Video Solution

20. Write the decreasing order of acidic strengths of the following: 

A : Phenol, B:p-nitrophenol, C: p-chlorophenol, D: p-cresol and E: p-

methoxy phenol.

Watch Video Solution

21. Arrange the following compounds in decreasing order of their acidic

strength : Propan-1-ol, 3,5-Dinitrophenol, phenol, 2,4,6- Trinitrophenol, 3-

https://dl.doubtnut.com/l/_IVUy7plkMYPo
https://dl.doubtnut.com/l/_aEIVorjLpgkf
https://dl.doubtnut.com/l/_pPEBps6jWXS6
https://dl.doubtnut.com/l/_zNRUdvrddXK6


Nitrophenol and 4-methylphenol.

Watch Video Solution

22. Write the structures of the major products expected from the

following reactions: 

a) 3-methyl phenol is mononitrated 

b) Phenyl methanoate is mononitrated 

c) 3-Methyl phenol is dinitrated

Watch Video Solution

23. Predict the major products formed from the following reactions : 

a) Dinitration of 3-methylphenol 

b) Mononitration of phenylmethanoate 

c) Mononitration of 3-methylphenol

Watch Video Solution

https://dl.doubtnut.com/l/_zNRUdvrddXK6
https://dl.doubtnut.com/l/_bphObhHfRzwS
https://dl.doubtnut.com/l/_9uUcAcfUqCfq
https://dl.doubtnut.com/l/_x6J2rHWaOuli


24. How is ethyl iso-propyl ether prepared ?

Watch Video Solution

25. Chloroethane, 2-chloropropane and chloroethene are treated with

methoxide. Which is more reactive towards Williamson's synthesis ?

Watch Video Solution

26. Give one example of an ether which cannot be decomposed by HI.

Watch Video Solution

27. Ether can be dried over sodium, but not alcohol. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_x6J2rHWaOuli
https://dl.doubtnut.com/l/_0MiBqvjy72Ja
https://dl.doubtnut.com/l/_JlLUQjIBjLAb
https://dl.doubtnut.com/l/_tQbVOnowjnQn


28. How is ether distinguished from ethanol using iodine and alkali ?

Watch Video Solution

29. Give the major products that are formed by heating each ofthe

following ethers with HI. 

i)   

ii)   

iii) 

Watch Video Solution

CH3 − CH2 −

CH3

∣

C H − CH2 − O − CH2 − CH3

CH3 − CH2 − CH2 − O −

CH3

∣

C
∣

CH3

− CH2 − CH3

30. The following is not an appropriae reaction for the preparation of t-

butyl ethyl ether. 

https://dl.doubtnut.com/l/_5RtPVQklue3g
https://dl.doubtnut.com/l/_7SOC9VbOSAPP
https://dl.doubtnut.com/l/_SigyZeX1rnlb


SUBJECTIVE EXERCISE-1(LONG ANSWER QUESTIONS)

  

i) What would be the major product of this reaction ? 

ii) Write a suitable reaction for the preparation of t-butylethyl ether

Watch Video Solution

C2H5ONa + CH3 −

CH3

∣

C
∣

CH3

− Cl → CH3 −

CH3

∣

C
∣

CH3

− OC2H5

31. What product is expected when tertiary butyl bromide is reacted with

sodium ethoxide? Why that product is not formed and how that product

can be obtained?

Watch Video Solution

1. Write any one method for the preparation of ethyl alcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_SigyZeX1rnlb
https://dl.doubtnut.com/l/_p4X0ouwmwnO3
https://dl.doubtnut.com/l/_WfB9wlYqdVGx
https://dl.doubtnut.com/l/_JCwoqmw3lxdx


SUBJECTIVE EXERCISE-1(SHORT ANSWER QUESTIONS)

2. Explain how ethyl alcohol is obtained by fermentation process.

Watch Video Solution

3. What happens when ethyl alcohol reacts with i) Metallic Na 

ii) acetic acid iii)  iv) Conc. , 

Watch Video Solution

CH3MgBr H2SO4 140∘C

1. Explain the formation of ethyl alcohol from ethylene, ethyl acetate,

acetaldehyde and formaldehyde.

Watch Video Solution

2. Write the equations of the reactions of ethyl alcohol with the following

reagents : 

https://dl.doubtnut.com/l/_JCwoqmw3lxdx
https://dl.doubtnut.com/l/_Jx0OJ37YyRDf
https://dl.doubtnut.com/l/_3hY9kj4d4Vbk
https://dl.doubtnut.com/l/_Lo2GoQ4Q7HqB


a) conc.  at ,  

b) Thionyl chloride, 

c) Bleaching powder, water 

d) Methyl magnesium bromide.

Watch Video Solution

H2SO4 170∘C

3. How is ethyl alcohol converted to : 

a) acetaldehyde b) ethyl acetate 

c) iodoform d) ethane ?

Watch Video Solution

4. Write the mechanism of dehydration of ethyl alcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_Lo2GoQ4Q7HqB
https://dl.doubtnut.com/l/_Qit5OnCx5oZM
https://dl.doubtnut.com/l/_Cyz0P7CQ0bW3


5. Explain how the three types of alcohols, primary, secondary and tertiary

can be distinguished ?

Watch Video Solution

6. How does ethyl alcohol react with metallic sodium, acetic acid and conc.

 at  ?

Watch Video Solution

H2SO4 140∘C

7. How is metylalcohol prepared commercially?

Watch Video Solution

8. Write the uses of methyl alcohol and ethyl alcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_myqls7gGwWcI
https://dl.doubtnut.com/l/_HrdNNjXtGt5l
https://dl.doubtnut.com/l/_4hcIk1sGyFxX
https://dl.doubtnut.com/l/_zSsa7TLI9gf0


SUBJECTIVE EXERCISE-1(VERY SHORT ANSWER QUESTIONS)

1. What are dihydric and trihydric alcohols ? Give one example each.

Watch Video Solution

2. What are secondary and tertiary alcohols ?

Watch Video Solution

3. How is recti�ed spirit converted to absolute alcohol ?

Watch Video Solution

4. Give the equations for the reaction of ethyl alcohol with  and 

.

Watch Video Solution

PCI5

PCl3

https://dl.doubtnut.com/l/_PYi30MkHnrvl
https://dl.doubtnut.com/l/_5s2u6yXfVGdE
https://dl.doubtnut.com/l/_OiCdrEymp2ye
https://dl.doubtnut.com/l/_X596iJOVEo6G


5. Give the equations for the reaction of ethanol with conc.  at

di�erent temperatures.

Watch Video Solution

H2SO4

6. Write the common & IUPAC name of 

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− OH

7. Explain the action of  on ethyl alcohol at C and .

Watch Video Solution

Al2O3 260∘ 350∘C

8. How does ethyl alcohol react with Cu metal at . Name that

reaction.

Watch Video Solution

300∘C

https://dl.doubtnut.com/l/_X596iJOVEo6G
https://dl.doubtnut.com/l/_eXGYL7ymIbxf
https://dl.doubtnut.com/l/_MoDIUjeApGZa
https://dl.doubtnut.com/l/_uDV5tRUJdW12
https://dl.doubtnut.com/l/_P0fTenvRyHFM


SUBJECTIVE EXERCISE-2 (LONG ANSWER QUESTIONS)

SUBJECTIVE EXERCISE-2 (SHORT ANSWER QUESTIONS)

9. 'X' reacts with  to give 'Y'. 'Y' reacts with aqueous KOH to give back

'X'. If the molecular formula of 'X' is  what are 'X' and 'Y'? 

Watch Video Solution

PCI5

C2H6O

1. How is phenol prepared? Write the properties of phenol.

Watch Video Solution

1. Explain the acidic nature of phenol.

Watch Video Solution

https://dl.doubtnut.com/l/_P0fTenvRyHFM
https://dl.doubtnut.com/l/_jCmXW9Nl9jNJ
https://dl.doubtnut.com/l/_vsZvGQDkbinG
https://dl.doubtnut.com/l/_lNo1csUt6x0O
https://dl.doubtnut.com/l/_15uMfzQJny0C


2. Discuss the acidic nature of phenols compared to alcohols. 

Watch Video Solution

3. Compare the acidic character of nitrophenols, phenol and cresols.

Watch Video Solution

4. Compare the acidic character of nitrophenols, phenol and cresols.

Watch Video Solution

5. Explain the electrophilic substitution reactions of phenol. Write two

uses of phenol.

Watch Video Solution

https://dl.doubtnut.com/l/_15uMfzQJny0C
https://dl.doubtnut.com/l/_xa22iS027x69
https://dl.doubtnut.com/l/_hPs8cp7Rkdct
https://dl.doubtnut.com/l/_ogyQjroZxQyq


6. Write short notes on the following: (a) Reimer-Tiemann reaction and

(b) Kolbe's reaction. 

Watch Video Solution

7. Arrange the following in the increasing order of acidic nature and

discuss the reason : 

(a) Phenol, (b) p-nitrophenol and (c) p-cresol

Watch Video Solution

8. Why phenol molecule is less stable than phenoxide ion ?

Watch Video Solution

9. Discuss the bromination of phenol in aqueous solution and  or 

 as solvent.

CS2

CHCI3

https://dl.doubtnut.com/l/_mwcaGdRHogV9
https://dl.doubtnut.com/l/_1Zf2haw7yeD6
https://dl.doubtnut.com/l/_2V84gl10UGsd
https://dl.doubtnut.com/l/_iLTKMvzBsDmc


SUBJECTIVE EXERCISE-3 (LONG ANSWER QUESTIONS)

SUBJECTIVE EXERCISE-3 (SHORT ANSWER QUESTIONS)

Watch Video Solution

1. Write three preparations and three properties of diethyl ether.

Watch Video Solution

2. How are the following converted to diethyl ether ? 

i)  ii)  iii) 

Watch Video Solution

C2H5OH C2H5Br C2H5ONa

1. By Williamson's method, how a tertiary alkyl and primary alkyl ether are

formed ?

W t h Vid S l ti

https://dl.doubtnut.com/l/_iLTKMvzBsDmc
https://dl.doubtnut.com/l/_D3WCFjAJZNh8
https://dl.doubtnut.com/l/_lPI0LmsA90Dn
https://dl.doubtnut.com/l/_uXRc7pDQbJAU


Watch Video Solution

2. Compare the physical properties of an alcohol and ether of comparable

molecular mass.

Watch Video Solution

3. By the reaction of a suitable Grignard reagent on formaldehyde, how

 and 

 are prepared?

Watch Video Solution

CH3 C
∣

CH3

HCH2OH

https://dl.doubtnut.com/l/_uXRc7pDQbJAU
https://dl.doubtnut.com/l/_zMV6Zm4iygh3
https://dl.doubtnut.com/l/_p764ByGaWwU4


4. Explain the action of HI on diethyl ether.

Watch Video Solution

5. Write the reactions of Williamson synthesis of 2-ethoxy-3-

methylpentane starting from ethanol and 3-methylpentan-2-ol.

Watch Video Solution

6. Draw the structure of all isomeric alcohols of molecular formula

 and give their IUPAC names and classify them as primary ,

secondary and tertiary alcohols.

Watch Video Solution

C5H12O

7. Give the structures and IUPAC names of monohydric phenols of

molecular formula, .C7H8O

https://dl.doubtnut.com/l/_z79O4ZwIxfFv
https://dl.doubtnut.com/l/_YecSKYyoutWt
https://dl.doubtnut.com/l/_oPHxrubEqQEa
https://dl.doubtnut.com/l/_5Qrh7NosZ4qJ


SUBJECTIVE EXERCISE-3 (VERY SHORT ANSWER QUESTIONS)

Watch Video Solution

8. Explain why ortho nitrophenol is more acidic than ortho

methoxyphenol? 

Watch Video Solution

1. Metallic sodium reacts with 'X' to form 'Y'. Ethyl chloride and 'Y' react

together to give diethyl ether. What are 'X' and 'Y'? 

Watch Video Solution

2. Two compounds A and B when heated sperately with  at ,

the product formed is ethylene, What are A and B ?

Watch Video Solution

Al2O3 360∘C

https://dl.doubtnut.com/l/_5Qrh7NosZ4qJ
https://dl.doubtnut.com/l/_mgAB9W1SdQqJ
https://dl.doubtnut.com/l/_KnCcGQfYrWmb
https://dl.doubtnut.com/l/_FtE0isMmDL5j


3. Write the action of HI on  in cold and hot conditions.

Watch Video Solution

C2H5OC2H5

4. Write the common and IUPAC names of 

Watch Video Solution

CH3 − O − C3H7

5. Explain Williamson's method of preparation of diethyl ether.

Watch Video Solution

6.   

what are A, B and C ?

Watch Video Solution

A
KOH

−−−−→
aqueous

B
conc.H2SO4

−−−−−−→
140 ∘C

C
hot

−−→
HI

C2H5I + H2O

https://dl.doubtnut.com/l/_XIHfx20pD2l6
https://dl.doubtnut.com/l/_cD9JuBPmHAjm
https://dl.doubtnut.com/l/_WhAsZBIZszZV
https://dl.doubtnut.com/l/_Dz1cFJ0HAIjH


CONVERSIONS

7. How methyl magnesium bromide is converted to 2-methyl-2-propanol ?

Watch Video Solution

8. From ethyl magnesium iodide how propanol-1 is formed ?

Watch Video Solution

1. Primary alcohol to aldehyde 

Watch Video Solution

2. Write the reagents for the following conversions : 

Watch Video Solution

Primary alcohol→Benzoic acid

https://dl.doubtnut.com/l/_ezdYOmpuuQoD
https://dl.doubtnut.com/l/_FmMVDVPteAMx
https://dl.doubtnut.com/l/_oD15hMvNXQwj
https://dl.doubtnut.com/l/_VTAv8ZTbaJNT


3. Write the reagents for the following conversions : 

Watch Video Solution

Primary alcohol→Benzoic acid

4. Butan-2-one to butan-2-ol 

Watch Video Solution

5. Write the reagents for the following conversions : 

Benzene to m-bromophenol

Watch Video Solution

6. Bromobenzene to 1-phenylethanol 

Watch Video Solution

https://dl.doubtnut.com/l/_VTAv8ZTbaJNT
https://dl.doubtnut.com/l/_AI77AUlWNTt3
https://dl.doubtnut.com/l/_L7XOOPhwhNFo
https://dl.doubtnut.com/l/_9fcf6Mqe1mtN
https://dl.doubtnut.com/l/_FrKBNqlOiMjG


7. Write the products in the following: 

Watch Video Solution

8. Write the products in the following: 

Watch Video Solution

CH3 − CH2 − CH2 −

CH3

∣

C H − CHO
NaBH4

−−−→

https://dl.doubtnut.com/l/_FrKBNqlOiMjG
https://dl.doubtnut.com/l/_bTRKoAMUaXYd
https://dl.doubtnut.com/l/_nuJuBxN511I2


9. Write the products in the following: 

Watch Video Solution

10. Write the products in the following: 

Watch Video Solution

H3C −

CH3

∣

C
∣

CH3

− Oh
20 %H3PO4

−−−−−−→
358K

11. Give the major products that are formed by heating of the

 ethers with HI.

Watch Video Solution

CH3 − CH2 − CH2 − O −

CH3

∣

C
∣

CH3

− CH2 − CH3

https://dl.doubtnut.com/l/_ZfR2YpTZaSHg
https://dl.doubtnut.com/l/_OGPNulhuOH7m
https://dl.doubtnut.com/l/_sY5eF693VYiQ


12. Write the products in the following: 

Watch Video Solution

13. Write the products in the following: 

Watch Video Solution

https://dl.doubtnut.com/l/_sY5eF693VYiQ
https://dl.doubtnut.com/l/_3tcxlb9dybR7
https://dl.doubtnut.com/l/_n1BdCvCCEcN2


14. Write the products in the following: 

Watch Video Solution

15. Write the products in the following: 

Watch Video Solution

CH3CH2CH2OH
KMnO4

−−−−→
Alkali

16. Write the products in the following: 

Watch Video Solution

CH3 − C
∣

CH3

H − C
∣

OH

H − CH3

HBr
−−→

https://dl.doubtnut.com/l/_MOlK4zNSqDGR
https://dl.doubtnut.com/l/_tbLrwHGYpDBd
https://dl.doubtnut.com/l/_2ph1hAAUcwCo
https://dl.doubtnut.com/l/_eFedLqAy4KDt


17. Write the products in the following: 

Watch Video Solution

C6H5CH2OH
HBr
−−→

KCN
−−→

H3O
+

−−−→
Δ

18. Write the products in the following: 

Watch Video Solution

19. Name Reactions : 

Kolbe's reaction

Watch Video Solution

https://dl.doubtnut.com/l/_eFedLqAy4KDt
https://dl.doubtnut.com/l/_qtivu4tHg4iS
https://dl.doubtnut.com/l/_B3XsA7lT21tO
https://dl.doubtnut.com/l/_WS88QxXdRQae


20. Write the equations involved in the following reactions: 

(i) Reimer - Tiemann reaction (ii) Kolbe’s reaction

Watch Video Solution

21. Name Reactions : 

Fischer esteri�cation

Watch Video Solution

22. What is Williamsons synthesis ? Given example.

Watch Video Solution

23. Name Reactions : 

Luca's test

Watch Video Solution

https://dl.doubtnut.com/l/_WS88QxXdRQae
https://dl.doubtnut.com/l/_89Rd7j9pMYL7
https://dl.doubtnut.com/l/_HxbVteGs2J40
https://dl.doubtnut.com/l/_oF41OGnLrSzF


24. Name Reactions : 

Haloform reaction

Watch Video Solution

25. Primary alcohol to aldehyde 

Watch Video Solution

26. Primary alcohol to carboxylic acid 

View Text Solution

27. Benzyl alcohol to benzoic acid 

Watch Video Solution

https://dl.doubtnut.com/l/_LHMC5wnWoFlg
https://dl.doubtnut.com/l/_GqAn5HQQgnJY
https://dl.doubtnut.com/l/_Z7fpxai6PRll
https://dl.doubtnut.com/l/_sosHbdhHhB0j


28. Butan-2-one to butan-2-ol 

Watch Video Solution

29. Benzene to m-bromophenol 

Watch Video Solution

30. Bromobenzene to 1-phenylethanol 

Watch Video Solution

31. Primary alcohol to aldehyde 

Watch Video Solution

https://dl.doubtnut.com/l/_MFB30R1fLGrU
https://dl.doubtnut.com/l/_dPExLpz5z51B
https://dl.doubtnut.com/l/_F8lhzccN4PWK
https://dl.doubtnut.com/l/_TCq3LxooCGo1


32. Write the reagents for the conversions : 

Primary alcohol  Carboxylic acid

View Text Solution

→

33. Write the reagents for the following conversions : 

Watch Video Solution

Primary alcohol→Benzoic acid

34. Butan-2-one to butan-2-ol 

Watch Video Solution

35. Benzene to m-bromophenol 

Watch Video Solution

https://dl.doubtnut.com/l/_GKthCVyo1f9K
https://dl.doubtnut.com/l/_FSXgua6JnhWn
https://dl.doubtnut.com/l/_uVkkZNBlTxvo
https://dl.doubtnut.com/l/_Giz1opJF49Uj
https://dl.doubtnut.com/l/_aDAKTdezEFyj


36. Bromobenzene to 1-phenylethanol 

Watch Video Solution

37. Write the products 

View Text Solution

38. Write structures of the products of the following reactions : 

Watch Video Solution

CH3 − CH2 − C
∣

CH3

H − CHO
NaBH4

−−−→

https://dl.doubtnut.com/l/_aDAKTdezEFyj
https://dl.doubtnut.com/l/_FuKgr0IZNpsH
https://dl.doubtnut.com/l/_MVtzimCCEFBN


39. Write the products 

View Text Solution

40. Write the products 

View Text Solution

https://dl.doubtnut.com/l/_sBkj87teM0AC
https://dl.doubtnut.com/l/_yU6nVrBEeOeR


41. Write the products 

Watch Video Solution

42. Write the products 

View Text Solution

43. Write the products 

Vi T t S l ti

https://dl.doubtnut.com/l/_wVbJEJs7DkKQ
https://dl.doubtnut.com/l/_r7XpXWXhMcKb
https://dl.doubtnut.com/l/_egUKVrR6wIXe


View Text Solution

44. Write the products 

Watch Video Solution

45. Write the products in the following: 

Watch Video Solution

CH3CH2CH2OH
KMnO4
−−−−→

Alkali

46. Write the products 

h id l i

CH3 − C
∣

CH3

H − C
∣

OH

H − CH3

HBr
−−→

https://dl.doubtnut.com/l/_egUKVrR6wIXe
https://dl.doubtnut.com/l/_kOUlB0OBXvXc
https://dl.doubtnut.com/l/_orlPoNtoQ3o2
https://dl.doubtnut.com/l/_4HNzrlmZP7ME


Watch Video Solution

47. Write the products in the following: 

Watch Video Solution

C6H5CH2OH
HBr
−−→

KCN
−−→

H3O
+

−−−→
Δ

48. Write the products 

Watch Video Solution

49. Write the reactions of Williamson synthesis of 2-ethoxy-3-

methylpentane starting from ethanol and 3-methylpentan-2-ol.

Watch Video Solution

https://dl.doubtnut.com/l/_4HNzrlmZP7ME
https://dl.doubtnut.com/l/_L2XAF4lazu9R
https://dl.doubtnut.com/l/_nGZxphgUHyii
https://dl.doubtnut.com/l/_NwZUnAlxXJmX


ALCOHOLS (Objective exercise-1)

50. Which of the following is an appropriate set of eactants for the

preparation of 1-methoxy-4 nitrobenzene. Why?  

Watch Video Solution

51. Predict the product of the following reactions: 

Watch Video Solution

https://dl.doubtnut.com/l/_NwZUnAlxXJmX
https://dl.doubtnut.com/l/_agvo26HP0pBq
https://dl.doubtnut.com/l/_PrC0Xv16Rahd
https://dl.doubtnut.com/l/_cROjGlqjsaFO


1. The number of  and  alcoholic groups in Mannitol or Sorbitol

are respectively

A. 2, 4 and 0

B. 1, 4 and 0

C. 2, 2 and 0

D. 2, 1 and 1

Answer: A

Watch Video Solution

10, 20 30

2. The common name of 2-methyl-1-propanol

A. 2-methyl-2-propanol

B. Secondary butyl alcohol

C. Isobutyl alcohol

D. Tertiary butyl alcohol

https://dl.doubtnut.com/l/_cROjGlqjsaFO
https://dl.doubtnut.com/l/_nOXxBEfUeZrE


Answer: C

Watch Video Solution

3.  An isomer of ethanol is

A. Methanol

B. Dimethyl ether

C. Diethyl ether

D. Ethylene glycol

Answer: B

Watch Video Solution

4. Which one of the following is a secondary alcohol?

A. 2 - Methyl - 1 - propanol

https://dl.doubtnut.com/l/_nOXxBEfUeZrE
https://dl.doubtnut.com/l/_a0267dGlwclf
https://dl.doubtnut.com/l/_khQcPL81wRel


B. 2 - Methyl - 2 - propanol

C. 2 - Butanol

D. 1 - Butanol

Answer: C

Watch Video Solution

5. If the boiling point of ethanol (molecular weight = 46) is , the

boiling point of diethyl ether (molecular weight = 74) is

A. C

B. C

C. C

D. C

Answer: D

Watch Video Solution

78∘C

100∘

78∘

86∘

34∘

https://dl.doubtnut.com/l/_khQcPL81wRel
https://dl.doubtnut.com/l/_KvWoG7kJcrO5


6. Which of the following alcohols has the lowest solubility in water ?

A. Methanol

B. Ethanol

C. 1-Propanol

D. 1-Butanol

Answer: D

Watch Video Solution

7. The enzyme that is not associated in the preparation of  from

starch is

A. maltase

B. diastase

C. invertase

C2H5OH

https://dl.doubtnut.com/l/_KvWoG7kJcrO5
https://dl.doubtnut.com/l/_ULpLTLy9tDUX
https://dl.doubtnut.com/l/_8Bf2YiqB7K8n


D. zymase

Answer: C

Watch Video Solution

8. Glucose is converted into ethyl alcohol by

A. maltase

B. zymase

C. invertase

D. diastase

Answer: B

Watch Video Solution

9. The percentage of  in wash isC2H5OH

https://dl.doubtnut.com/l/_8Bf2YiqB7K8n
https://dl.doubtnut.com/l/_4aL43qLRmDpg
https://dl.doubtnut.com/l/_U5vHHVxypHmD


A. 0.95

B. 0.1

C. 0.5

D. 0.75

Answer: B

Watch Video Solution

10. Recti�ed spirit can be converted into absolute alcohol by distilling

with

A. 

B. Na

C. conc. 

D. CaO

Answer: D

Na2CO3

H2SO4

https://dl.doubtnut.com/l/_U5vHHVxypHmD
https://dl.doubtnut.com/l/_zn5HH7aYK2lt


Watch Video Solution

11. The solution of starch formed by passing steam is called as

A. malt

B. mash

C. wash

D. absolute alcohol

Answer: B

Watch Video Solution

12. The enzyme produced by malt is

A. maltase

B. diastase

C. invertase

https://dl.doubtnut.com/l/_zn5HH7aYK2lt
https://dl.doubtnut.com/l/_0p6FBc1VefiF
https://dl.doubtnut.com/l/_GZXUsiKbHUCv


D. zymase

Answer: B

Watch Video Solution

13. The enzyme maltase converts maltose into

A. Glucose and Fructose

B. Fructose only

C. Glucose only

D. Glucose and ethyl alcohol

Answer: C

Watch Video Solution

14. Recti�ed spirit is made unsuitable for drinking by adding

https://dl.doubtnut.com/l/_GZXUsiKbHUCv
https://dl.doubtnut.com/l/_x88yaqcXqIc5
https://dl.doubtnut.com/l/_LdQ2iFu2z1PC


A. 

B. 1-propanol

C. Water

D. 2-propanol

Answer: A

Watch Video Solution

CH3OH

15. Which of the following alkenes when passed through conc. 

followed by hydrolysis with boiling water would give tert-butyl alcohol ?

A. Ethylene

B. Isobutylene

C. Propylene

D. 1-Butene.

Answer: B

H2SO4

https://dl.doubtnut.com/l/_LdQ2iFu2z1PC
https://dl.doubtnut.com/l/_Kuf1A8WCMhFp


Watch Video Solution

16. When equal weights of methyl alcohol and ethyl alcohol react with

excess of sodium metal, the volume of  liberated is more in the case of

A. 

B. 

C. Equal in both

D.  is not liberated

Answer: B

Watch Video Solution

H2

C2H5OH

CH3OH

H2

17. The reaction of ethylmagnesium iodide with acetaldehyde gives after

acidi�cation

A. 2-Butanol

https://dl.doubtnut.com/l/_Kuf1A8WCMhFp
https://dl.doubtnut.com/l/_XrE9siZNLVEB
https://dl.doubtnut.com/l/_yQ0c8lDe7vzz


B. 1-Butanol

C. 2-Methyl-2-propanol

D. 2-Methylpropanol

Answer: A

Watch Video Solution

18. To prepare 2-propanol from methyl-magnesium bromide, the other

chemical required is

A. HCHO

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CHO

C2H5OH

CH3COCH3

https://dl.doubtnut.com/l/_yQ0c8lDe7vzz
https://dl.doubtnut.com/l/_wMd2V4zIf8mg


19. Slow decomposition of complex organic compounds into simpler ones

by enzymes is known as

A. Condensation

B. Fermentation

C. Dehydration

D. Polymerization

Answer: B

Watch Video Solution

20. In the conversion of starch to ethyl alcohol, the following enzymes are

used

A. Invertase, Zymase, Emulsin

B. Maltase, Zymase, Emulsin

https://dl.doubtnut.com/l/_wMd2V4zIf8mg
https://dl.doubtnut.com/l/_p8tp0L74T0jW
https://dl.doubtnut.com/l/_6tBkmUuOUh6v


C. Diastase, Maltase, Zymase

D. Invertase, Diastase, Zymase.

Answer: C

Watch Video Solution

21. Which one of the following gases is liberated when ethyl alcohol is

heated with methyl magnesium iodide?

A. Methane

B. Ethane

C. Carbondioxide

D. Propane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6tBkmUuOUh6v
https://dl.doubtnut.com/l/_uR93rMCQAlHv
https://dl.doubtnut.com/l/_5pUGMysD5Pa5


22. Identify A and B in the following reaction

A. A = aqueous KOH, B = AgOH

B. A = alcoholic KOH, B = aqueous NaOH

C. A = aqueous NaOH, B = 

D. A = , B = 

Answer: A

Watch Video Solution

C2H5CI
A

−−→ C2H5OH
B

←−− C2H5CI

AgNO2

AgNO2 KNO2

23. The reaction  suggests that alcohols

are

A. Acidic

B. Basic

C. Amphoteric

2ROH + 2Na → RONa + H2

https://dl.doubtnut.com/l/_5pUGMysD5Pa5
https://dl.doubtnut.com/l/_xCkIQpyVqIuA


D. Neutral in character

Answer: A

Watch Video Solution

24. 23 g of sodium will react with methanol to give

A. One mole of oxygen

B.  Mole of hydrogen

C. One mole of hydrogen

D.  Mole of oxygen.

Answer: B

Watch Video Solution

1/2

1/4

25. Which of the following compounds is the strongest acid ?

https://dl.doubtnut.com/l/_xCkIQpyVqIuA
https://dl.doubtnut.com/l/_RgCWO581h1RF
https://dl.doubtnut.com/l/_66A1q2poW5rY


A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

CH3OH

CH3CH2OH

(CH3)2CHCH2OH

(CH3)3COH

26. The correct order of decreasing basicity of the following species is :

A. 

B. 

C. 

D. 

Answer: B

H2O, OH − , CH3OH, CH3O −

CH3OH < H2O < OH − < CH3O −

CH3O − > OH − > CH3OH > H2O

H2O < CH3OH < CH3O − < OH −

OH − > CH3O − > CH3OH > H2O

https://dl.doubtnut.com/l/_66A1q2poW5rY
https://dl.doubtnut.com/l/_o86llkRUiGsK


Watch Video Solution

27. Which of the following alcohols is expected to have the lowest 

value ?

A. Ethanol

B. 2-Fluoro ethanol

C. 2,2,2-Tri�uoroethanol

D. 2-Chlorocthanol

Answer: C

Watch Video Solution

pKa

28. When 2-butanol is heated with an excess of concentrated sulphuric

acid, the main product is

A. 1-Butene

https://dl.doubtnut.com/l/_o86llkRUiGsK
https://dl.doubtnut.com/l/_jT136dHK5Ykj
https://dl.doubtnut.com/l/_Al6YycamtloW


B. 2-Butene

C. 2-Methyl propene

D. 2-Methyl-2-butene

Answer: B

Watch Video Solution

29. The structural formula of alcohol that on dehydration would give 2-

methylpropene as the major product is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH2CH2OH

(CH3)2CH − CH2OH

CH3 − CHOH − CH2CH3

CH3CHOHCH3

https://dl.doubtnut.com/l/_Al6YycamtloW
https://dl.doubtnut.com/l/_gOz5WyVBus7S


30.   

The above reaction is known as

A. Hydrolysis

B. Esteri�cation

C. Saponi�cation

D. Dehydration

Answer: B

Watch Video Solution

CH3COOH + C2H5OH
conc.H2SO4

−−−−−−→
heat

CH3COOC2H5 + H2O

31.  can be converted in to  by reacting with

A. 

B. 

C.  + Pyridine

C2H5OH C2H5Cl

PCI3

PCI5

SOCl2

https://dl.doubtnut.com/l/_gOz5WyVBus7S
https://dl.doubtnut.com/l/_WTdNlDCtEJk1
https://dl.doubtnut.com/l/_RDYJKfzcBOVa


D. All the above

Answer: D

Watch Video Solution

32. A mixture of anhydrous +conc.HCI is known as

A. Fehling's reagent

B. Lucas reagent

C. Tollen's reagent

D. Benedict's reagent

Answer: B

Watch Video Solution

ZnCl2

33. When  reacts with sodium metal, gas released isC2H5OH

https://dl.doubtnut.com/l/_RDYJKfzcBOVa
https://dl.doubtnut.com/l/_FcOfsT8Md0FD
https://dl.doubtnut.com/l/_Ju1xih1ydsJI


A. Oxygen

B. Chlorine

C. Hydrogen

D. Nitrogen

Answer: C

Watch Video Solution

34. Action of caustic soda and chlorine on ethyl alcohol gives

A. Chloroform

B. Dichloromethane

C. Trichloroethane

D. Ethylenechloride

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ju1xih1ydsJI
https://dl.doubtnut.com/l/_knhS7SViwiiS


35. Which of the following compound is formed when ethanol reacts with

acetic acid in the presence of concentrated  .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2SO4

CH3COOC2H5

C2H5OC2H5

CH3OCH3

CH3CH2CHO

36. In the reaction, 

 

The molecular formula of X is

A. 

C2H5OH
vapour

Cu
−−−→
300 ∘C

X

C4H6O

https://dl.doubtnut.com/l/_knhS7SViwiiS
https://dl.doubtnut.com/l/_QVJD3bToJl1j
https://dl.doubtnut.com/l/_wJJi3HECGcAN


B. 

C. 

D. 

Answer: C

Watch Video Solution

C4H10O

C2H4O

C2H6

37. . In this reaction X, Y & Z are 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C2H5OH + SOCl2
Pyridine

−−−−→ X + Y + Z

C2H4Cl2, SO2, HCl

C2H5Cl, SO2, HCl

C2H5Cl, SOCl2, HCl

C2H4, SO2, Cl2

https://dl.doubtnut.com/l/_wJJi3HECGcAN
https://dl.doubtnut.com/l/_viD75Fk2SJDY
https://dl.doubtnut.com/l/_7wfYOHfly5E3


38. The compound that reacts with  to yield methane as one

of the products is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3MgBr

CH3CHO

CH3COCH3

CH3COOCH3

CH3CH2OH

39. The correct order of reactivity of hydrogen halides with ethyl alcohol

is

A. 

B. 

C. 

HF > HCI > HBr > HI

HCI > HBr > HF > HI

HBr > HCI > HI > HF

https://dl.doubtnut.com/l/_7wfYOHfly5E3
https://dl.doubtnut.com/l/_70WwzDB8n6HN


D. 

Answer: D

Watch Video Solution

HI > HBr > HCI > HF

40. What is the hybridisation state(s) of the atoms in X formed in the

following reaction? 

A.  only

B.  and 

C.  only

D. sp only

Answer: A

Watch Video Solution

C2H5OH
(Vapours)

Al2O3

−−−→
200 ∘C

X

sp3

sp2 sp3

sp2

https://dl.doubtnut.com/l/_70WwzDB8n6HN
https://dl.doubtnut.com/l/_4ErPp9Qmaiw9


41. (A): Alcoholic fermentation involves conversion of sugar into ethanol

by the action of yeast. 

(R): Fermentation involves the liberation of  gas.

A. Both A & Rare true, R is the correct explanation of A

B. Both A & Rare true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

CO2

42. (A): Ethanol is miscible in all proportions with water. 

(R): Hydrogen bonds are formed between water and alcohol molecules.

A. Both A & Rare true, R is the correct explanation of A

B. Both A & Rare true, R is not correct explanation of A

https://dl.doubtnut.com/l/_LkOH0qAWijFN
https://dl.doubtnut.com/l/_lonZQXLTLZiw


C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

43. (A) Sodium can't be used for drying ethyl alcohol. 

(R) Sodium displaces hydrogen from ethyl alcohol.

A. Both A & Rare true, R is the correct explanation of A

B. Both A & Rare true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lonZQXLTLZiw
https://dl.doubtnut.com/l/_AhqwU1APoeEJ
https://dl.doubtnut.com/l/_dCagQ1exeXoQ


44. (A) Ethyl alcohol is soluble in organic solvents 

(R) Ethyl alcohol is having non polar ethyl group.

A. Both A & Rare true, R is the correct explanation of A

B. Both A & Rare true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

45. (A): Dehydration of alcohols can be carried out with conc  but

not with conc. HCI. 

(R):  is dibasic while HCl is monobasic.

A. Both A & Rare true, R is the correct explanation of A

B. Both A & Rare true, R is not correct explanation of A

H2SO4

H2SO4

https://dl.doubtnut.com/l/_dCagQ1exeXoQ
https://dl.doubtnut.com/l/_liEbDZrmNgYZ


C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

46. (A): Alcohols on dehydration can produce ether as well as alkene

under di�erent conditions. 

(R): Dehydration of alcohol takes place with conc.  or .

A. Both A & Rare true, R is the correct explanation of A

B. Both A & Rare true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

H2SO4 Al2O3

https://dl.doubtnut.com/l/_liEbDZrmNgYZ
https://dl.doubtnut.com/l/_ap3QvymRIrMA


ALCOHOLS (Objective exercise-2)

47. (A): Oxidation of tertiary alcohols requires strong oxidising agent and

elevated temperature. 

(R): Oxidation of tertiary alcohols involves cleavage of C - C bond.

A. Both A & Rare true, R is the correct explanation of A

B. Both A & Rare true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

1. Which is the most favourable condition for the alcoholic fermentation

of sugar?

https://dl.doubtnut.com/l/_ap3QvymRIrMA
https://dl.doubtnut.com/l/_5ecG3dnl4I2x
https://dl.doubtnut.com/l/_VlV46hfFqZ5v


A. High concentration of sugar solution, low temperature, plenty of air

B. Low concentration of sugar solution, high temperature, plenty of

air

C. Low concentraion of sugar solution, low temperature, absence of

air

D. None of the above

Answer: C

Watch Video Solution

2. Wood spirit is the common name of

A. Methyl alcohol

B. Ethyl alcohol

C. Amyl alcohol

D. Benzyl alcohol

https://dl.doubtnut.com/l/_VlV46hfFqZ5v
https://dl.doubtnut.com/l/_b8TGx3HJjlKc


Answer: A

Watch Video Solution

3. Consider the following sequence of reactions: 

tert - amyl alcohol. The compound A in the above sequence of reactions is

A. 2-Butanone

B. Acetaldehyde

C. Acetone

D. Propanal

Answer: C

Watch Video Solution

A
C2H5MgI
−−−−−→ X

H + /H2O

−−−−−→

4. What are X and Y in the reaction? 

C2H4 + H2SO4

80 ∘C
−−→ X

H2O
−−→

Δ
Y

https://dl.doubtnut.com/l/_b8TGx3HJjlKc
https://dl.doubtnut.com/l/_H8kULlXLbLtr
https://dl.doubtnut.com/l/_CGfIjxof9Vr8


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H5OH, C2H5HSO4

(C2H5)2SO4, C2H5OH

C2H5HSO4, C2H5OH

C2H5OH, (C2H5)2SO4

5. . What is 'A' ?

A. 

B. HCHO

C. 

D. 

Answer: B

Watch Video Solution

A + CH3MgI → Addition product
H −OH
−−−−→ CH3CH2OH

CH3 − CHO

CH3 − CH2 − CHO

CH3 − CO − CH3

https://dl.doubtnut.com/l/_CGfIjxof9Vr8
https://dl.doubtnut.com/l/_aVMt5uhUrsaz


6. Which of the following is most volatile

A. 

B. 

C. Glycerol

D. 

Answer: D

Watch Video Solution

CH3 − CH2 − CH2OH

CH2OH

∣

C
∣

CH2OH

H2

CH3OH

7. . A dibasic acid is formed when "B" reacts

with

A. 

B. HCI

CH3CHO + 2[H]
Ni : Δ
−−−→ B

SOCI2

https://dl.doubtnut.com/l/_aVMt5uhUrsaz
https://dl.doubtnut.com/l/_HT0qNEepKvC6
https://dl.doubtnut.com/l/_hAyUftRCC83D


C. 

D. 

Answer: C

Watch Video Solution

PCl3

PCl5

8. In which of the following reactions, chlorine acts as an oxidizing agent

? 

I :   

II:   

III :   

The correct answer is :

A. only I

B. only II

C. I and II

D. I, II and III

CH3CH2OH + Cl2 → CH3CHO + 2HCl

CH3CHO + Cl2 → CCI3CHO + HCI

CH3 + Cl2
hv

−−→ CH3Cl + HCI

https://dl.doubtnut.com/l/_hAyUftRCC83D
https://dl.doubtnut.com/l/_2JzgDImCjT2g


Answer: D

Watch Video Solution

9. Haloform reaction is not given by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3COCH3

CH3COC2H5

C6H5COC2H5

CH3CHOHCH3

10. What is the product obtained when chlorine reacts with ethyl alcohol

in KOH?

https://dl.doubtnut.com/l/_2JzgDImCjT2g
https://dl.doubtnut.com/l/_N421U7FS4OIB
https://dl.doubtnut.com/l/_1ohEHE3WtBfR


A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

CHCI3

CCl3CHO

CH3Cl

11. In the following reaction, X and Y respectively are

A. 

B. 

C. 

D. 

Answer: D

C2H5OH
KMnO1 / II +

−−−−−−−−→ X
y

−−−−−−→
H2SO1 / Δ

CH3COOC2H5

CH3OH, C2H5OH

CH3CHO, CH3OH

CH2 = CH2, CH3COOH

CH3COOH, C2H5OH

https://dl.doubtnut.com/l/_1ohEHE3WtBfR
https://dl.doubtnut.com/l/_iDqfDfBiPPR6


Watch Video Solution

12. Hydrolysis of an ester gives acid A and alcohol B. The acid reduces

Fehling's solution. Oxidation of alcohol B gives acid, A. The ester is

A. Methyl formate

B. Ethyl formate

C. Methyl acetate

D. Ethyl acetate

Answer: A

Watch Video Solution

13. . In this reaction, the reactivity of

alcohols is

A. 

R − OH + HX → R − X + H2O

Tertiary > secondary > Primary

https://dl.doubtnut.com/l/_iDqfDfBiPPR6
https://dl.doubtnut.com/l/_rDd5aIa0t7RM
https://dl.doubtnut.com/l/_8HuFEWZqnSgq


B. 

C. 

D. 

Answer: A

Watch Video Solution

Tertiary < secondary < Primary

TertiarygyPrimary > secondary

secondary > Primary > Tertiary

14. Match the following: 

A. A-2, B - 4. C -5, D - 1

B. A -2, B - 4, C - 5, D - 3

https://dl.doubtnut.com/l/_8HuFEWZqnSgq
https://dl.doubtnut.com/l/_utHFabHGXrjo


C. A-4, B-2, C-5, D - 1

D. A - 4, B-2, C-5, D - 3

Answer: A

Watch Video Solution

15.  

Here Y is

A. Iso butyl alcohol

B. Iso butylene

C. sec. Butyl alcohol

D. tert.Bulyl alcohol

Answer: D

Watch Video Solution

(CH3)2CHOH
mild oxidation

−−−−−−−→ X
( i )CH3MgBr

−−−−−−−−−−→
H2O

Y

https://dl.doubtnut.com/l/_utHFabHGXrjo
https://dl.doubtnut.com/l/_zUNYC2shZMPg
https://dl.doubtnut.com/l/_8OgJcwbAzSbO


ALCOHOLS (Practice exercise)

16. Match the following lists 

 Correct

match is 

Watch Video Solution

1. Which of the following alcohols cannot be prepared by the action of a

suitable Grignard reagent on an aldehyde or a ketone followed by acid

hydrolysis ?

https://dl.doubtnut.com/l/_8OgJcwbAzSbO
https://dl.doubtnut.com/l/_cbV1EUDt5dus


A. Ethyl alcohol

B. n- Propyl alcohol

C. Isopropyl alcohol

D. Methyl alcohol

Answer: D

Watch Video Solution

2. Basic hydrolysis of ethyl acetate gives acetate ion and …........

A. Ethyl alcohol

B. Ethoxide ion

C. Acetaldehyde

D. Acetone

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cbV1EUDt5dus
https://dl.doubtnut.com/l/_6WAmRLoIji1y


3.  A and B in the above

reaction are

A. acetone and acetaldehyde

B. acetaldehyde and acetone

C. acetic acid and acetaldehyde

D. acetaldehyde and acetic acid

Answer: D

Watch Video Solution

C2H5OH
K2Cr2O7 /H2SO4

−−−−−−−−−−→ A
K2Cr2O7 /H2SO4

−−−−−−−−−−→ B

4. Glycerol does not contain the alcoholic group

A. 

B. 

C. 

1∘

2∘

3∘

https://dl.doubtnut.com/l/_6WAmRLoIji1y
https://dl.doubtnut.com/l/_65E4LbTmZvCV
https://dl.doubtnut.com/l/_ktJS3R2H7fUY


D. none

Answer: C

Watch Video Solution

5.  In the above reaction reactant 'X' is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

X
HCl

−−→
AlCl3

Y
KOH ( aq )
−−−−−−→ C2H5OH

C2H5CI

C2H2

C2H4

C2H5Br

6. Which is a more volatile liquid ?

https://dl.doubtnut.com/l/_ktJS3R2H7fUY
https://dl.doubtnut.com/l/_26qqNhEzJTiV
https://dl.doubtnut.com/l/_ee7uH9Os6x29


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H5OH

CH3COOH

C2H5OC2H5

C6H6

7.   

. Here "C" is

A. Ethyl acetate

B. Methyl acetate

C. Butanone

D. Propanone

Answer: A

C2H5Cl + AgOH → A + AgCI

A + CH3COCI → C + HCl

https://dl.doubtnut.com/l/_ee7uH9Os6x29
https://dl.doubtnut.com/l/_oFoEHQYbPOAN


Watch Video Solution

8. . "A" is

A. Ester

B. Ether

C. Alcohol

D. Alkane

Answer: A

Watch Video Solution

C2H5OH + HONO2 → A + H2O

9. Ethyl alcohol forms .  and 

.  when  reacts with respective anhydrous

salts. Then

A. X = 3, Y = 3, Z = 6

CaCl2 XC2H5OH, MgCl2, Y C2H5OH

CuSO4 ZC2H5OH C2H5OH

https://dl.doubtnut.com/l/_oFoEHQYbPOAN
https://dl.doubtnut.com/l/_L4z6xDXKiZZO
https://dl.doubtnut.com/l/_x3jmMR3J7iFy


B. X = 3, Y = 6, Z = 3

C. X = 3, Y = 7, Z = 4

D. X = 4, Y = 4, Z = 4

Answer: B

Watch Video Solution

10. . Then X and Y are respectively

A.  at , 

B.  at  ,  at 

C.  at  , Y = Conc.  at 

D.  at , ,  at 

Answer: D

Watch Video Solution

2C2H5OH
X

−−→ B
Y

−−→ C2H4 + H2O

X = Al2O3 260∘C Y = AICI3

X = Conc. H2SO4 170∘C Y = Conc. H2SO4 140∘C

X = Al2O3 360∘C H2SO4 140∘C

X = Al2O3 260∘C Y = Al2O3 360∘C

https://dl.doubtnut.com/l/_x3jmMR3J7iFy
https://dl.doubtnut.com/l/_V204Tl9cPA5j
https://dl.doubtnut.com/l/_o1TCJqsu8P2g


11. Which of the following is a tertiary alcohol?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − CH(CH3) − CH2OH

CH3 − CH2 − CH2 − CH2 − OH

CH3 − CH2 − CH(CH3) − OH

CH3 − C(CH3)2 − OH

12. 3 moles of ethanol react with one mole of phosphorus tribromide to

form 3 moles of bromaethane and one mole of X. Which of the following

is X?

A. 

B. 

C. 

H3PO4

H3PO2

HPO3

https://dl.doubtnut.com/l/_o1TCJqsu8P2g
https://dl.doubtnut.com/l/_C7INBoP6lzH8


D. 

Answer: D

Watch Video Solution

H3PO3

13. What are X and Y respectively in the following reaction? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

X
PBr3

−−→ C2H5Br
AgOH (Aq )

−−−−−−→ Y

CH3OH, C2H6

C2H5OH, C2H5Br

CH3COOH, CH3CH2OH

C2H5OH, C2H5OH

https://dl.doubtnut.com/l/_C7INBoP6lzH8
https://dl.doubtnut.com/l/_eOKdIjZKSwS4


14. Which of the following is most suitable method for removing the

traces of water from ethanol ?

A. Heating with Na metal

B. `Passing dry HCl through it

C. Distilling it with CaO

D. Reacting with Mg

Answer: C

Watch Video Solution

15. Which statement is not correct about alcohol?

A. Ethyl alcohol is heavier than water

B. Ethyl alcohol evaporates more quickly than water

C. Alcohols with less number of carbon atoms are more soluble in

water

https://dl.doubtnut.com/l/_W0r4I7Nm5KLm
https://dl.doubtnut.com/l/_HLWGGtICnlxJ


D. Alcohol produces  by reaction with sodium metal

Answer: A

Watch Video Solution

H2

16. Which of the following compound gives ethylmethyl ketone on

oxidation?

A. Propan-2-ol

B. Butan-1-ol

C. Butan-2-ol

D. 2-Methyl butan-2-ol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HLWGGtICnlxJ
https://dl.doubtnut.com/l/_NgDqm7G3cohH


17. In , the bond that undergoes heterolytic cleavage most

readily is

A. C-C

B. O-H

C. C-H

D. C-O

Answer: B

Watch Video Solution

C2H5OH

18.   

In above reactions the role of  in step-1 and step-2 respectively is

A. Oxidation, chlorination

B. Reduction, chlorination

C. Oxidation, addition

CH3CH2Oh
CI2

−−−→
step− 1

CH3CHO
3GI2

−−−→
step− 2

CI3CCHO

CI2

https://dl.doubtnut.com/l/_fDLLiyqm4BPM
https://dl.doubtnut.com/l/_UM1eYBHTQLwK


D. Reduction, substitution

Answer: A

Watch Video Solution

19.  

 

 

What is 'Y'?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CaOCL2 + H2O → Ca(OH)2 + X

X + CH3CHO → Y

Y + Ca(OH)2 → CHCL3

CH3CH(OH)2

CH2Cl2

CCl3CHO

CCI3COCH3

https://dl.doubtnut.com/l/_UM1eYBHTQLwK
https://dl.doubtnut.com/l/_eCobJ15nnlyl


20. What are X and Y in the reaction? 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H4 + H2SO4

80 ∘C
−−→ X

H2O
−−→

Δ
Y

C2H6, C2H5OH

C2H2, C2H5SH

C2H5OSO3H, C2H5OH

C2H2CH3CHO

21. Which one of the following contains  bond ?

A. tert-butyl alcohol

B. allyl alcohol

C. benzyl alcohol

D. carbolic acid

Csp2 − OH

https://dl.doubtnut.com/l/_qI31vJ5K0SdJ
https://dl.doubtnut.com/l/_IL4gd3uCzhsH


Answer: A

Watch Video Solution

22. 2-Methylpropene upon hydroboration-oxidation gives

A. 2-Methyl-1 propanol

B. 2-Methyl-2-propanol

C. 2-Propanol

D. 1-Propanol

Answer: A

Watch Video Solution

23.   

Here 'A' is

CH3 − C
∣

CH3

H– CH = CH2

1)B2H6

−−−−−−−−→
2)H2O2 ,OH −

A

https://dl.doubtnut.com/l/_IL4gd3uCzhsH
https://dl.doubtnut.com/l/_joxHTZy9CLqd
https://dl.doubtnut.com/l/_LWVQTisrA60z


PHENOLS(Objective exercise-1)

A. 3 - methyl - 2 - butanol

B. 3 - methyl - 1 - butanol

C. 2 - methyl - 2 - butanol

D. 2 - methyl - 1 - butanol

Answer: B

Watch Video Solution

1. Phenol can be prepared by the reaction between

A. Benzene diazonium chloride

B. Chlorobenzene

C. Sodium benzene sulfonate

D. All

https://dl.doubtnut.com/l/_LWVQTisrA60z
https://dl.doubtnut.com/l/_2NgDzSpYN7lq


Answer: D

Watch Video Solution

2. Benzene diazonium chloride on boiling with dilute  gives

A. Cresol

B. Xylene

C. Phenol

D. Toulene

Answer: C

Watch Video Solution

H2SO4

3. Sodium salt of benzene sulphonic acid on fusion with caustic soda

followed by acidi�cation gives

https://dl.doubtnut.com/l/_2NgDzSpYN7lq
https://dl.doubtnut.com/l/_VSEfK1SrCUAK
https://dl.doubtnut.com/l/_cxLSIbmtDpBt


A. Benzene

B. Phenol

C. Thiophenol

D. Benzenesulfonic acid

Answer: B

Watch Video Solution

4. On heating with soda-lime, salicylic acid gives

A. Phenol

B. Benzoic acid

C. Sodium salicylate

D. Benzene

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cxLSIbmtDpBt
https://dl.doubtnut.com/l/_KrvfGnwXjHAw


5. The reaction, 

 suggests that

A. Phenol is a stronger acid than carbonic acid

B. Carbonic acid is a stronger acid than phenol

C. Water is a stronger acid than phenol

D. None of the above

Answer: B

Watch Video Solution

C6H5ONa + CO2 + H2O → C6H5OH + NaHCO3

6. Phenol can be prepared by the reaction between

A. Aniline and  at 373 K

B.  and  followed by hydrolysis

C.  and NaOH at 373 K

HNO3

C6H5MgBr CO2

C6H5CI

https://dl.doubtnut.com/l/_KrvfGnwXjHAw
https://dl.doubtnut.com/l/_z38iAYezRdm0
https://dl.doubtnut.com/l/_WACvXvFsuGJU


D.  and NaOH at 573-623K followed by acidi�cation

Answer: D

Watch Video Solution

C6H5SO4Na

7. Phenol is prepared commercially from

A. Ethylbenzene

B. Isopropylbenzene

C. n- Propylbenzene

D. Toluene

Answer: B

Watch Video Solution

8. Phenol is converted to 2,4,6-trinitrophenol using

https://dl.doubtnut.com/l/_WACvXvFsuGJU
https://dl.doubtnut.com/l/_H27rONQbDqAS
https://dl.doubtnut.com/l/_D6OFDecKFnDt


A. Dilute 

B. Conc. 

C. 

D. 

Answer: B

Watch Video Solution

HNO3

HNO3

NaNO2, 25∘C

NaNO2, 5∘C

9. The acidic character of phenol is due to

A. Greater resonance stabilization of phenoxide ion over phenol

B. Greater resonance stabilization of phenol over phenoxide ion

C. Because of tautomerism occurring in phenol

D. Because oxygen is more electronegative than hydrogen

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_D6OFDecKFnDt
https://dl.doubtnut.com/l/_4R14tHK0qwQL


10. The correct order of relative acidic strength of phenol, ethyl alcohol

and water is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Phenol > Water > Ethyl alcohol

Ethyl alcohol > Water > Phenol

Ethyl alcohol > Phenol > Water

Water > Phenol > Ethyl alcohol

11. Which of the following compounds will react with sodium hydroxide?

A. 

B. 

C. 

CH3OH

CH3CH2OH

C6H5OH

https://dl.doubtnut.com/l/_4R14tHK0qwQL
https://dl.doubtnut.com/l/_P0sxdIOMybrq
https://dl.doubtnut.com/l/_zrNtJI0Wn4dO


D. 

Answer: C

Watch Video Solution

C6H5CH2OH

12. Which of the following compounds when dissolved in water, gives a

solution with pH less than seven?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3COCH3

C6H5OH

C6H5NH2

C2H5OH

https://dl.doubtnut.com/l/_zrNtJI0Wn4dO
https://dl.doubtnut.com/l/_xzw1M2y9msxr


13. (A) In methanol C-O bond length is 1.42Å, but in phenol, it is 1.36Å. 

(R) In methanol carbon atom is  hybridised and in phenol, carbon

atom bearing the hydroxyl group is  hybridised.

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

sp3

sp2

14. (A) : Phenols are more acidic than alcohols. 

(R): Phenoxide ion is more stable than alkoxide ion due to resonance.

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

https://dl.doubtnut.com/l/_l0q3hIwfxOQF
https://dl.doubtnut.com/l/_vjNe9KQWgWT4


C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

15. (A): Phenols react with sodium hydroxide but not alcohols. 

(R) : Phenols are more acidic than alcohols.

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vjNe9KQWgWT4
https://dl.doubtnut.com/l/_oBI5H9Y1uOCo


PHENOLS(Objective exercise-2)

1. Increasing  values of o-, and p- cresols is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

pKa

o < p < m

m < p = o

m < o < p

p < o < m

2. Which of the following compounds would not evolve  when

treated with aq.  solution?

A. Phenol

B. Benzoic acid

CO2

NaHCO3

https://dl.doubtnut.com/l/_6igPX1n8WTZX
https://dl.doubtnut.com/l/_qUgiRExwofDh


C. 2,4- Dinitrophenol

D. 2,4,6-Trinitrophenol

Answer: A

Watch Video Solution

3. Phenol is

A. Kolbe's reaction

B. Cannizaro reaction

C. Reimer - Tiemann reaction

D. Kolbe Schmidt reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qUgiRExwofDh
https://dl.doubtnut.com/l/_HusZdZ67qEdv


4. Rate of electrophilic substitution reaction in phenol is

A. Equal to that to benzene

B. Faster than that of benzene

C. Slower than that of benzene

D. Very slower than that of nitrobenzene

Answer: B

Watch Video Solution

5. m-Dihydroxybenzene is called as

A. Resorcinol

B. Catechol

C. Quinol

D. Cresol

https://dl.doubtnut.com/l/_OlZnnSKcrSDH
https://dl.doubtnut.com/l/_eN6unjjV4qJP


Answer: A

Watch Video Solution

6. 2 - Methyl phenol is

A. m - cresol

B. o- cresol

C. m - xylene

D. o- xylene

Answer: B

Watch Video Solution

7. Identify the product Z in the following sequence of reactions 

phenol
NaOH
−−−→ X

CO2

−−−−−−−−→
4 − 7atm , 410K

Y
H3O

+

−−−→ Z

https://dl.doubtnut.com/l/_eN6unjjV4qJP
https://dl.doubtnut.com/l/_3sCO4aJ0V2IS
https://dl.doubtnut.com/l/_71aflRI8jky7


A. Aspirin

B. Salicylaldehyde

C. Benzoic acid

D. Salicylic acid

Answer: D

Watch Video Solution

8. Phenol on heating with aq. KOH and chloroform undergoes

A. Kolbe reaction

B. Rosenmund reaction

C. Reimer Tiemann reaction

D. Cannizzaro reaction

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_71aflRI8jky7
https://dl.doubtnut.com/l/_P2uvSsyZehYs


9. Electrophilic substitution in phenol takes place at

A. ortho and para-positions

B. meta-position

C. ortho-position only

D. para-position only

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_P2uvSsyZehYs
https://dl.doubtnut.com/l/_LNVfHOFL1ehX


10. Which of the following has the least value of pKa ? 

A. A

B. B

C. C

D. D

Answer: D

Watch Video Solution

11. Ethyl alcohol can be distinguished from phenol by

https://dl.doubtnut.com/l/_CtC3FZW7UaSk
https://dl.doubtnut.com/l/_dzVtH6M8HXxA


A. Action of HCI

B. Action of ammonia

C. Action of aq,  solution

D. Action of acetic acid

Answer: C

Watch Video Solution

FeCl3

12. Which of the following is the major product formed when phenol is

treated with dilute nitric acid at 293 K?

A. m-Nitrophenol

B. p-Nitrophenol

C. 2,4,6-Trinitrophenol

D. o-Nitrobenzene

Answer: B

https://dl.doubtnut.com/l/_dzVtH6M8HXxA
https://dl.doubtnut.com/l/_6zzJwD7Om6A9


PHENOLS(Practice exercise)

Watch Video Solution

13.  dissolved in  reacts with phenol at 273K to give …............ as the

major product

A. o - Bromophenol

B. m - Bromophenol

C. P - Bromophenol

D. 2, 4, 6 - Tribromophenol

Answer: C

Watch Video Solution

Br2 CS2

1. What will be the product when  is treated with water?C6H5MgBr

https://dl.doubtnut.com/l/_6zzJwD7Om6A9
https://dl.doubtnut.com/l/_S07GXMzrc28I
https://dl.doubtnut.com/l/_RgAGBwcuMHSS


A. 

B. Phenol

C. Benzene

D. Diphenyl

Answer: C

Watch Video Solution

CH4

2. The order of reactivity of following towards electrophilic substitution is

A. 

B. 

C. 

I > II > III > IV

II > III > I > IV

III > I > IV > II

https://dl.doubtnut.com/l/_RgAGBwcuMHSS
https://dl.doubtnut.com/l/_hEd9hc8ZEX9R


D. 

Answer: D

Watch Video Solution

II > IV > I > III

3. Which of the following is the most reactive towards electrophilic

attack?

A. 

B. 

https://dl.doubtnut.com/l/_hEd9hc8ZEX9R
https://dl.doubtnut.com/l/_4SXxE5rs0De6


C. 

D. 

Answer: A

Watch Video Solution

4. Which is most reactive towards electrophilic reagent?

A. 

https://dl.doubtnut.com/l/_4SXxE5rs0De6
https://dl.doubtnut.com/l/_NwDqrqS1Ziy2


B. 

C. 

D. 

Answer: A

Watch Video Solution

5. Phenol is heated with a mixture of KBr and . The major product

obtained in the above reaction is:

A. 2-Bromophenol

B. 3-Bromophenol

C. 4-Bromophenol

KBrO3

https://dl.doubtnut.com/l/_NwDqrqS1Ziy2
https://dl.doubtnut.com/l/_qPQ9dvWOSztm


D. 2,4,6-Tribromphenol

Answer: D

Watch Video Solution

6. Which is the product of the following reaction? 

A. 

B. 

https://dl.doubtnut.com/l/_qPQ9dvWOSztm
https://dl.doubtnut.com/l/_qXWIhUH5CVfV


C. 

D. 

Answer: D

Watch Video Solution

7. The reaction of HBr with 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_qXWIhUH5CVfV
https://dl.doubtnut.com/l/_EtaToFKgATGL


Answer: B

Watch Video Solution

8. The most unlikely representation of resonance structure of P-

nitrophenoxide .

A. 

B. 

https://dl.doubtnut.com/l/_EtaToFKgATGL
https://dl.doubtnut.com/l/_Zw4ylzxcNnSe


C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Zw4ylzxcNnSe


9. Match the following columns

Watch Video Solution

10. Which of the following compounds is aromatic alcohol? 

A. A, B, C, D

B. A, D

https://dl.doubtnut.com/l/_jes6fw7mTR1W
https://dl.doubtnut.com/l/_Iqjz2RTMFqWo


C. B, C

D. A only

Answer: C

Watch Video Solution

11. Which of the following species can act as strongest base

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⊙OH

⊙OR

⊙OC6H5

https://dl.doubtnut.com/l/_Iqjz2RTMFqWo
https://dl.doubtnut.com/l/_0DYzGrT7LO2K


12. Phenol is

A. Slightly acidic

B. Strongly acidic

C. Strongly basic

D. slightly basic

Answer: A

Watch Video Solution

13. Phenol do not react with

A. Potassium hydroxide

B. Sodium carbonate

C. Sodium hydroxide

D. Sodium bicarbonate

https://dl.doubtnut.com/l/_GHQBRLkkQIZl
https://dl.doubtnut.com/l/_W02BMeOKtdyv


ETHERS(Objective exercise-1)

Answer: D

Watch Video Solution

1. The general formula of ethers is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CnH2nO

CnH2n+ 1O

CnH2n+ 1O

CnH2nOCnH2n

https://dl.doubtnut.com/l/_W02BMeOKtdyv
https://dl.doubtnut.com/l/_PbFomjmQifXZ


2. The IUPAC name of an unsymmetrical ether with the molecular formula,

 is

A. Ethoxypropane

B. Methoxyethane

C. Ethoxyethane

D. Methoxypropane

Answer: D

Watch Video Solution

C4H10O

3.  Hybridisation of oxygen in diethyl ether is

A. sp

B. 

C. 

D. 

sp2

sp3

sp3d

https://dl.doubtnut.com/l/_MD9IZQ9XJaj7
https://dl.doubtnut.com/l/_DW0q8lPquRD0


Answer: C

Watch Video Solution

4. The reaction,  is called

A. Wurtz reaction

B. Williamson's synthesis

C. Kolbe's reaction

D. Hofmann bromamide reaction

Answer: B

Watch Video Solution

RX + R − ONa → R − O − R + NaX

5. Williamson synthesis is an example of

A. Nucleophillic addition

https://dl.doubtnut.com/l/_DW0q8lPquRD0
https://dl.doubtnut.com/l/_mmYoqhPdyIWR
https://dl.doubtnut.com/l/_K5cGDVSm7E9c


B. Electrophillic addition

C. Electrophillic substitution

D. Nucleophillic substitution reaction

Answer: D

Watch Video Solution

6. Ethyl chloride reacts with sodium ethoxide to form a compound A.

Which of the following reactions also yields A?

A. 

B. 

C.  (dry ether)

D. 

Answer: B

Watch Video Solution

C2H5CI, KOH(alc), Δ

2C2H5OH, conc. H2SO4, 140∘C

C2H5CI, Mg

C2H2, dil. H2SO4, HgSO4

https://dl.doubtnut.com/l/_K5cGDVSm7E9c
https://dl.doubtnut.com/l/_9lptk76kmG4k


7. When vapours of ethyl alcohol are passed over , at 533 K, it forms

A. 1,2-Ethanediol

B. Etene

C. Ethoxyethane

D. Ethanal

Answer: C

Watch Video Solution

Al2O3

8. Consider the following reaction  (Pleasant smelling liqluid),

X is

A. Sodium

B. Dry silver oxide

C. Ethyl chloride

C2H5I
Δ

−−→
X

https://dl.doubtnut.com/l/_9lptk76kmG4k
https://dl.doubtnut.com/l/_zpLF91u1Uzgn
https://dl.doubtnut.com/l/_u0PJ7lp7mVkT


D. Dry silver powder

Answer: B

Watch Video Solution

9. The IUPAC name of 

A. Ethoxy propane

B. 1,1-dimethyl ether

C. 2-Ethoxy isopropane

D. 2-Ethoxy propane

Answer: D

Watch Video Solution

C2H5 − O − CH(CH3)2

10. Which of the following is the strongest Lewis base ?

https://dl.doubtnut.com/l/_u0PJ7lp7mVkT
https://dl.doubtnut.com/l/_4IsASXhJqDrP
https://dl.doubtnut.com/l/_4Fi3XuNPRAxX


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O

CH3OH

CH3OCH3

C6H5OH

11. Grignard reagents are prepared in

A. Benzene

B. Chloroform

C. Alcohol

D. Ether

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_4Fi3XuNPRAxX
https://dl.doubtnut.com/l/_u5zlMtMVLNQk


12. An unknown compound dissolves in conc. sulphuric acid, but does not

declourise bromine water and does not react with sodium. Which of the

following classes of molecules would behave in this manner ?

A. Alkene

B. Alcohol

C. Ether

D. Phenol

Answer: C

Watch Video Solution

13. Boiling point of diethyl ether is less than that of

A. Ethane

B. Butane

https://dl.doubtnut.com/l/_u5zlMtMVLNQk
https://dl.doubtnut.com/l/_JXs3U0kKq2kK
https://dl.doubtnut.com/l/_94kiYfhgGHHu


C. Ethyl alcohol

D. Dimethyl ether

Answer: C

Watch Video Solution

14. . Here X and Y are (if excess HI

is used)

A.  and 

B.  and 

C. 

D. 

Answer: B

Watch Video Solution

C2H5 − O − C2H5 + HI
Δ

−−→ X + Y

C2H5I C2H5OH

C2H5I H2O

C2H5OH + H2O

C2H4 + H2O

https://dl.doubtnut.com/l/_94kiYfhgGHHu
https://dl.doubtnut.com/l/_Vf86rjBqUvCk
https://dl.doubtnut.com/l/_zlqAl2P0HTMF


15.  when treated with hydrogen halide gives

A. R - OX and 

B. R-X and 

C. R - OX and 

D. R-X and 

Answer: D

Watch Video Solution

C6H5 − O − R

C6H5 − X

C6H5 − X

C6H5 − OH

C6H5 − OH

16. The organic compound which evoporates easily on exposure to

atmospheric air

A. 

B. 

C. 

D. 

C2H5OC2H5

CHCI3

CH3CH2OH

CH3CHO

https://dl.doubtnut.com/l/_zlqAl2P0HTMF
https://dl.doubtnut.com/l/_2uZVZlgkhNmZ


Answer: A

Watch Video Solution

17. (A): Ethers behave as bases in the presence of mineral acids. 

(R): Oxygen atom in ether is having lone pair electrons.

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

18. (A):Ethers are relatively inert when compared to .  

(R): In ethyl alcohol both carbon and oxygen undergo  hybridisation.

C2H5OH

sp3

https://dl.doubtnut.com/l/_2uZVZlgkhNmZ
https://dl.doubtnut.com/l/_Dtqoqppv9FG3
https://dl.doubtnut.com/l/_fHSV1WCCLqCI


A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

19. (A):  and  react together to form 

  

(R): Good yields are obtained when sodium tert.alkoxide is treated with

 alkyl halide

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

(CH3)3C − ONa CH3Br

(CH3)3C − O − CH3

1∘

https://dl.doubtnut.com/l/_fHSV1WCCLqCI
https://dl.doubtnut.com/l/_ZecwfJ5BFN7c


ETHERS(Objective exercise-2)

Answer: A

Watch Video Solution

1. Regarding diethyl ether, the wrong statement is

A. It is slightly soluble in water

B. In cold condition, it does not react with alkali and dilute acids

C. It has active hydrogen

D. It does not react with Na metal

Answer: C

Watch Video Solution

2. Alcohols can be distinguished from ethers by

https://dl.doubtnut.com/l/_ZecwfJ5BFN7c
https://dl.doubtnut.com/l/_sWRj3gYvUUUJ
https://dl.doubtnut.com/l/_9KbYhhhsRmkG


A. Sodium metal

B. Ester formation

C. Iodoform test

D. All the above

Answer: A

Watch Video Solution

3. Which of the following can not form oxonium salts with diethyl ether?

A. HCI

B. HBr

C. 

D. HCN

Answer: D

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_9KbYhhhsRmkG
https://dl.doubtnut.com/l/_jnjzaDwWuCmP


4. 'A' reacts with  giving 'B' and Nal. Here 'A' and 'B' respectively are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H5I

CH3COONa, CH3OCH3

C2H5OC2H5, C2H5COOC2H5

C2H5ONa, C2H5OC2H5

C2H5OH, C2H5OC2H5

5. Ester is not formed in the following reaction. Identify the suitable

reaction

A. 

B. 

C. 

CH3COOH + C2H5OH
H +

−−→

C2H5OH + CH3COOCOCH3 →

CH3 − CH2OH + CH3COCl →

https://dl.doubtnut.com/l/_jnjzaDwWuCmP
https://dl.doubtnut.com/l/_ZEVVlTBS3Eff
https://dl.doubtnut.com/l/_Ts1qr57Z0m4M


D. 

Answer: D

Watch Video Solution

C2H5OC2H5 + CH3Cl →

6. C-O-C bond in ethers can be cleaved by

A. 

B. 

C. KOH

D. HI

Answer: D

Watch Video Solution

KMnO4

LiAlH4

https://dl.doubtnut.com/l/_Ts1qr57Z0m4M
https://dl.doubtnut.com/l/_ZPLM7dYV22kv


7.  

the product Y in the above sequence is

A. Di isopropyl ether

B. Di n - propyl ether

C. 2 - Propanol

D. 1, 2 -Epoxypropane

Answer: A

Watch Video Solution

CH3CH = CH2
HCl

−−→ X
DrAg2O

−−−−−−→
heat

Y

8. When ethyl hydrogen sulphate is heated with excess alcohol at 410 K,

the product obtained is

A. Ethane

B. Ethylene

C. Diethyl ether

https://dl.doubtnut.com/l/_QOv3YPr3VSdB
https://dl.doubtnut.com/l/_8iIwPAZwCUpG


ETHERS(Practice exercise)

D. Diethyl sulphate

Answer: C

Watch Video Solution

9. The major product obtained on interaction of phenol with sodium

hydroxide and carbon dioxide is :

A. salicylaldehyde

B. salicylic acid

C. phthalic acid

D. benzoic acid

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8iIwPAZwCUpG
https://dl.doubtnut.com/l/_ptc5dVodQ7zz


1. Ether is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2. Oxygen atom in ether is

https://dl.doubtnut.com/l/_qWXuxUpETANb
https://dl.doubtnut.com/l/_sFYWcijgVmM8


A. very active

B. replaceable

C. active

D. comparatively inert

Answer: D

Watch Video Solution

3. Formation of methyl tertiary butyl ether by the reaction of sodium

tertiary butoxide and methyl bromide involves

A. elimination reaction

B. electrophilic addition reaction

C. nucleophilic addition reaction

D. nucleophilic substitution reaction

Answer: B

https://dl.doubtnut.com/l/_sFYWcijgVmM8
https://dl.doubtnut.com/l/_phrMYH3R4ANk


Watch Video Solution

4. Ethers in air forms

A. Oxide

B. Per-oxide

C. Alkenes

D. Alkanes

Answer: B

Watch Video Solution

5. Ethers are obtained by

A. reacting alkyl halide with dry ZnO

B. reacting alkyl halide with moist ZnO

C. reacting alkyl halide with dry Ag2O

https://dl.doubtnut.com/l/_phrMYH3R4ANk
https://dl.doubtnut.com/l/_2e9hQnHZHjNp
https://dl.doubtnut.com/l/_8arrpLpB9bpX


D. reacting alkyl halide with moist 

Answer: C

Watch Video Solution

Ag2O

6. Which of the following is a simple ether?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3OCH3

CH3OC2H5

CH3CH2O − C
∣

CH3

H − CH3

C2H5OC3H7

7. When methyl iodide reacts with sodium ethoxide it forms

https://dl.doubtnut.com/l/_8arrpLpB9bpX
https://dl.doubtnut.com/l/_TxTYDMlD9ttG
https://dl.doubtnut.com/l/_4rX5JHy8WVYh


A. Methyl ethyl ether

B. Dimethyl ether

C. Ethyl iodide

D. Diethyl ether

Answer: A

Watch Video Solution

8. When diethyl ether is heated with HI, which is formed

A. Ethyl alcohol and Ethyl iodine

B. Ethyl iodide only

C. Ethyl alcohol only

D. Ethyl iodine & Amine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4rX5JHy8WVYh
https://dl.doubtnut.com/l/_Zo5doiZ6Lqt0


9. Ethers are isomeric with

A. aldehydes

B. acids

C. alcohols

D. Iodoform

Answer: C

Watch Video Solution

10. The heating together of sodium ethoxide and ethyl chloride will give

A. Acetaldehyde

B. Ether

C. Ethanol

https://dl.doubtnut.com/l/_Zo5doiZ6Lqt0
https://dl.doubtnut.com/l/_B2APJq8Wdcz7
https://dl.doubtnut.com/l/_78tZqwhIQnZA


D. Acetic acid

Answer: B

Watch Video Solution

11. The compound which is not isomeric with diethyl ether is

A. Butanone

B. n-propyl methyl ether

C. 2-methyl propane-2-ol

D. butanal-1

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_78tZqwhIQnZA
https://dl.doubtnut.com/l/_x53Hz69OB8TL


12. Excess of  is heaterd at  with conc. . The

compound that distills is

A. Diethyl ether

B. Diethyl sulphate

C. Ethylene

D. Ethylene hydrogen sulphate

Answer: A

Watch Video Solution

C2H5OH 140∘C H2SO4

13. Which is the most favourable condition for the alcoholic fermentation

of sugar?

A. Low concentration of sugar solution, high temperature, absence of

air

https://dl.doubtnut.com/l/_NRhYhbbRO21e
https://dl.doubtnut.com/l/_tobQZJ7ceh2W


EXAMPLES

B. High concentration of solution, low temperature, plenty of air

supply

C. High concentration of sugar solution, low temperature and absence

of air

D. Low concentration of sugar solution, low temperature, plenty of air

Answer: B

Watch Video Solution

1. How many amyl alcohol structures are possible ?

Watch Video Solution

2. Identify the most stable conformer of glycol.

https://dl.doubtnut.com/l/_tobQZJ7ceh2W
https://dl.doubtnut.com/l/_LCfFeWAEIAeC
https://dl.doubtnut.com/l/_POoI1kokUuex


Watch Video Solution

3. Write two examples of cycloalkanols and their IUPAC names.

Watch Video Solution

4. Write the structures of the alcohols with the molecular formula,

which exhibit enantiomorphism.

Watch Video Solution

C5H12O

5. How is methanol prepared, now-a-days, commercially? 

Watch Video Solution

6. How acetylene is converted to ethyl alcohol ?

Watch Video Solution

https://dl.doubtnut.com/l/_POoI1kokUuex
https://dl.doubtnut.com/l/_hxZ8Il2u5hlg
https://dl.doubtnut.com/l/_FSrLAtPHwCO9
https://dl.doubtnut.com/l/_9K7yvCUYJvkf
https://dl.doubtnut.com/l/_Bg3x5WGa1iMu


7. How is n-propyl alcohol prepared from propene ?

Watch Video Solution

8.   

What is X ? Suggest the mechanism.

Watch Video Solution

CH3 − C
∣

CH3

H − CH = CH2 + H2O
H +

−−→ X

9. Suggest a method for the conversion of  into

ethyl alcohol.

Watch Video Solution

CH3 − CH2 − NH3

10. How is methyl alcohol converted to ethyl alcohol?

Watch Video Solution

https://dl.doubtnut.com/l/_Bg3x5WGa1iMu
https://dl.doubtnut.com/l/_7G4RnqpG6P0b
https://dl.doubtnut.com/l/_f7IIyNNDpZUB
https://dl.doubtnut.com/l/_vfMtFb5NJ1Fi
https://dl.doubtnut.com/l/_Mca5PDdmhYSg


11. Write the order of reactivity of

 towards metallic sodium.

Watch Video Solution

CH3OH(I), C2H5OH(II), CH3CHCH3
∣

OH

(III)

12. tert-Butyl alcohol is much more soluble in water than n-butyl alcohol.

Explain.

Watch Video Solution

13. What happens when one drinks ethanol mixed with methanol? Why?

Watch Video Solution

14. Write the strucutre of the product and mechanism of the following

reaction: (CH3)3C − CH2OH
HBr
−−→

https://dl.doubtnut.com/l/_Mca5PDdmhYSg
https://dl.doubtnut.com/l/_Hzldo35S18uD
https://dl.doubtnut.com/l/_1Osikly72oZ6
https://dl.doubtnut.com/l/_NKoW1K9rSJYT
https://dl.doubtnut.com/l/_n1dPg1FuzHmI


Watch Video Solution

15. Identify the stronger acid among the following: Butanol-1, butan-2-ol,

isobutyl alcohol and tert-butyl alcohol. Give Reason.

Watch Video Solution

16.   

A is the major product. What is 'A' ?

Watch Video Solution

17. How do you distinguish between methyl alcohol and ethyl alcohol? 

Watch Video Solution

https://dl.doubtnut.com/l/_n1dPg1FuzHmI
https://dl.doubtnut.com/l/_7nd6qDNyY712
https://dl.doubtnut.com/l/_hBArgArZVPtI
https://dl.doubtnut.com/l/_jFgVYRmc3Rez


18. What happens when ethyl alcohol is treated with HI and red

phosphorous ?

Watch Video Solution

19. Give the structures and IUPAC names of the products expected from

the following reactions. 

a) Catalytic reduction of butanal 

b) Reaction of propanone with methylmagnesium bromide followed by

hydrolysis. 

Watch Video Solution

20. Write structures of prudlucts of the following reactions : 

I)   CH3CH = CH2

H2O/H +

−−−−−→

https://dl.doubtnut.com/l/_rVoD2qsJvQWp
https://dl.doubtnut.com/l/_ppoFz9EEEmKM
https://dl.doubtnut.com/l/_NTZ0fQv5Cr4v


II)   

III) 

Watch Video Solution

CH3 − CH2CH
∣

CH3

− CHO

21. Show how are the following alcohols are prepared by the reaction of a

suitable Grignard reagent on methanal? 

I)  II) 

 

Watch Video Solution

(CH3)2CHCH2OH    

https://dl.doubtnut.com/l/_NTZ0fQv5Cr4v
https://dl.doubtnut.com/l/_UCAHZShp1roO


22. Arrange the following sets of compounds in order of their increasing

boiling points. 

I) (a) Pentonol-1: (b) Butanol-1, (c) Butanol-2, (d) Ethanol, (e) Propanol and

(f Methanol  

II) (p) Pentanol - 1 , (q) n - Butane , (r ) Pentanoil and (s) ethoxyethane.

Watch Video Solution

23. Write the aromatic structures of all isomers with the formula .

Watch Video Solution

C7H8O

24. What is the tautomer of phenol ? Which is more stable ? 

View Text Solution

25. How is salicylic acid converted to phenol?

https://dl.doubtnut.com/l/_NaxVUWp2cNgl
https://dl.doubtnut.com/l/_oWyxGIraT6eA
https://dl.doubtnut.com/l/_Euz9Kzp8754j
https://dl.doubtnut.com/l/_DB6QHAJ3wJQO


Watch Video Solution

26. Explain the method of preparation of resorcinol from benzene.

Watch Video Solution

27. Phenol decolourises reddish brown colour of bromine, though it is not

unsaturated compound. Explain. 

View Text Solution

28. Write the decreasing order of acidic strengths of the following: 

A : Phenol, B:p-nitrophenol, C: p-chlorophenol, D: p-cresol and E: p-

methoxy phenol.

Watch Video Solution

https://dl.doubtnut.com/l/_DB6QHAJ3wJQO
https://dl.doubtnut.com/l/_fG8gL2ORmGBm
https://dl.doubtnut.com/l/_Pf738v67x6Df
https://dl.doubtnut.com/l/_YHabtjYKhoeA


29. Write the electrophile and intermediate in Reimer-Tiemann reaction.

Watch Video Solution

30. What is the reason for the formation of tribromo phenol when phenol

is treated with aqueous bromine?

Watch Video Solution

31. Phenol is treated with  in presence of NaOH. What happens ?

Watch Video Solution

CCl4

32. Write the structures of the major products expected from the

following reactions. 

a) Mononitration of 3-methylphenol 

https://dl.doubtnut.com/l/_W8h0dv6Hh7up
https://dl.doubtnut.com/l/_umkjAulW8yXg
https://dl.doubtnut.com/l/_lNclmEmeToQQ
https://dl.doubtnut.com/l/_VzfUkpDMDDJB


b) Dinitration of 3-methyl phenol 

c) Mononitration of phenyl methanate 

View Text Solution

33. Dehydration of alcohols is suitable for preparing ethers having

primary alkyl groups only. Comment 

Watch Video Solution

34. Give one example of an ether which cannot be decomposed by HI.

Watch Video Solution

35. Ether can be dried over sodium, but not alcohol. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_VzfUkpDMDDJB
https://dl.doubtnut.com/l/_W3AdL6XKj706
https://dl.doubtnut.com/l/_O1Y9Xyi5Rvna
https://dl.doubtnut.com/l/_9GppuzvguDiW


36. Chloroethane, 2-chloropropane and chloroethene are treated with

methoxide. Which is more reactive towards Williamson's synthesis ?

Watch Video Solution

37. Diphenyl ether cannot cleaved by treatment HI. Why? 

Watch Video Solution

38. How is ether distinguished from ethanol using iodine and alkali ?

Watch Video Solution

39. What product is expected when tertiary butyl bromide is reacted with

sodium ethoxide? Why that product is not formed and how that product

can be obtained?

Watch Video Solution

https://dl.doubtnut.com/l/_dNRs41HuqHKM
https://dl.doubtnut.com/l/_1jjxXe0wMt0A
https://dl.doubtnut.com/l/_kevpmUd2g3Tg
https://dl.doubtnut.com/l/_bRkRKzqFNZA2


EXERCISE - 2.1.1

40. Write the reactions involved in Williamson synthesis of 2-ethoxy-3-

methylpentane, starting from ethanol 

Watch Video Solution

41. Which of the following is an appropriate set of eactants for the

preparation of 1-methoxy-4 nitrobenzene. Why?  

Watch Video Solution

1. What are and  alcohols? Give examples. 

Watch Video Solution

2∘ 3∘

https://dl.doubtnut.com/l/_bRkRKzqFNZA2
https://dl.doubtnut.com/l/_N2lrx2kpZDYK
https://dl.doubtnut.com/l/_o43kHY71fGZN
https://dl.doubtnut.com/l/_T0XDuZlCZl7J
https://dl.doubtnut.com/l/_rFHY3oTyWrUk


2. Write any four methods of preparation of ethyl alcohol and four

properties of etyl alcohol. 

Watch Video Solution

3. Write the equations of the reactions of ethyl alcohol with the following

reagents : 

a) conc.  at ,  

b) Thionyl chloride, 

c) Bleaching powder, water 

d) Methyl magnesium bromide.

Watch Video Solution

H2SO4 170∘C

4. What are dihydric and trihydric alcohols ? Give one example each.

Watch Video Solution

https://dl.doubtnut.com/l/_rFHY3oTyWrUk
https://dl.doubtnut.com/l/_5XDpyEKTG9xp
https://dl.doubtnut.com/l/_8aCM4nCJAxl8


5. Give the equations for the reaction of ethanol with conc.  at

di�erent temperatures.

Watch Video Solution

H2SO4

6. Explain the action of  on ethyl alcohol at C and .

Watch Video Solution

Al2O3 260∘ 350∘C

7. How does ethanol react with copper at ? Name the reaction 

Watch Video Solution

300∘C

8. Give the equations for the reaction of ethyl alcohol with  and 

.

Watch Video Solution

PCI5

PCl3

https://dl.doubtnut.com/l/_ijSCcLUxADxW
https://dl.doubtnut.com/l/_SDv2XwpiAPBu
https://dl.doubtnut.com/l/_Oh9l82OfNnBi
https://dl.doubtnut.com/l/_z9I8iDUH4ikj
https://dl.doubtnut.com/l/_fwiUG73St54x


EXERCISE - 2.1.2

9. Explain how the three types of alcohols, primary, secondary and tertiary

can be distinguished ?

Watch Video Solution

1. How is phenol prepared? Write the properties of phenol.

Watch Video Solution

2. Explain the electrophilic substitution reactions of phenol. Write two

uses of phenol.

Watch Video Solution

https://dl.doubtnut.com/l/_fwiUG73St54x
https://dl.doubtnut.com/l/_KvTZLCQ46WiI
https://dl.doubtnut.com/l/_l0xWS7y2bkle


3. Write short notes on the following: (a) Reimer-Tiemann reaction and

(b) Kolbe's reaction. 

Watch Video Solution

4. Discuss the acidic nature of phenols compared to alcohols. 

Watch Video Solution

5. Compare the acidic character of nitrophenols, phenol and cresols.

Watch Video Solution

6. Why phenol molecule is less stable than phenoxide ion ?

Watch Video Solution

https://dl.doubtnut.com/l/_5nW0NBfv8m2y
https://dl.doubtnut.com/l/_LBGFcS7WlIcG
https://dl.doubtnut.com/l/_4Rx3tU3qMt1d
https://dl.doubtnut.com/l/_17NQtxyd2nxD


EXERCISE - 2.1.3

7. Arrange the following in the increasing order of acidic nature and

discuss the reason : 

(a) Phenol, (b) p-nitrophenol and (c) p-cresol

Watch Video Solution

8. Discuss the bromination of phenol in aqueous solution and  or 

 as solvent.

Watch Video Solution

CS2

CHCI3

1. Compare the physical properties of an alcohol and ether of comparable

molecular mass.

Watch Video Solution

https://dl.doubtnut.com/l/_C622tUCDQx96
https://dl.doubtnut.com/l/_zkwvm5VCDqFR
https://dl.doubtnut.com/l/_r8jY5MSSJxCv
https://dl.doubtnut.com/l/_kzWRyNO5q527


2. Explain Williamson's method of preparation of diethyl ether.

Watch Video Solution

3. Explain the action of HI on diethyl ether.

Watch Video Solution

4. Give the structures and IUPAC names of monohydric phenols of

molecular formula, .

Watch Video Solution

C7H8O

5. What is the action of dil.  and conc.  on diethyl ether? 

Watch Video Solution

H2SO4 H2SO4

https://dl.doubtnut.com/l/_kzWRyNO5q527
https://dl.doubtnut.com/l/_0qg9MI71kN4V
https://dl.doubtnut.com/l/_u64AY7SNfWrP
https://dl.doubtnut.com/l/_WJE0TRWB3f5M


EXERCISE - 2.2

6. Explain why ortho nitrophenol is more acidic than ortho

methoxyphenol? 

Watch Video Solution

7. Metallic sodium reacts with 'X' to form 'Y'. Ethyl chloride and 'Y' react

together to give diethyl ether. What are 'X' and 'Y'? 

Watch Video Solution

8. How methyl magnesium bromide is converted to 2-methyl-2-propanol ?

Watch Video Solution

1. How the three types of alcohols are distinguished? 

https://dl.doubtnut.com/l/_T6t20u4INmCY
https://dl.doubtnut.com/l/_36I7pWMoB17S
https://dl.doubtnut.com/l/_ZAQziprlCfu4
https://dl.doubtnut.com/l/_fY2SXOW0pW0g


Watch Video Solution

2. Write short notes on the following: (a) Reimer-Tiemann reaction and

(b) Kolbe's reaction. 

Watch Video Solution

3. Di�erentiate between an alcohol from a phenol, though both contain

same functional group

Watch Video Solution

4. What evidence that you can give to say that oxygen atom in phenol is

 hybridised. 

Watch Video Solution

sp2

https://dl.doubtnut.com/l/_fY2SXOW0pW0g
https://dl.doubtnut.com/l/_TVJ7PhA6x1jv
https://dl.doubtnut.com/l/_P8f6EffMEjqQ
https://dl.doubtnut.com/l/_5IoPphAAc2ir


5. Why phenols are stronger acids than alcohols? 

Watch Video Solution

6. Can pehnols react with  to leberate  ? 

Watch Video Solution

NaHCO3 CO2

7. tert-Butyl alcohol is much more soluble in water than n-butyl alcohol.

Explain.

Watch Video Solution

8. Give the sequence of reactions to prepare 2-butanol starting from 1-

butene.

Watch Video Solution

https://dl.doubtnut.com/l/_oIaKygYopequ
https://dl.doubtnut.com/l/_K21EhsFuFSiA
https://dl.doubtnut.com/l/_1wgkUpEOQry5
https://dl.doubtnut.com/l/_XTkjhLlGjToy
https://dl.doubtnut.com/l/_DcZf0fY0V0XN


9. Discuss on the relative reactivity of di�erent alcohols with a given

carboxylic acid towards esteri�cation 

Watch Video Solution

10. Among isomeric alcohols which reacts fastest with metallic sodium?

Why? 

Watch Video Solution

11. Write the importance of isotopic oxygen  in the mechanism of

esteri�cation. Give suitable examples. 

Watch Video Solution

(O18)

12. Arrange the following in the increasing acidic strength: 

Phenol, o-chlorophenol, m-chlorophenol and p-chlorophenol. 

W h Vid S l i

https://dl.doubtnut.com/l/_DcZf0fY0V0XN
https://dl.doubtnut.com/l/_X5ehSB2UUvZR
https://dl.doubtnut.com/l/_r3IM8BKSlFs0
https://dl.doubtnut.com/l/_Jm1uDd2t7Bka


Watch Video Solution

13. What are the products formed when  is

subjected to (a) hydration in presence an acid, (b) hydroboration

oxidation and (c) oxymercuration-demercuration. 

Watch Video Solution

(CH3)3C − CH = CH2

14. Explain how -OH group in phenol is ortho- and para- orienting? 

Watch Video Solution

15. Why tribromophenol is formed when phenol is treated with bromine

water? 

Watch Video Solution

https://dl.doubtnut.com/l/_Jm1uDd2t7Bka
https://dl.doubtnut.com/l/_g0HFR3NcZO9C
https://dl.doubtnut.com/l/_qIoDSoPXRqhs
https://dl.doubtnut.com/l/_iiHHTiRqLZIV


16. Williamson's synthesis cannot be carried out with tertiary alkyl

chloride. Why?      

Watch Video Solution

17. Reaction of 2-pentanol or 3-pentanol on reaction with HCI give both 2-

chloropentane and 3-chloropentane. Explain. 

Watch Video Solution

18. What happens when phenol is treated with carbontetrachloride, in the

presence of NaOH? 

Watch Video Solution

19. Give the sequence of reactions to convert benzene into p-

hydroxyacetophenone. 

https://dl.doubtnut.com/l/_efI2ctJox7w1
https://dl.doubtnut.com/l/_C2hHFo0F5NIP
https://dl.doubtnut.com/l/_bnoKE2peBuuE
https://dl.doubtnut.com/l/_OH3dCu2pJoiT


Watch Video Solution

20. What is dichlorocarbene? Write the reaction in which dichlorocarbene

is involved. 

Watch Video Solution

21. An alkoxy group connected to benzene ring is ortho- and para-

orienting. Explain. 

Watch Video Solution

22. How is benzene converted to phenol via Friedel-Crafts reaction? 

Watch Video Solution

https://dl.doubtnut.com/l/_OH3dCu2pJoiT
https://dl.doubtnut.com/l/_IPFxpXHAMDv9
https://dl.doubtnut.com/l/_9fOEEP6dtWbl
https://dl.doubtnut.com/l/_BAoKjWN8eC17


23. Tertiary alkyl halides are not suitable for preparation of ethers by

Williamson's synthesis, Explain. 

Watch Video Solution

24. Write the product(s) of the following reactions : 

Watch Video Solution

25. How a mixture of phenol and ethyl alcohol can chemically be

separated? 

Watch Video Solution

26. Write the phenolic isomer of the compound .

Watch Video Solution

C6H5CH2OH

https://dl.doubtnut.com/l/_viCbE2pBpUDd
https://dl.doubtnut.com/l/_Ms6cCVIsmtOc
https://dl.doubtnut.com/l/_nuJ49VLS7uOl
https://dl.doubtnut.com/l/_ODCisX8oE6A6


27. Williamson's method is not useful for preparation of diphenyl ether.

Why?

Watch Video Solution

28. Salicyladehyde  Phenol  Salicylic acid. How are these

conversions made? 

Watch Video Solution

← →

29. 'X' reacts with  to give 'Y'. 'Y' reacts with aqueous KOH to give

back 'X'. If the molecular formula of 'X' is  what are 'X' and 'Y'? 

Watch Video Solution

PCI5

C2H6O

https://dl.doubtnut.com/l/_ODCisX8oE6A6
https://dl.doubtnut.com/l/_Wc5UJULi4Fao
https://dl.doubtnut.com/l/_l3K8z8rVZ9ze
https://dl.doubtnut.com/l/_GLLWpTEZDt9s


30.  .Discuss

the reactions. 

Watch Video Solution

C2H4 + HCI
AICI3

−−−→ A
H2O .OH −

−−−−−−→ B
H2SO4.140 ∘

−−−−−−→ C
Steam

−−−→ B

31. what are A, B

and C? 

Watch Video Solution

A
KOH

−−−−−→
aqueous

B
conc .H2SO4

−−−−−−−−−→
140 ∘C

C
hot

−−−−−→
HI

C2H5I + H2O

32. .Organic products, X and Y react

together to give another organic compound Z. Write the normal chain

functional isomer of Z. 

Watch Video Solution

C2H5OH
Na

−−→ X, C2H5OH −−→
PCl5

Y

https://dl.doubtnut.com/l/_CCQaJfGTTS08
https://dl.doubtnut.com/l/_cR0vXQT2lRg1
https://dl.doubtnut.com/l/_8UG0HrE2FBXt


PROBLEM

33. . What is

compound 'C'? 

Watch Video Solution

C6H5NH2

HNO2 ,HCl , 0 ∘C
−−−−−−−−−−→ A

steam
−−→ B(Zn, Δ)( → )C

34.  Y+Z. Are the organic

products Y and Z di�erent?

Watch Video Solution

C2H5CHOHCH3

H2SO4
−−−−−−→

−H2O
X

O3 ,H2O ,Zn
−−−−−−−→ Y + Z

1. How many structural isomers exist with the formula ?

Watch Video Solution

C4H10O

2. Identify the most stable conformer of glycol.

https://dl.doubtnut.com/l/_nPXxYtoHCboZ
https://dl.doubtnut.com/l/_2VV812qUy0EJ
https://dl.doubtnut.com/l/_hh8pmY0RLCwr
https://dl.doubtnut.com/l/_gbs1iqDjzrnj


Watch Video Solution

3. How many amyl alcohol structures are possible ?

Watch Video Solution

4. Arrange the following set of compounds in order of their increasing

boiling points Pentan-1-ol, butan-1-ol, butan-2-ol, ethanol propanI-ol and

methanol

View Text Solution

5. Give IUPAC names of the following 

Watch Video Solution

CH3 − CH
∣

Cl

− C
∣

Cl

H − C
∣

CH3

H − CH2OH

https://dl.doubtnut.com/l/_gbs1iqDjzrnj
https://dl.doubtnut.com/l/_9mLHhS7aOpJ9
https://dl.doubtnut.com/l/_xxnpkghMMXt6
https://dl.doubtnut.com/l/_QVIqyKf6782y


6. Give IUPAC names of the 

Watch Video Solution

CH3 − C
∣

CH3

H − O − CH2CH3

7. Give IUPAC names of the following 

Watch Video Solution

8. How acetylene is converted to ethyl alcohol ?

Watch Video Solution

https://dl.doubtnut.com/l/_xgwerUlLa9CY
https://dl.doubtnut.com/l/_bOH9CIOhm4as
https://dl.doubtnut.com/l/_m6wsPbF7Lb0C


9. How benzyl alcohol is obtained from benzyl chloride ?

Watch Video Solution

10. How is n-propyl alcohol prepared from propene ?

Watch Video Solution

11. Suggest a method for the conversion of  into

ethyl alcohol.

Watch Video Solution

CH3 − CH2 − NH3

12.   

What is X ? Suggest the mechanism.

Watch Video Solution

CH3 − C
∣

CH3

H − CH = CH2 + H2O
H +

−−→ X

https://dl.doubtnut.com/l/_m6wsPbF7Lb0C
https://dl.doubtnut.com/l/_wTV3btcYjnwZ
https://dl.doubtnut.com/l/_BHg5Kwo24Cae
https://dl.doubtnut.com/l/_Cn7ltGVWsh6f
https://dl.doubtnut.com/l/_UA3AYEVXc1Ni


Watch Video Solution

13. How is methyl alcohol converted to ethyl alcohol?

Watch Video Solution

14. Give the structures and IUPAC names of the products expected from

the following reactions: 

(a) Catalytic reduction of butanal. 

(b) Hydration of propene in the presence of dilute sulphuric acid. 

(c) Reaction of propanone with methylmagnesium bromide followed by

hydrolysis.

Watch Video Solution

15. Propane is treated with methyl magnesium bromide and them

subjected to hydrolysis. Write the �nal product.

View Text Solution

https://dl.doubtnut.com/l/_UA3AYEVXc1Ni
https://dl.doubtnut.com/l/_3YwVhGfUAxtE
https://dl.doubtnut.com/l/_E82sNp8pirHz
https://dl.doubtnut.com/l/_9FKwm0Ur26gM


16. Show how are the following alcohols prepared by the reaction of a

suitable Grignard reagent on methanal ? 

(i)  

(ii) 

Watch Video Solution

CH3 − CH
∣

CH3

− CH2OH

17. Write structures of the products of the following reactions : 

CH3 − CH = CH2

H2O/H +

−−−−−→

https://dl.doubtnut.com/l/_9FKwm0Ur26gM
https://dl.doubtnut.com/l/_R232KS546CiW
https://dl.doubtnut.com/l/_gWOglRql0pqv


Watch Video Solution

18. Write structures of the products of the following reactions : 

Watch Video Solution

19. Write structures of the products of the following reactions : 

Watch Video Solution

CH3 − CH2 − C
∣

CH3

H − CHO
NaBH4

−−−→

https://dl.doubtnut.com/l/_gWOglRql0pqv
https://dl.doubtnut.com/l/_wJRcMkuvP2Qj
https://dl.doubtnut.com/l/_FVTtREmGAKqj


20. tert-Butyl alcohol is much more soluble in water than n-butyl alcohol.

Explain.

Watch Video Solution

21. Identify the stronger acid among the following: Butanol-1, butan-2-ol,

isobutyl alcohol and tert-butyl alcohol. Give Reason.

Watch Video Solution

22.   

A is the major product. What is 'A' ?

Watch Video Solution

https://dl.doubtnut.com/l/_rk3sAFNz7gIc
https://dl.doubtnut.com/l/_c1TsVj3vRmqg
https://dl.doubtnut.com/l/_SW9ZKiBIUtMF


23. Write the strucutre of the product and mechanism of the following

reaction: 

Watch Video Solution

(CH3)3C − CH2OH
HBr
−−→

24. How do you distinguish between methyl alcohol and ethyl alcohol ?

Watch Video Solution

25. What happens when ethyl alcohol is treated with HI and red

phosphorous ?

Watch Video Solution

26. What happens when one drinks ethanol mixed with methanol? Why?

Watch Video Solution

https://dl.doubtnut.com/l/_FPIhEQmS2m3i
https://dl.doubtnut.com/l/_nxEXOazpAVxs
https://dl.doubtnut.com/l/_VQGeOBzGbe5H
https://dl.doubtnut.com/l/_ImsEUwVM05Pv
https://dl.doubtnut.com/l/_cpCL0EUgxyEf


27. Phenol is treated with  in presence of NaOH. What happens ?

Watch Video Solution

CCl4

28. What is the reason for the formation of tribromo phenol when phenol

is treated with aqueous bromine?

Watch Video Solution

29. Write the electrophile and intermediate in Reimer-Tiemann reaction.

Watch Video Solution

30. Write the decreasing order of acidic strengths of the following: 

A : Phenol, B:p-nitrophenol, C: p-chlorophenol, D: p-cresol and E: p-

methoxy phenol.

Watch Video Solution

https://dl.doubtnut.com/l/_cpCL0EUgxyEf
https://dl.doubtnut.com/l/_133q0wRABnUe
https://dl.doubtnut.com/l/_23EafcNDEamn
https://dl.doubtnut.com/l/_35ZwEPvShz1g


31. Write the structures of the major products expected from the

following reactions: 

a) 3-methyl phenol is mononitrated 

b) Phenyl methanoate is mononitrated 

c) 3-Methyl phenol is dinitrated

Watch Video Solution

32. Predict the major products formed from the following reactions : 

a) Dinitration of 3-methylphenol 

b) Mononitration of phenylmethanoate 

c) Mononitration of 3-methylphenol

Watch Video Solution

33. Arrange the following compounds in decreasing order of their acidic

strength : Propan-1-ol, 3,5-Dinitrophenol, phenol, 2,4,6- Trinitrophenol, 3-

https://dl.doubtnut.com/l/_35ZwEPvShz1g
https://dl.doubtnut.com/l/_JKtadUVV8wBv
https://dl.doubtnut.com/l/_Agjh4Sx4Gjqa
https://dl.doubtnut.com/l/_NPkJrysleHwp


Nitrophenol and 4-methylphenol.

Watch Video Solution

34. What is the weight of bromine required to give 0.1 mole of a white

precipitate with phenol ?

View Text Solution

35. Chloroethane, 2-chloropropane and chloroethene are treated with

methoxide. Which is more reactive towards Williamson's synthesis ?

Watch Video Solution

36. Give one example of an ether which cannot be decomposed by HI.

Watch Video Solution

https://dl.doubtnut.com/l/_NPkJrysleHwp
https://dl.doubtnut.com/l/_sXrznlSRA512
https://dl.doubtnut.com/l/_9xjEzs0plW6h
https://dl.doubtnut.com/l/_aopUSbdvw9n4


37. Give the major products that are formed by heating each of the

following ethers with HI. 

View Text Solution

38. The following is not an appropriae reaction for the preparation of t-

butyl ethyl ether. 

 

https://dl.doubtnut.com/l/_eeXhamS3dwaR
https://dl.doubtnut.com/l/_auOqYCmiqQbb


i) What would be the major product of this reaction ? ii) Write a suitable

reaction for the preparation of t-butylethyl ether

Watch Video Solution

39. Ether can be dried over sodium, but not alcohol. Why?

Watch Video Solution

40. How is ethyl iso-propyl ether prepared ?

Watch Video Solution

41. What product is expected when tertiary butyl bromide is reacted with

sodium ethoxide? Why that product is not formed and how that product

can be obtained?

Watch Video Solution

https://dl.doubtnut.com/l/_auOqYCmiqQbb
https://dl.doubtnut.com/l/_xc5pkIfZSwN6
https://dl.doubtnut.com/l/_crjkamciTkFl
https://dl.doubtnut.com/l/_kCoHBkmo7kLq
https://dl.doubtnut.com/l/_fss16ASgXNIA


42. How is ether distinguished from ethanol using iodine and alkali ?

Watch Video Solution

43. Why anisole does not give iodobenzene with excess HI ?

Watch Video Solution

44. The following is not an appropriate reaction for the preparation of t-

butyl ethyl ether. 

 

What would be the major product of this reaction? Write a suitable

reaction for the preparation of t-butyethyl ether.

Watch Video Solution

https://dl.doubtnut.com/l/_fss16ASgXNIA
https://dl.doubtnut.com/l/_JKbTYX0ShOTU
https://dl.doubtnut.com/l/_h31Mr1OzadBJ


SUBJECTIVE EXERCISE - 1 (Long answer questions)

SUBJECTIVE EXERCISE - 1 (Short answer questions )

1. Explain how ethyl alcohol is obtained by fermentation process.

Watch Video Solution

2. What happens when ethyl alcohol reacts with i) Metallic Na 

ii) acetic acid iii)  iv) Conc. , 

Watch Video Solution

CH3MgBr H2SO4 140∘C

1. Explain the formation of ethyl alcohol from ethylene, ethyl acetate,

acetaldehyde and formaldehyde.

Watch Video Solution

https://dl.doubtnut.com/l/_M9q0F9EbWeX2
https://dl.doubtnut.com/l/_ggSfziR99Lih
https://dl.doubtnut.com/l/_R9kFzOKuCgQ2
https://dl.doubtnut.com/l/_VFSvMenY9cz6


2. Write the equations of the reactions of ethyl alcohol with the following

reagents : 

a) conc.  at ,  

b) Thionyl chloride, 

c) Bleaching powder, water 

d) Methyl magnesium bromide.

Watch Video Solution

H2SO4 170∘C

3. How is ethyl alcohol converted to : 

a) acetaldehyde b) ethyl acetate 

c) iodoform d) ethane ?

Watch Video Solution

4. Write the mechanism of dehydration of ethyl alcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_VFSvMenY9cz6
https://dl.doubtnut.com/l/_dqE9wj0yNYZE
https://dl.doubtnut.com/l/_vN2LwGF5pvr8
https://dl.doubtnut.com/l/_atTP3PXC4PQb


5. Explain how the three types of alcohols, primary, secondary and tertiary

can be distinguished ?

Watch Video Solution

6. How does ethyl alcohol react with metallic sodium, acetic acid and conc.

 at  ?

Watch Video Solution

H2SO4 140∘C

7. How is metylalcohol prepared commercially?

Watch Video Solution

8. Write the uses of methyl alcohol and ethyl alcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_atTP3PXC4PQb
https://dl.doubtnut.com/l/_cxrrxAjlGydZ
https://dl.doubtnut.com/l/_BqIOShX4jAXX
https://dl.doubtnut.com/l/_WFX3zuvPYCyn


SUBJECTIVE EXERCISE - 1 (Very short answer questions )

1. What are dihydric and trihydric alcohols ? Give one example each.

Watch Video Solution

2. What are secondary and tertiary alcohols ?

Watch Video Solution

3. How is recti�ed spirit converted to absolute alcohol ?

Watch Video Solution

4. Give the equations for the reaction of ethyl alcohol with  and 

.

Watch Video Solution

PCI5

PCl3

https://dl.doubtnut.com/l/_bpr9LiY0tJZz
https://dl.doubtnut.com/l/_cwFL1pUn5iNp
https://dl.doubtnut.com/l/_S4HKlF5O1twB
https://dl.doubtnut.com/l/_cEypaLrA0S2A


5. Give the equations for the reaction of ethanol with conc.  at

di�erent temperatures.

Watch Video Solution

H2SO4

6. Explain the action of  on ethyl alcohol at C and .

Watch Video Solution

Al2O3 260∘ 350∘C

7. How does ethyl alcohol react with Cu metal at . Name that

reaction.

Watch Video Solution

300∘C

8. 'X' reacts with  to give 'Y'. 'Y' reacts with aqueous KOH to give back

'X'. If the molecular formula of 'X' is  what are 'X' and 'Y'? 

Watch Video Solution

PCI5

C2H6O

https://dl.doubtnut.com/l/_cEypaLrA0S2A
https://dl.doubtnut.com/l/_YYb1P57Ek0G2
https://dl.doubtnut.com/l/_kaON15nxhNBv
https://dl.doubtnut.com/l/_IciljVQVDamk
https://dl.doubtnut.com/l/_aupePhBHQnlL


SUBJECTIVE EXERCISE - 2 (Long answer questions )

SUBJECTIVE EXERCISE - 2 (Short answer questions )

1. How is phenol prepared? Write the properties of phenol.

Watch Video Solution

1. Discuss the acidic nature of phenols compared to alcohols. 

Watch Video Solution

2. Compare the acidic character of nitrophenols, phenol and cresols.

Watch Video Solution

https://dl.doubtnut.com/l/_aupePhBHQnlL
https://dl.doubtnut.com/l/_PmFXENGiutQI
https://dl.doubtnut.com/l/_AVD8gCPlx8OA
https://dl.doubtnut.com/l/_4Cn6fPMjiexG


3. Explain the electrophilic substitution reactions of phenol. Write two

uses of phenol.

Watch Video Solution

4. Arrange the following in the increasing order of acidic nature and

discuss the reason : 

(a) Phenol, (b) p-nitrophenol and (c) p-cresol

Watch Video Solution

5. Why phenol molecule is less stable than phenoxide ion ?

Watch Video Solution

6. Discuss the bromination of phenol in aqueous solution and  or 

 as solvent.

CS2

CHCI3

https://dl.doubtnut.com/l/_lzWvKMzgMY72
https://dl.doubtnut.com/l/_vrkNg4PwgRtt
https://dl.doubtnut.com/l/_NLH1pFGDw0O6
https://dl.doubtnut.com/l/_9Q98hZFufeHn


SUBJECTIVE EXERCISE - 3 (Long answer questions )

SUBJECTIVE EXERCISE - 3 (Short answer questions )

Watch Video Solution

1. Write three preparations and three properties of diethyl ether.

Watch Video Solution

2. How are the following converted to diethyl ether ? 

i)  ii)  iii) 

Watch Video Solution

C2H5OH C2H5Br C2H5ONa

1. By Williamson's method, how a tertiary alkyl and primary alkyl ether are

formed ?

W t h Vid S l ti

https://dl.doubtnut.com/l/_9Q98hZFufeHn
https://dl.doubtnut.com/l/_QeEsbkJjifRg
https://dl.doubtnut.com/l/_aS5FA2ZQFN6e
https://dl.doubtnut.com/l/_Ry5aUEa7sQhM


Watch Video Solution

2. Compare the physical properties of an alcohol and ether of comparable

molecular mass.

Watch Video Solution

3. Explain the action of HI on diethyl ether.

Watch Video Solution

4. Starting from ethanol and 3-methyl pentanone2-ol, write the reactions

of Williamson synthesis for 2-ethoxy-3-methyl pentane.

Watch Video Solution

5. Give the structures and IUPAC names of monohydric phenols of

molecular formula, .C7H8O

https://dl.doubtnut.com/l/_Ry5aUEa7sQhM
https://dl.doubtnut.com/l/_RpfxWRttIIBi
https://dl.doubtnut.com/l/_fFGKvvyi4pTc
https://dl.doubtnut.com/l/_7cSMqr0EROJz
https://dl.doubtnut.com/l/_Ppvf3D3dJDVi


SUBJECTIVE EXERCISE - 3 (Very short answer questions)

Watch Video Solution

6. Draw the structure of all isomeric alcohols of molecular formula

 and give their IUPAC names and classify them as primary ,

secondary and tertiary alcohols.

Watch Video Solution

C5H12O

7. Explain why ortho nitrophenol is more acidic than ortho

methoxyphenol? 

Watch Video Solution

1. Metallic sodium reacts with 'X' to form 'Y'. Ethyl chloride and 'Y' react

together to give diethyl ether. What are 'X' and 'Y'? 

https://dl.doubtnut.com/l/_Ppvf3D3dJDVi
https://dl.doubtnut.com/l/_tpCsGdzisWfJ
https://dl.doubtnut.com/l/_nRegOqycQtrz
https://dl.doubtnut.com/l/_5Cjf7pjK19eR


Watch Video Solution

2. Two compounds A and B when heated sperately with  at ,

the product formed is ethylene, What are A and B ?

Watch Video Solution

Al2O3 360∘C

3. Write the action of HI on  in cold and hot conditions.

Watch Video Solution

C2H5OC2H5

4. Write the common and IUPAC names of 

Watch Video Solution

CH3 − O − C3H7

5. Explain Williamson's method of preparation of diethyl ether.

Watch Video Solution

https://dl.doubtnut.com/l/_5Cjf7pjK19eR
https://dl.doubtnut.com/l/_oJOItlpufdOG
https://dl.doubtnut.com/l/_0NyapkUcj8DS
https://dl.doubtnut.com/l/_Y6dz3inX2Rx9
https://dl.doubtnut.com/l/_6RnohtpECyU1


ALCOHOL (OBJECTIVE EXERCISE-1 (NOMENCLATURE AND PREPARATIONS))

6.   

what are A, B and C ?

Watch Video Solution

A
KOH

−−−−→
aqueous

B
conc.H2SO4

−−−−−−→
140 ∘C

C
hot

−−→
HI

C2H5I + H2O

7. How methyl magnesium bromide is converted to 2-methyl-2-propanol ?

Watch Video Solution

8. From ethyl magnesium iodide how propanol-1 is formed ?

Watch Video Solution

1. The number of  alcoholic groups in glycol1∘

https://dl.doubtnut.com/l/_6RnohtpECyU1
https://dl.doubtnut.com/l/_CZcByIPvPu9t
https://dl.doubtnut.com/l/_sghxztLmKieQ
https://dl.doubtnut.com/l/_wc7BwWgOsphE
https://dl.doubtnut.com/l/_8ELqCYqdEKzZ


A. 1

B. 2

C. 3

D. zero

Answer: B

Watch Video Solution

2. The common name of 2-methyl-1-propanol

A. 2-methyl-2-propanol

B. secondary butyl alcohol

C. isobutyl alcohol

D. tertiary butyl alcohol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_8ELqCYqdEKzZ
https://dl.doubtnut.com/l/_LkEnbyPwjbpC


3.  An isomer of ethanol is

A. Methanol

B. Dimethyl ether

C. Diethyl ether

D. Ethylene glycol

Answer: A

Watch Video Solution

4. Which one of the following is a secondary alcohol?

A. 2 - Methyl - 1 - propanol

B. 2 - Methyl - 2 - propanol

C. 2 - Butanol

https://dl.doubtnut.com/l/_LkEnbyPwjbpC
https://dl.doubtnut.com/l/_8yAC0nR0sMwc
https://dl.doubtnut.com/l/_gxV0jFTa4qgg


D. 1 - Butanol

Answer: C

Watch Video Solution

5. If the boiling point of ethanol (molecular weight = 46) is , the

boiling point of diethyl ether (molecular weight = 74) is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

78∘C

100∘C

78∘C

86∘C

34∘C

https://dl.doubtnut.com/l/_gxV0jFTa4qgg
https://dl.doubtnut.com/l/_ND3YJixwOnKf


6. Which of the following alcohols has the lowest solubility in water ?

A. Methanol

B. Ethanol

C. 1-Propanol

D. 1-Butanol

Answer: C

Watch Video Solution

7. One mole of ethyl acetate on treatment with an excess of  in

dry ether and subsequent acidi�cation produces

A. 1 mol acetic acid + 1 mol ethyl alcohol

B. 1 mol ethyl alcohol + 1 mol methyl alcohol

C. 2 moles of ethyl alcohol

D. 1 mol of 2 - butanol.

LiAIH4

https://dl.doubtnut.com/l/_zSzx2o9JJWFV
https://dl.doubtnut.com/l/_DdWSPja1WpzE


Answer: D

Watch Video Solution

8. Glucose is converted into ethyl alcohol by

A. maltase

B. zymase

C. invertase

D. diastase

Answer: B

Watch Video Solution

9. Recti�ed spirit can be converted into absolute alcohol by distilling with

A. Na2CO3

https://dl.doubtnut.com/l/_DdWSPja1WpzE
https://dl.doubtnut.com/l/_rcO8ytPCiiVk
https://dl.doubtnut.com/l/_OrhngjTtfzZ8


B. 

C. 

D. 

Answer: D

Watch Video Solution

Na

conc. H2SO4

CaO

10. Recti�ed spirit is made unsuitable for drinking by adding

A. 

B. 1-propanol

C. Water

D. 2-propanol

Answer: A

Watch Video Solution

CH3OH

https://dl.doubtnut.com/l/_OrhngjTtfzZ8
https://dl.doubtnut.com/l/_4eN9K6nhcYU8
https://dl.doubtnut.com/l/_s32qryZl8B9v


11. Which of the following alkenes when passed through conc. 

followed by hydrolysis with boiling water would give tert-butyl alcohol ?

A. Ethylene

B. Isobutylene

C. Propylene

D. 1-Butene.

Answer: B

Watch Video Solution

H2SO4

12. When equal weights of methyl alcohol and ethyl alcohol react with

excess of sodium metal, the volume of  liberated is more in the case of

A. 

B. 

C. equal in both

H2

C2H5OH

CH3OH

https://dl.doubtnut.com/l/_s32qryZl8B9v
https://dl.doubtnut.com/l/_x9pVjZkTYgkq


D.  is not liberated

Answer: B

Watch Video Solution

H2

13. The reaction of ethylmagnesium iodide with acetaldehyde gives after

acidi�cation

A. 2-Butanol

B. 1-Butanol

C. 2-Methyl-2-propanol

D. 2-Methylpropanol

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_x9pVjZkTYgkq
https://dl.doubtnut.com/l/_KduQNb4kWmcn


14. To prepare 2-propanol from methyl-magnesium bromide, the other

chemical required is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HCHO

CH3CHO

C2H5OH

CH3COCH3

15. Slow decomposition of complex organic compounds into simpler ones

by enzymes is known as

A. Condensation

B. Fermentation

C. Dehydration

https://dl.doubtnut.com/l/_FotoJPvJpKFO
https://dl.doubtnut.com/l/_TEz6f73Q7UXt


D. Polymerization

Answer: B

Watch Video Solution

16. In the conversion of starch to ethyl alcohol, the following enzymes are

used

A. Invertase, Zymase, Emulsin

B. Maltase, Zymase, Emulsin

C. Diastase, Maltase, Zymase

D. Invertase, Diastase, Zymase.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TEz6f73Q7UXt
https://dl.doubtnut.com/l/_bAjNrwDcywGj


17. Which one of the following gases is liberated when ethyl alcohol is

heated with methyl magnesium iodide?

A. Methane

B. Ethane

C. Carbondioxide

D. Propane

Answer: A

Watch Video Solution

18. Identify A and B in the following reaction

A. A = aqueous KOH, B = AgOH

B. A = alcoholic KOH , B = aqueous NaOH

C. A = aqueous NaOH , B = 

C2H5CI
A

−−→ C2H5OH
B

←−− C2H5CI

AgNO2

https://dl.doubtnut.com/l/_vwFG32z8usAB
https://dl.doubtnut.com/l/_1y7JvdbbpvYH


D. 

Answer: A

Watch Video Solution

A = AgNO2, B = KNO2

19. Which reducing agent is used for the following conversion ? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

RCOOH → RCH2OH

LiAlH4

NaBH4

K2Cr2O7

KMnO4

https://dl.doubtnut.com/l/_1y7JvdbbpvYH
https://dl.doubtnut.com/l/_8mM26FvoCGXn


20. In India, ethyl alcohol is mainly manufactured by

A. Destructive distillation of wood

B. Hydrogenation of oils

C. Fermentation of molasses

D. Catalytic oxidation of ethane

Answer: C

View Text Solution

21. In the Lucas test, terbidity is not shown by

A.  alcohol

B.  alcohol

C.  alcohol

D. all of these

1∘

2∘

3∘

https://dl.doubtnut.com/l/_HGMOroP1Ew8O
https://dl.doubtnut.com/l/_eea5OUuyiVfV


Answer: A

Watch Video Solution

22. Ethyl alcohol acts as nucleophile when it reacts with

A. Conc.HCl/

B. 

C. 

D. 

Answer: D

Watch Video Solution

ZnCl2

PCl3

conc. H2SO4

CH3COOH /H +

23.  The reagent 'X' is

A. 

CH3CH2CH2OH
x

−−→ CH3CH = CH2,

5 % H2SO4at50∘

https://dl.doubtnut.com/l/_eea5OUuyiVfV
https://dl.doubtnut.com/l/_KHvTeDYEWHl5
https://dl.doubtnut.com/l/_BhBRXXfko63f


B. 

C. 

D. 

Answer: C

Watch Video Solution

75 % H2SO4at100∘C

95 % H2SO4at170∘C

Al2O3, 170∘C

24. The �nal product in the fermentation of riped grapes in aerobic

conditions is

A. Ethanoic acid

B. Ethanal

C. Ethanol

D. Ethane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BhBRXXfko63f
https://dl.doubtnut.com/l/_bEpbnXxi9os7


ALCOHOL (OBJECTIVE EXERCISE-1 (PROPERTIES AND USES))

1. The reaction  suggests that alcohols

are

A. Acidic

B. Basic

C. Amphoteric

D. Neutral in character

Answer: A

Watch Video Solution

2ROH + 2Na → RONa + H2

2. Which of the following reagent cannot be used to oxidize primary

alcohols to aldehydes ?

https://dl.doubtnut.com/l/_bEpbnXxi9os7
https://dl.doubtnut.com/l/_jW4P5lfGM58k
https://dl.doubtnut.com/l/_kWH206TQY4TU


A.  in anhydrous medium.

B.  in acidic medium

C. Pyridinium chlorochromate.

D. Heat in the presence of Cu at 573K.

Answer: B

Watch Video Solution

CrO3

KMnO4

3. 23 g of sodium will react with methanol to give

A. One mole of oxygen

B. 1/2 Mole of hydrogen

C. One mole of hydrogen

D. 1/4 Mole of oxygen.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kWH206TQY4TU
https://dl.doubtnut.com/l/_wRarwACShBaD


4. Which of the following alcohols is the strongest acid ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3OH

CH3CH2OH

(CH3)2CHCH2OH

(CH3)3COH

5. The correct order of decreasing basicity of the following species is :

A. 

B. 

C. 

H2O, OH − , CH3OH, CH3O −

CH3OH < H2O < OH − < CH3O
−

CH3O
− > OH − → CH3OH > H2O

H2O < CH3OH < CH3O
− < OH −

https://dl.doubtnut.com/l/_wRarwACShBaD
https://dl.doubtnut.com/l/_lZdHHilZAlxp
https://dl.doubtnut.com/l/_gb7EKfBOjePC


D. 

Answer: B

Watch Video Solution

OH − > CH3O
− > CH3OH > H2O

6. Which of the following alcohols is expected to have the lowest 

value ?

A. Ethanol

B. 2-Fluoro ethanol

C. 2,2,2-Tri�uoroethanol

D. 2-Chloroethanol

Answer: C

Watch Video Solution

pKa

https://dl.doubtnut.com/l/_gb7EKfBOjePC
https://dl.doubtnut.com/l/_EfVuAbUFRQxD


7. When 2-butanol is heated with an excess of concentrated sulphuric

acid, the main product is

A. 1-Butene

B. 2-Butene

C. 2-Methyl propene

D. 2-Methyl-2-butene

Answer: B

Watch Video Solution

8. When a mixture, containing  is heated with ethyl

alcohol , a total of 4 moles of ethyl chloride is formed . Mole ratio of

 in the mixture is

A. 

B. 

PCl3 and PCl5

PCl3 and PCl5

3: 1

1: 1

https://dl.doubtnut.com/l/_mu02em67CIbT
https://dl.doubtnut.com/l/_jrbMKeV3VL1H


C. 

D. 

Answer: B

Watch Video Solution

1: 3

2: 1

9. When vapour of an alcohol are passed over hot reduced copper, it gives

an alkene. The alcohol is

A. Primary

B. Secondary

C. Tertiary

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jrbMKeV3VL1H
https://dl.doubtnut.com/l/_5jnyv0zzWRIz
https://dl.doubtnut.com/l/_FHVUqmCvne4A


10. Acid catalyzed hydration of alkenes except ethane leads to the

formation of

A. Electrophilic addition and intermediate is carbanion

B. Electrophilic addition and intermediate is carbonium ion

C. Nucleophilic addition and intermediate is carbonium ion

D. Freeradical addition

Answer: B

Watch Video Solution

11. The bond cleavages during esteri�cation reaction between 

A. C-O in B and O-H in A

B. C-O in A and O-H in B

C. C - O in A and O-H in A

(A) = CH3COOH and (B)C2H5OH

https://dl.doubtnut.com/l/_FHVUqmCvne4A
https://dl.doubtnut.com/l/_n20SWfDSiZjz


D. O - H in B and O-H in A

Answer: B

Watch Video Solution

12. Which one of the following compounds is most acidic?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cl − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_n20SWfDSiZjz
https://dl.doubtnut.com/l/_eYQ2yE5I8Qyb


13. Order of esteri�cation of alcohols is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

3∘ > 1∘ > 2∘

2∘ > 3∘ > 1∘

1∘ > 2∘ > 3∘

https://dl.doubtnut.com/l/_COUdCbW8rc2l


14. Complete the missing links. 

Watch Video Solution

15. The alcohol which easily reacts with con HCl is

A. 

B. 

C. 

D. 

(CH3)2 − CH2 − CH2OH

CH3 − CH2 − CH2 − CH2 − OH

(CH3)2 − C − OH

CH3 − CHOH − CH2 − CH3

https://dl.doubtnut.com/l/_QS0BQXMj21ca
https://dl.doubtnut.com/l/_c8toSsrazNmi


Answer: C

Watch Video Solution

16. . The compound D is

A. propanal

B. butanal

C. n-butyl alcohol

D. n-propyl alcohol

Answer: D

Watch Video Solution

CH3CH2OH
P +I1

−−→ A
Mg

−−→ B
HCHO

−−−→ C
H2O

−−→ D

17. correct order of  and  reactivity of and alcohols towards

sodium metal is

1∘ , 2∘ 3∘

https://dl.doubtnut.com/l/_c8toSsrazNmi
https://dl.doubtnut.com/l/_H7lG586atLoH
https://dl.doubtnut.com/l/_X3BhY155RmbJ


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1∘ > 2∘ 3∘

1∘ > 3∘ > 2∘

3∘ > 2∘ > 1∘

2∘ > 1∘ > 3∘

18. A better reagent for oxidation of primary alcohols to aldehydes in

good yield is

A. 

B. 

C. 

D. 

Answer: A

CrO3 + C2H5N + HCl

K2Cr2O7 + H2SO4

KMnO4 + H2SO4

LiAlH4

https://dl.doubtnut.com/l/_X3BhY155RmbJ
https://dl.doubtnut.com/l/_dnKkGQpXAkfy


Watch Video Solution

19. Identity (Z) in the reaction series,

 :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH2 = CH2

HBr
−−→ (X)

hydrolysis
−−−−−→ (Y )

NaOH
−−−−−−→

I2(excess)
(Z)

C2H5I

C2H5OH

CHI3

CH3CHO

20. The correct order of reactivity of hydrogen halides with ethyl alcohol

is

A. HF gt HCI gt HBr gt HI

https://dl.doubtnut.com/l/_dnKkGQpXAkfy
https://dl.doubtnut.com/l/_XHyQoTqcH0oG
https://dl.doubtnut.com/l/_shyfviqBS6qj


B. HCI gt HBr gt HF gt HI

C. HBr gt HCI gt HI gt HF

D. HI gt HBr gt HCI gt HF

Answer: D

Watch Video Solution

21. What is the hybridisation state(s) of the atoms in X formed in the

following reaction? 

A.  only

B.  and 

C.  only

D. sp only

Answer: A

Watch Video Solution

C2H5OH
(Vapours)

Al2O3

−−−→
200 ∘C

X

sp3

sp2 sp3

sp2

https://dl.doubtnut.com/l/_shyfviqBS6qj
https://dl.doubtnut.com/l/_Sn2w661a4iH7


22. The structural formula of alcohol that on dehydration would give 2-

methylpropene as the major product is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH2CH2OH

(CH3)2CH − CH2OH

CH3 − CHOH − CH2CH3

CH3CHOHCH3

23.   

The above reaction is known as

A. Hydrolysis

B. Esteri�cation

CH3COOH + C2H5OH
conc.H2SO4

−−−−−−→
heat

CH3COOC2H5 + H2O

https://dl.doubtnut.com/l/_Sn2w661a4iH7
https://dl.doubtnut.com/l/_orDIwpkNn1hj
https://dl.doubtnut.com/l/_0vty3ts6HYTr


C. Saponi�cation

D. Dehydration

Answer: B

Watch Video Solution

24.  can be converted in to  by reacting with

A. 

B. 

C. + pyridine

D. all the above

Answer: D

Watch Video Solution

C2H5OH C2H5Cl

PCl3

PCl5

SOCl2

https://dl.doubtnut.com/l/_0vty3ts6HYTr
https://dl.doubtnut.com/l/_K7x1rzxCJRHO


25. A mixture of anhydrous +conc.HCI is known as

A. Fehling's reagent

B. Lucas reagent

C. Tollen's reagent

D. Benedict's reagent

Answer: B

Watch Video Solution

ZnCl2

26. When  reacts with sodium metal, gas released is

A. Oxygen

B. Chlorine

C. Hydrogen

D. Nitrogen

C2H5OH

https://dl.doubtnut.com/l/_bq8VLmzfBNJ9
https://dl.doubtnut.com/l/_frq3ilOBy2Qc


Answer: C

Watch Video Solution

27. Action of caustic soda and chlorine on ethyl alcohol gives

A. Chloroform

B. Dichloromethane

C. Trichloroethane

D. Ethylenechloride

Answer: A

Watch Video Solution

28. Which is formed when ethanol reacts with acetic acid

A. CH3COOC2H5

https://dl.doubtnut.com/l/_frq3ilOBy2Qc
https://dl.doubtnut.com/l/_s7N1MAD7ThPZ
https://dl.doubtnut.com/l/_ZdAvIa9wor3d


B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H5OC2H5

CH3OCH3

CH3CH2CHO

29. In the reaction, 

 

The molecular formula of X is

A. 

B. 

C. 

D. 

Answer: C

C2H5OH
vapour

Cu
−−−→
300 ∘C

X

C4H6O

C4H10O

C2H4O

C2H6

https://dl.doubtnut.com/l/_ZdAvIa9wor3d
https://dl.doubtnut.com/l/_hjf2VT2z1KzM


Watch Video Solution

30. . In this reaction X, Y & Z are 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C2H5OH + SOCl2
Pyridine

−−−−→ X + Y + Z

C2H4Cl2, SO2, HCl

C2H5Cl, SO2 + HCl

C2H5Cl, SOCl2, HCl

C2H4, SO2 + Cl2

31. In the following reaction 

 

the compound Z is

https://dl.doubtnut.com/l/_hjf2VT2z1KzM
https://dl.doubtnut.com/l/_uz5vK7oZpXnB
https://dl.doubtnut.com/l/_DpHcBLaUB1Y0


ALCOHOL (OBJECTIVE EXERCISE-2A)

A. Benzoic acid

B. Benzaldehyde

C. Acetophenone

D. Benzene

Answer: B

Watch Video Solution

1. Which is the most favourable condition for the alcoholic fermentation

of sugar?

A. High concentration of sugar solution, low temperature, plenty of air

B. Low concentration of sugar solution, high temperature , plenty of

air

https://dl.doubtnut.com/l/_DpHcBLaUB1Y0
https://dl.doubtnut.com/l/_4QW62Ji6MgUy


C. Low concentration of sugar solution, low temperature, absence of

air

D. None of these

Answer: C

Watch Video Solution

2. Consider the following sequence of reactions: 

tert - amyl alcohol. The compound A in the above sequence of reactions is

A. 2- Butanone

B. Acetaldehyde

C. Acetone

D. Propanal

Answer: C

Watch Video Solution

A
C2H5MgI
−−−−−→ X

H + /H2O

−−−−−→

https://dl.doubtnut.com/l/_4QW62Ji6MgUy
https://dl.doubtnut.com/l/_gQaT0a7FAAcM


3.  

the product Y in the above sequence is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH = CH2
HCl

−−→ X
DrAg2O

−−−−−−→
heat

Y

C2H5OH, C2H5HSO4

(C2H5)2SO4, C2H5OH

C2H5HSO ,C2H5OH

C2H5OH, (C2H5)2SO4

4. . What is 'A' ?

A. 

B. 

C. 

A + CH3MgI → Addition product
H −OH
−−−−→ CH3CH2OH

CH3 − CHO

HCHO

CH3 − CH2 − CHO

https://dl.doubtnut.com/l/_gQaT0a7FAAcM
https://dl.doubtnut.com/l/_LseeJ9Vsbkvq
https://dl.doubtnut.com/l/_KbXs0XzSo28E


D. 

Answer: B

Watch Video Solution

CH3 − CO − CH3

5. Which of the following is more volatile ?

A. 

B. 

C. glycerol

D. 

Answer: D

CH3 − CH2 − CH2OH

CH3OH

https://dl.doubtnut.com/l/_KbXs0XzSo28E
https://dl.doubtnut.com/l/_vUjPUnbcxm1L


Watch Video Solution

6. . A dibasic acid is formed when "B" reacts

with

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CHO + 2[H]
Ni : Δ
−−−→ B

SOCl2

HCl

PCl3

PCl5

7. In which of the following reactions, chlorine acts as an oxidizing agent ?

I :   

II:   

CH3CH2OH + Cl2 → CH3CHO + 2HCl

CH3CHO + Cl2 → CCI3CHO + HCI

https://dl.doubtnut.com/l/_vUjPUnbcxm1L
https://dl.doubtnut.com/l/_iO9bbp5T0B7u
https://dl.doubtnut.com/l/_wZBH2MmBBP08


III :   

The correct answer is :

A. only I

B. only II

C. I and II

D. I,II and III

Answer: D

Watch Video Solution

CH3 + Cl2
hv

−−→ CH3Cl + HCI

8. What is the product obtained when chlorine reacts with ethyl alcohol

in KOH?

A. 

B. 

C. 

CHCl3

CCl3CHO

CH3Cl

https://dl.doubtnut.com/l/_wZBH2MmBBP08
https://dl.doubtnut.com/l/_Zui1UYhT9ddN


D. none

Answer: A

Watch Video Solution

9. In the following reaction X and Y respectively are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2H5OH
KMnO4 /H ⊕

−−−−−−−→ X
Y

−−−→
H2SO4

CH3COOC2H5

CH3OH, C2H5OH

CH3CHO, CH3OH

CH2 = CH2, CH3COOH

CH3COOH, C2H5OH

https://dl.doubtnut.com/l/_Zui1UYhT9ddN
https://dl.doubtnut.com/l/_5BSZ81lvFYWK


10. Hydrolysis of an ester gives acid A and alcohol B. The acid reduces

Fehling's solution. Oxidation of alcohol B gives acid, A. The ester is

A. Methyl formate

B. Ethyl formate

C. Propyl acetate

D. Ethyl acetate

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bekDVWfNQt0Z


11. Match the following 

Watch Video Solution

12. . In this reaction, the reactivity of

alcohols is

A. Tertiary gt Secondary gt Primary

B. Tertiary lt Secondary lt Primary

R − OH + HX → R − X + H2O

https://dl.doubtnut.com/l/_1FxIWz8KimYO
https://dl.doubtnut.com/l/_NPyhCQ6XYGR7


C. Tertiary gt Priamry gt Secondary

D. Secondary gt Primary gt Tertiary

Answer: A

Watch Video Solution

13.  

Here Y is

A. Iso butyl alcohol

B. Iso butylene

C. sec.Butyl alcohol

D. tert. Butyl alcohol

Answer: D

Watch Video Solution

(CH3)2CHOH
mild oxidation

−−−−−−−→ X
( i )CH3MgBr

−−−−−−−−−−→
H2O

Y

https://dl.doubtnut.com/l/_NPyhCQ6XYGR7
https://dl.doubtnut.com/l/_g4zYipFUTGHA
https://dl.doubtnut.com/l/_2MrG7GyfQRmM


14. Identify (z) in the following reaction series 

Ethanol 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PBr2
−−→ X

alc .KOH
−−−−−→ Y

H2SO4 , room temp
−−−−−−−−−−−−−→

H2O ,heat
Z

CH2 = CH2

CH3CH2OH

CH3CH2 − O − CH2CH3

CH3CH2 − OSO3H

15.  

What is the �nal product?

A. 

B. 

C2H4

C2H5 − O − C2H5

https://dl.doubtnut.com/l/_2MrG7GyfQRmM
https://dl.doubtnut.com/l/_bT18TjPvN24h


C. 

D. 

Answer: B

Watch Video Solution

C2H5OH

C2H5 − O − SO3H

16. The compound with formula  yields a compound  on

oxidation, the compound  is

A. an aldehyde

B. an alcohol

C. a ketone

D. an anhydride

Answer: B

Watch Video Solution

C4H10O C4H8O

C4H10O

https://dl.doubtnut.com/l/_bT18TjPvN24h
https://dl.doubtnut.com/l/_SWlU26cjPRm6
https://dl.doubtnut.com/l/_UVWpybKRvqEo


17.   

 

 

Then A and X are respectively

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

A + SOCl2 → B + SO2 + HCl

X + Na → C + H2

B + C → (C2H5)2O + NaCl

C2H5Cl C2H5ONa

C2H5ONa C2H5Cl

C2H5OH C2H5OH

C2H5OH C2H5ONa

18. There are four alcohols P,Q,R and S which have 3,2,1 and zero alpha

hydrogen atom (s) respectively. Which on of the following will give an

alkene when heated with copper

A. P

https://dl.doubtnut.com/l/_UVWpybKRvqEo
https://dl.doubtnut.com/l/_d9aprSKQ3zqL


B. Q

C. R

D. S

Answer: D

Watch Video Solution

19. Which of the following alcohols will not be easily oxidised by

 in dil.  ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K2Cr2O7 H2SO4

CH3OH

CH3CH2OH

(CH3)3COH

CH3CHOHCH3

https://dl.doubtnut.com/l/_d9aprSKQ3zqL
https://dl.doubtnut.com/l/_3EG2MZjROQTk


20. A convenient reagent to distinguish ethyl alcohol from n-propyl

alcohol is

A. Lucas reagent

B. Tollen's reagent

C. Schi�'s reagent

D. Iodine with aq. NaOH solution

Answer: D

Watch Video Solution

21.  can be converted into . The

correct sequence of reagents is :

A. 

B. 

R − CH2 − CH2OH RCH2CH2COOH

PBr3, KCN, H3O
+

PBr3, KCN, H2 /Pt

https://dl.doubtnut.com/l/_3EG2MZjROQTk
https://dl.doubtnut.com/l/_VI5U89AAuRHY
https://dl.doubtnut.com/l/_UaTLw1QBviCf


C. 

D. 

Answer: A

Watch Video Solution

KCN, H3O

HCN, PBr3, H2O
+

22. When ethyl hydrogen sulphate is heated with excess alcohol at 410 K,

the product obtained is

A. Ethane

B. Ethylene

C. Diethyl ether

D. Diethyl sulphate

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UaTLw1QBviCf
https://dl.doubtnut.com/l/_wdfpaEMKKZWE
https://dl.doubtnut.com/l/_wIKKpyxNiEfM


23. Maximum number of active hydrogens are present in

A. Acetic acid

B. Methane

C. Glycerol

D. Methanol

Answer: C

Watch Video Solution

24. Among the following compounds which can be dehydrated very

easily?

A. 

B. 

C. 

CH3C2CH2CH2CH2OH

CH3 − CH2 − OH

https://dl.doubtnut.com/l/_wIKKpyxNiEfM
https://dl.doubtnut.com/l/_QOM5SgkvpQvu


D. 

Answer: D

Watch Video Solution

CH3CH2CH2CHCH3

25. Methanol is industrially prepared by

A. Oxidation of  by steam at

B. Reduction of HCHO using 

C. Reaction HCHO with a solution of NaOH

D. Reduction of CO using  and 

Answer: C

Watch Video Solution

CH4 900∘C

LiAIH4

H2 ZnO − Cr2O3

https://dl.doubtnut.com/l/_QOM5SgkvpQvu
https://dl.doubtnut.com/l/_vzl6orfWFi0R


26. Acid catalyzed hydration of alkenes except ethane leads to the

formation of

A. primary alcohol

B. secondary or tertiary alcohol

C. mixture of primary and secondary alcohols

D. mixture of secondary and tertiary alcohols

Answer: B

Watch Video Solution

27. When a mixture, containing  is heated with ethyl

alcohol , a total of 4 moles of ethyl chloride is formed . Mole ratio of

 in the mixture is

A. 

B. 

PCl3 and PCl5

PCl3 and PCl5

3: 1

1: 1

https://dl.doubtnut.com/l/_JjAD5oo4ZCfE
https://dl.doubtnut.com/l/_O617gkmudnsv


C. 

D. 

Answer: B

Watch Video Solution

1: 3

2: 1

28. Which of the following alcohols on oxidation give carboxylic acid with

lasser number of carbon atoms?

A. 

B. 

C. 

D. both (2) and (3)

Answer: D

Watch Video Solution

(CH3)3 − C − CH2OH

(CH3)2COH

CH3CH2CHOHCH3

https://dl.doubtnut.com/l/_O617gkmudnsv
https://dl.doubtnut.com/l/_c3mNDPGK5wSq
https://dl.doubtnut.com/l/_ztPwbrN943r0


29. Which of the following compounds decol - ourises aqueous bromine

and gives white fumes of HCl on reaction with  ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PCl5

CH3CH2CH2CH2OH

CH3COCH2CH = CH2

CH3OCH2CH2CH2OH

CH3CH = CHCH2CH2OH

30. Tetiary butyl alcohol heated with conc.  and the alkene thus

formed is subjected to ozonolysis. The products of ozonolysis are

reduced with . The �nal products is/ are

A. 2-Methylpropan-2-ol

B. Mixture of methanol + ethanol

H2SO4

LiAIH4

https://dl.doubtnut.com/l/_ztPwbrN943r0
https://dl.doubtnut.com/l/_58WyP2YjHPIw


C. Mixture of 2-propanol + methanol

D. Mixture of ethanol + formic acid

Answer: C

Watch Video Solution

31. How many promary structural alcohols isomers are possible for

?

A. 5

B. 4

C. 2

D. 3

Answer: B

Watch Video Solution

C5H11OH

https://dl.doubtnut.com/l/_58WyP2YjHPIw
https://dl.doubtnut.com/l/_I7oz0AnkAtlq
https://dl.doubtnut.com/l/_vTZEkOhk4UuX


32. An organic compounds 'A' with the molecular formula on

oxidation with acidi�ed  gives compounds 'B' with the formula 

 Again 'B' on oxidation with acidi�ed  gives,'C' with the

molecular formula  . IUPAC name of 'A' is

A. 1-Butanol

B. 2-Butanol

C. 2-Methyl-2-propanol

D. 2-Methylbutanol-1

Answer: C

Watch Video Solution

C4H10O

K2Cr2O7

C3H6O. K2Cr2O7

C2H4O2

33. The �nal product in the fermentation of riped grapes in aerobic

conditions is

A. Ethanoic acid

https://dl.doubtnut.com/l/_vTZEkOhk4UuX
https://dl.doubtnut.com/l/_1GPYwYSBal7E


B. Ethanal

C. Ethanol

D. Ethane

Answer: A

Watch Video Solution

34. 

Watch Video Solution

https://dl.doubtnut.com/l/_1GPYwYSBal7E
https://dl.doubtnut.com/l/_V3ib4Yg9ajdr


35. . The compound D is

A. n-butyl alcohol

B. n-propyl alcohol

C. propanal

D. butanal

Answer: B

Watch Video Solution

CH3CH2OH
P +I1

−−→ A
Mg

−−→ B
HCHO

−−−→ C
H2O

−−→ D

36. When phenyl magnesium bromide reacts with ter- butyl alcohol, which

of the following is formed ?

A. Tert-butyl methyl ether

B. Benzene

C. Tert-butyl benzene

https://dl.doubtnut.com/l/_V3ib4Yg9ajdr
https://dl.doubtnut.com/l/_oPDg2V6yZ3kl
https://dl.doubtnut.com/l/_wyMXiQ9c1UuB


D. Phenol

Answer: B

Watch Video Solution

37.  , 

This reaction takes place through

A.  mechanism

B.  mechanism

C.  mechanism

D.  mechanism

Answer: C

Watch Video Solution

(CH3)3C − OH
H2SO4 Δ

−−−−−→ (CH3)2C = CH2

SN 1

SN 2

E1

E2

https://dl.doubtnut.com/l/_wyMXiQ9c1UuB
https://dl.doubtnut.com/l/_KL2KVua0s16F


38. Denaturation of ethyl alcohol is made by adding

A. methanol only

B. pyridine only

C. methanol and pyridine

D. zinc sulphate

Answer: C

Watch Video Solution

39. An organic compounds 'X' with the molecular formula reacts

with  and then hydrolised to give 'Y' ,Y gives turbidity

immediately with Lucas reagent Structural formula of compounds X and Y

are :

Watch Video Solution

C3H6O,

CH3MgBr

https://dl.doubtnut.com/l/_7BI18SWRzAkV
https://dl.doubtnut.com/l/_S8gWnRsgGuBx


40.   

Product (s) in the above reaction is (are)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH2 − C
∣ ∣

O

− CHO
NaBH4

−−−→

CH3CH2COOH + CO2

CH3CH2COCH2OH

CH3CH2CH(OH)CH2OH

CH3CH2CH(OH)CHO

41. Hydration of 3- phenylbut -1- ene with dil ,  mainly gives

A. 3-Phenlbutan-1-ol

B. 3-Phenylbutan-2-ol

C. 2-Phenylbutan-1-ol

H2SO4

https://dl.doubtnut.com/l/_Mmr64zDbokHB
https://dl.doubtnut.com/l/_iZlt7pRBnhtz


D. 2-Phenylbutan-2-ol

Answer: D

Watch Video Solution

42.   

It follows which maechanism ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2OH
Conc .H2SO4 , 413K
−−−−−−−−−−−→ C2H5OC2H5

SN 1

SN 2

E1

E2

https://dl.doubtnut.com/l/_iZlt7pRBnhtz
https://dl.doubtnut.com/l/_9oilcg4TGp1V


43. Among the following the one that gives positive iodoform test upon

reaction with  and NaOH

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I2

CH3CH2CH(OH)CH2CH3

C6H5CH2CH2OH

PhCHOHCH3

44. Among the following compounds which can be dehydrated very

easily?

A. 

B. 

CH3CH2CH2CH2CH2OH

CH3CH2CH2

OH
∣

C HCH3

https://dl.doubtnut.com/l/_XK7Vvfpupn4K
https://dl.doubtnut.com/l/_PpsRphPLB859


C. 

D. 

Answer: C

Watch Video Solution

CH3CH2 C
∣

CH3

HCH2CH2OH

45. HB reacts fastest with

A. 2-Methylpropan -1-ol

B. 2-Methylpropan-2-ol

C. Propan-2-ol

D. Propan-1-ol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PpsRphPLB859
https://dl.doubtnut.com/l/_nX4hkSAF3dSG
https://dl.doubtnut.com/l/_R45jJIBn65vj


46.  The above

structure (I) is an example of ......alcohol.

A. Allylic tertiary

B. Secondary

C. Allylic secondary

D. Allylic primary

Answer: A

Watch Video Solution

47. Which of the following statement is not correct?

A. Phenols are stronger acids than alcohols

https://dl.doubtnut.com/l/_R45jJIBn65vj
https://dl.doubtnut.com/l/_dK2sBvlf0qAp


B. Carboxylic acids are stronger acids than phenols

C. Alcohols are stronger acids than water

D. Carboxylic acids are stronger acids than alcohols

Answer: C

Watch Video Solution

48. Which of the following compound is an allylic alcohol ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_dK2sBvlf0qAp
https://dl.doubtnut.com/l/_8xPYA4onrrBK


Answer: D

Watch Video Solution

49. Which one of the following reactions will yield 2-propanol ? 

A. a,b

B. b,c

C. a,c

D. c,d

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_8xPYA4onrrBK
https://dl.doubtnut.com/l/_xRd6rVdssXwz


ALCOHOL (OBJECTIVE EXERCISE-2B )

Watch Video Solution

50. Which of the following compounds give a yellow precipitate with

iodine and aqueous NaOH solution ?

A. 2-hydroxy propane

B. Acetophenone

C. Methyl acetate

D. Acetamide

Answer: D

View Text Solution

1. Ortho cresol and benzyl alcohol are

A. Chain isomers

https://dl.doubtnut.com/l/_xRd6rVdssXwz
https://dl.doubtnut.com/l/_rBXk3ZIFY8VT
https://dl.doubtnut.com/l/_wrFQ2U8UhpHL


B. Positional isomers

C. Functional isomers

D. Metamers

Answer: C

Watch Video Solution

2. Consider the following groups attached to benzene ring and how many

of these show -"I" e�ect only 

A. 2

B. 4

C. 3

D. 5

Answer: A

−NH2, − NH3, − F , − CH2OH, − CH3, − NHCOR, − OCH3, − O

https://dl.doubtnut.com/l/_wrFQ2U8UhpHL
https://dl.doubtnut.com/l/_2cnepKzUmUZr


Watch Video Solution

3.  

Correct order of stability when 'Z' is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 > CD3 > − CT3

−CD3 > − CT3 > − CH3

−CT3 > − CD3 > − CH3

−CH3 > − CT3 > − CD3

https://dl.doubtnut.com/l/_2cnepKzUmUZr
https://dl.doubtnut.com/l/_Y0Z9XViUbVYR


Watch Video Solution

4. Which of the is the correct order of stability 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I > II > III

II > III > I

III > II > I

II > I > III

https://dl.doubtnut.com/l/_Y0Z9XViUbVYR
https://dl.doubtnut.com/l/_CZRf7kd22umW


5.  

are a pair of

A. Enantiomers

B. Identical compounds

C. Dia stereo isomers

D. Positional isomers

Answer: C

Watch Video Solution

6. Which alcohol, when heated with  will undergo dehydration

more rapidly?

H2SO4

https://dl.doubtnut.com/l/_awKYjodC8jxm
https://dl.doubtnut.com/l/_Gojbmlf9RJHo


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

7.  

Stability order of these benzyl carboncations is

https://dl.doubtnut.com/l/_Gojbmlf9RJHo
https://dl.doubtnut.com/l/_oIESgddOWUwL


A. I gt II gt III

B. III gt II gt I

C. II gt III gt I

D. III gt I gt II

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oIESgddOWUwL


8.  is subjected

to hydroboration oxidation of the resulting structure is

A. cis

B. trans

C. meso

D. mixture of 1 and 2

https://dl.doubtnut.com/l/_WAKxoCNsNpzt


Answer: B

Watch Video Solution

9.  

The major product of this reaction is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_WAKxoCNsNpzt
https://dl.doubtnut.com/l/_YklP0zq3otCE


D. 

Answer: A

Watch Video Solution

10. Most stable carbocation among the following is

A. 

https://dl.doubtnut.com/l/_YklP0zq3otCE
https://dl.doubtnut.com/l/_PowrX8wtF34D


B. 

C. 

https://dl.doubtnut.com/l/_PowrX8wtF34D


D. 

Answer: A

Watch Video Solution

11.  on the

dehydration gives

https://dl.doubtnut.com/l/_PowrX8wtF34D
https://dl.doubtnut.com/l/_JVCsZTIQLXUH


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_JVCsZTIQLXUH


12. Which is the correct order of reactivity of alcohols in the following

reaction 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

R − OH + HCl
ZnCl2

−−−→ R − Cl + H2O

1∘ > 2∘ > 3∘

1∘ > 2∘ > 3∘

3∘ > 2∘ > 1∘

3∘ > 1∘ > 2∘

13.  

In the above reaction the major product is shown, which is formed

https://dl.doubtnut.com/l/_ZVsWitubLuEE
https://dl.doubtnut.com/l/_ErS58JhOcPGk


through the intermediate (carbocation given below: 

 

Which bond will migrate to form above product ?

A. p

B. q

C. r

D. S

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ErS58JhOcPGk


14. 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_VbP15me407of


D. 

Answer: B

Watch Video Solution

15. The stability order of following carbocation is 

A. i gt ii gt iv gt iii

B. iii gt i gt ii gt iv

C. iv gt ii gt iii gt i

D. ii gt iv gt iii gt i

Answer: D

https://dl.doubtnut.com/l/_VbP15me407of
https://dl.doubtnut.com/l/_YpWUYMUBlpCh


Watch Video Solution

16. Which of the following is most reactive towards Na metal

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3OH

C2H5 − OH

H3C −

C
OH

H − CH3

17. 

https://dl.doubtnut.com/l/_YpWUYMUBlpCh
https://dl.doubtnut.com/l/_5Hj0apQKkG7H
https://dl.doubtnut.com/l/_vUBbOa5XbaCw


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

18.  Product areCH3 − C
∣

CH3

= CH − CH3

NaIO4 /OsO4

−−−−−−−→

https://dl.doubtnut.com/l/_vUBbOa5XbaCw
https://dl.doubtnut.com/l/_U9tlZDMrPf4E


PHENOLS (OBJECTIVE EXERCISE - 1)

A. Bromine water

B.  followed by

C. Cold alkaline 

D. all of the above

Answer: C

Watch Video Solution

HCO3H H3O
+

KMnO4

1. Phenol can be prepared from

A. Benzene diazonium chloride

B. Chlorobenzene

C. Sodium benzene sulfonate

D. All

https://dl.doubtnut.com/l/_U9tlZDMrPf4E
https://dl.doubtnut.com/l/_Wdi1ls7zLlHq


Answer: D

Watch Video Solution

2. Benzene diazonium chloride on boiling with dilute  gives

A. Cresol

B. Xylene

C. Phenol

D. Toulene

Answer: C

Watch Video Solution

H2SO4

3. Sodium salt of benzene sulphonic acid on fusion with caustic soda

followed by acidi�cation gives

https://dl.doubtnut.com/l/_Wdi1ls7zLlHq
https://dl.doubtnut.com/l/_edoAtGBwliOz
https://dl.doubtnut.com/l/_Yar2EwSw1l26


A. Benzene

B. Phenol

C. Thiophenol

D. Benzenesulfonic acid

Answer: B

Watch Video Solution

4. On heating with soda-lime, salicylic acid gives

A. Phenol

B. Benzoic acid

C. Sodium salicylate

D. Benzene

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Yar2EwSw1l26
https://dl.doubtnut.com/l/_qzu24V5NrZWl


5. The reaction, 

 suggests that

A. Phenol is a stronger acid than carbonic acid

B. Carbonic acid is a stronger acid than phenol

C. Water is a stronger acid than phenol

D. None of the above

Answer: B

Watch Video Solution

C6H5ONa + CO2 + H2O → C6H5OH + NaHCO3

6. Phenol can be prepared by the reaction between

A. Aniline and at 373 K

B.  and  followed by hydrolysis

C.  and NaOH at 373 K

HNO3

C6H5MgBr CO2

C6H5Cl

https://dl.doubtnut.com/l/_qzu24V5NrZWl
https://dl.doubtnut.com/l/_9Sk3QTR32dHg
https://dl.doubtnut.com/l/_NEKkyecvro8q


D.  and NaOH at 573-623K followed by acidi�cation

Answer: D

Watch Video Solution

C6H5SO3Na

7. Phenol is prepared commercially from

A. Ethylbenzene

B. Isopropylbenzene

C. n- Propylbenzene

D. Toluene

Answer: B

Watch Video Solution

8. Phenol is converted to 2,4,6-trinitrophenol using

https://dl.doubtnut.com/l/_NEKkyecvro8q
https://dl.doubtnut.com/l/_BHGXZRufEu41
https://dl.doubtnut.com/l/_jhobwdVJgkhG


A. Dil. 

B. conc. 

C. 

D. 

Answer: B

Watch Video Solution

HNO3

HNO3

NaNO2, 25∘C

NaNO2, 5∘C

9. In the following sequence of reactions 

 

The compound Q formed will be

A. aniline

B. phenol

C. benzaldehyde

https://dl.doubtnut.com/l/_jhobwdVJgkhG
https://dl.doubtnut.com/l/_inx1nuOpUt9m


D. benzene sulphonic acid

Answer: B

Watch Video Solution

10. The correct order of strength of acidity of the following compounds is 

A. (ii) gt (i) gt (iii) gt (iv)

B. (i) gt (ii) gt (iii) gt (iv)

C. (iv) gt (iii) gt (ii) gt (i)

D. (iv) gt (iii) gt (i) gt (ii)

https://dl.doubtnut.com/l/_inx1nuOpUt9m
https://dl.doubtnut.com/l/_UN4ncVmWkhoW


Answer: D

Watch Video Solution

11. Which of the following reactions will not yield phenol ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

12. Benzoquinone, is prepared by reaction of phenol with

https://dl.doubtnut.com/l/_UN4ncVmWkhoW
https://dl.doubtnut.com/l/_Vfe6Xv3tsKUL
https://dl.doubtnut.com/l/_Iiw7k6M3gT4d


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2Cr2O7, H2SO4

KMnO4, H2SO4

Na2CrO4, HCl

K2MnO4, H2SO4

13. The acidic character of phenol is due to

A. Greater resonance stabilization of phenoxide ion over phenol

B. Greater resonance stabilization of phenol over phenoxide ion

C. Because of tautomerism occurring in phenol

D. Because oxygen is more electronegative than hydrogen

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Iiw7k6M3gT4d
https://dl.doubtnut.com/l/_CjNGwRChKRrT


14. The correct order of relative acidic strength of phenol, ethyl alcohol

and water is

A. Phenol gt Water gt Ethyl alcohol

B. Ethyl alcohol gt Water gt Phenol

C. Ethyl alcohol gt Phenol gt Water

D. Water gt Phenol gt Ethyl alcohol

Answer: A

Watch Video Solution

15. Which of the following compounds will react with sodium hydroxide?

A. 

B. 

C. 

CH3OH

CH3CH2OH

C6H5OH

https://dl.doubtnut.com/l/_CjNGwRChKRrT
https://dl.doubtnut.com/l/_iy6FEJG8jJ9M
https://dl.doubtnut.com/l/_YVfyu3qxCTJR


D. 

Answer: C

Watch Video Solution

C6H5CH2OH

16. Which of the following compounds when dissolved in water, gives a

solution with pH less than seven?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3COCH3

C6H5OH

C6H5NH2

C2H5OH

https://dl.doubtnut.com/l/_YVfyu3qxCTJR
https://dl.doubtnut.com/l/_ft7Bfu8odrHc


17. Regarding phenol the correct statements are 

A) It reacts with  to give a mixture of o-bromophenol and p-

bromophenol 

B) In Riemer-Tiemann reaction with  a substituted benzalchloride

intermediate is formed 

C) In Kolbe's reaction gives salicylic acid 

D) On oxidation with it gives a conjugated diketone

A. A, B, C only

B. B, C, D only

C. A, B, C, D

D. C, D only

Answer: C

Watch Video Solution

B2 /CS2

CHCl3

https://dl.doubtnut.com/l/_OfpsOxCpkjfB


18. The major product obtained by the reaction of phenol and

carbondioxide with NaOH and is

A. salicylaldehyde

B. salicyclic acid

C. phthalic acid

D. benzoic acid

Answer: B

Watch Video Solution

19. The correct order of acidity of the following compounds is 

https://dl.doubtnut.com/l/_o8VTp9X2vq59
https://dl.doubtnut.com/l/_Z2AhiKuNkMqO


A. III gt IV gt I gt II

B. I gt IV gt III gt II

C. II gt I gt III gt IV

D. IV gt III gt I gt II

Answer: D

Watch Video Solution

20.  

The structural formulae of P and Q are.

A. 

B. 

https://dl.doubtnut.com/l/_Z2AhiKuNkMqO
https://dl.doubtnut.com/l/_jho4aFoGRLcP


C. 

D. 

Answer: A

Watch Video Solution

21. Write the electrophile and intermediate in Reimer-Tiemann reaction.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_jho4aFoGRLcP
https://dl.doubtnut.com/l/_hXoTqYOUXwor


D. 

Answer: B

Watch Video Solution

22. The best method to separate the mixture of ortho and para

nitrophenol  is

A. Crystallization

B. Solubility

C. Sublimation

D. Steam distillation

Answer: D

Watch Video Solution

(1: 1)

https://dl.doubtnut.com/l/_hXoTqYOUXwor
https://dl.doubtnut.com/l/_33pkxpTpwfG8
https://dl.doubtnut.com/l/_4v4TbslSjk3G


23. The increasing order of boiling points of below mentioned alcohols is 

(a) 1,2 - dihydroxy benzene 

(b) 1,3- dihydroxy benzene 

© 1,4- dihydroxy benzene 

(d) hydroxy benzene

A. a lt b lt c lt d

B. a lt b lt d lt c

C. d lt a lt b lt c

D. d lt b lt a lt c

Answer: C

Watch Video Solution

24. Phenols are more acidic than alcohols due to 

(a) In phenols,- OH is attached to  hybridised carbon but in alcohols , -

OH is attached to  hybridised carbon 

sp2

sp3

https://dl.doubtnut.com/l/_4v4TbslSjk3G
https://dl.doubtnut.com/l/_mjs4qJ4HE5DR


(b) Phenoxide ion is more stable than alkoxide due to resonance 

(c) Phenoxide ion is more stable than phenol

A. only a

B. only b

C. only c

D. a,b and c

Answer: D

Watch Video Solution

25. Arrange the following compounds in the descending order of their

 values 

a) 2,4,6-trinitrophenol b) 3,4-dimitrophenol c) m-nitrophenol d) p-cresol e)

phenol

A. 

B. 

pKa

a > b > c > e > d

d > e > c > b > a

https://dl.doubtnut.com/l/_mjs4qJ4HE5DR
https://dl.doubtnut.com/l/_v91ZgSGGknVQ


C. 

D. 

Answer: B

Watch Video Solution

a > b > c > d > e

e > d > c > b > a

26. When phenol reacts with which one of the following reagents, a

conjugate diketone will be formed ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Na2Cr2O7

conc. HNO3

Zn, Δ

Na2Cr2O7 + H2SO4

https://dl.doubtnut.com/l/_v91ZgSGGknVQ
https://dl.doubtnut.com/l/_YMOnTbl5XdUY
https://dl.doubtnut.com/l/_smmISNkMDbMF


27. Phenol is heated with a mixture of KBr and . The major

product obtained in the above reaction is:

A. 2-Bromophenol

B. 3-Bromophenol

C. 4-Bromophenol

D. 2, 4, 6-Tribromophenol

Answer: D

Watch Video Solution

KBrO3

https://dl.doubtnut.com/l/_smmISNkMDbMF


28. 

Watch Video Solution

29. Which of the following order is true regarding the acidic nature of

phenol ?

A. phenol lt o-cresol lt o-nitrophenol

B. phenol gt o-cresol gt o-nitrophenol

C. phenol lt o-cresol gt o-nitrophenol

D. o-cresol lt phenol lt o-nitrophenol

https://dl.doubtnut.com/l/_ADGudcZZBuam
https://dl.doubtnut.com/l/_wKtXS7Fxv2Oe


Answer: D

Watch Video Solution

30. Identify the reaction conditions for the following reactions 

 

Watch Video Solution

https://dl.doubtnut.com/l/_wKtXS7Fxv2Oe
https://dl.doubtnut.com/l/_BG9I0FjxtuTJ


PHENOLS (OBJECTIVE EXERCISE - 2A)

1. Increasing  values of o-, and p- cresols is

A. o lt p lt m

B. m lt p = o

C. m lt o lt p

D. p lt o lt m

Answer: B

Watch Video Solution

pKa

2. Which of the following compounds would not evolve  when

treated with aq.  solution?

A. Phenol

B. Benzoic acid

CO2

NaHCO3

https://dl.doubtnut.com/l/_6sgkyD8hELTN
https://dl.doubtnut.com/l/_tEudvJODARL6


C. 2,4- Dinitrophenol

D. 2,4,6-Trinitrophenol

Answer: A

Watch Video Solution

3. Phenol is

A. Kolbe's reaction

B. Cannizaro reaction

C. Reimer - Tiemann reaction

D. Kolbe Schmidt reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tEudvJODARL6
https://dl.doubtnut.com/l/_pb2nyh0bD20r


4. Rate of electrophilic substitution reaction in phenol is

A. Equal to that to benzene

B. Faster than that of benzenes

C. Slower than that of benzene

D. Very slower than that of nitrobenzene

Answer: B

Watch Video Solution

5. m-Dihydroxybenzene is called as

A. Resorcinol

B. Catechol

C. Quinol

D. Cresol

https://dl.doubtnut.com/l/_XMlbZW3uGYyI
https://dl.doubtnut.com/l/_O704xfNnKvOz


Answer: A

Watch Video Solution

6. 2 - Methyl phenol is

A. m - cresol

B. o - cresol

C. m - xylene

D. o - xylene

Answer: B

Watch Video Solution

7. Identify the product Z in the following sequence of reactions 

phenol
NaOH
−−−→ X

CO2

−−−−−−−−→
4 − 7atm , 410K

Y
H3O

+

−−−→ Z

https://dl.doubtnut.com/l/_O704xfNnKvOz
https://dl.doubtnut.com/l/_UsvzXuD1QH0h
https://dl.doubtnut.com/l/_yoWEt0tyLpPw


A. Aspirin

B. Salicylaldehyde

C. Benzoic acid

D. Salicylic acid

Answer: D

Watch Video Solution

8. Phenol on heating with aq. KOH and chloroform undergoes

A. Kolbe reaction

B. Rosenmund reaction

C. Reimer Tiemann reaction

D. Cannizzaro reaction

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_yoWEt0tyLpPw
https://dl.doubtnut.com/l/_qRKtQfUl14RU


9. Electrophilic substitution in phenol takes place at

A. ortho and para-positions

B. meta-position

C. ortho-position only

D. para-position only

Answer: A

Watch Video Solution

10. Alcohols can be distinguished from ethers by

A. Action of HCI

B. Action of ammonia

C. Action with neutral  solutionFeCl3

https://dl.doubtnut.com/l/_qRKtQfUl14RU
https://dl.doubtnut.com/l/_L0c8Cc609aEH
https://dl.doubtnut.com/l/_a5K3Wv7j7yRG


D. Action of acetic acid

Answer: C

Watch Video Solution

11. Which of the following is the major product formed when phenol is

treated with dilute nitric acid at 293 K?

A. m-Nitrophenol

B. p-Nitrophenol

C. 2,4,6-Trinitrophenol

D. o-Nitrobenzene

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_a5K3Wv7j7yRG
https://dl.doubtnut.com/l/_LLeRtLTVu9Bv


12. Which of the following has the least value of pKa ? 

A. A

B. B

C. C

D. D

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_IuK0SEyZYhTf


13.  

What are X and Y in the above reactions ? 

Watch Video Solution

Y
Na

←−− X
conc .H2SO4 . 413K

−−−−−−−−−−−→ (C2H5)2O

14.  dissolved in  reacts with phenol at 273K to give …............ as the

major product

A. o - Bromophenol

B. m - Bromophenol

C. p - Bromophenol

D. 2, 4, 6 – Tribromophenol

Answer: C

Watch Video Solution

Br2 CS2

https://dl.doubtnut.com/l/_kOhlCY7rmal2
https://dl.doubtnut.com/l/_ooKQDSScjtJO


15. The descending order of  values of the following compounds is 

A. d gt b gt c gt a

B. a gt c gtb gt d

C. b gt d gt c gt a

D. a gt c gt d gt b

Answer: B

Watch Video Solution

kb

https://dl.doubtnut.com/l/_McRcsTrPHiIF


16. Phenol  Here A and B are respectively.

A. P-Hydroxybenzenesulphonic acid, P-nitrophenol

B. 4-Hydroxybenzene-1,3-disulphonic acid, picric acid

C. 4-Hydroxybenzene-1,3-disulphonic acid, 2,4-dinitrophenol

D. 3-Hydroxybenzenesulphonic acid, picric acid

Answer: B

Watch Video Solution

conc .H2SO4

−−−−−−→ A
Conc .HNO3

−−−−−−−→ B

17. Phenol  Incorrect statement

among the following is

A. Preparation of 'B' from phenol is called Kolbe's reaction

B. 'B' is steam volatile

C. 'C' has a free -OH group of 'B'

NaOH
−−−→ A

( i )CO2

−−−−→
( 2 )H +

B
(CH3CO ) 2O ,H +

−−−−−−−−−−→ C

https://dl.doubtnut.com/l/_4vFniVHdjYFC
https://dl.doubtnut.com/l/_ZYDF5h4wuUdo


D. 'C' can be used as antii�ammatory, analgesic and antipyretic.

Answer: C

Watch Video Solution

18. One mole of Phenols is warmed with sodium metal. If we assume 100%

yield, volume of H gas liberated at S.T.P is

A. 11.2L

B. 22.4L

C. 33.6L

D. 44.8L

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_ZYDF5h4wuUdo
https://dl.doubtnut.com/l/_X53KsjFm2oN3


19. Benzene   

Incorrect statement among the following is

A. Aqueous solutions of B is acidic.

B. 'A' is Benzene sulphonic acid

C. 0.2% of 'C' can be used as antiseptic

D. 'C' is more acidic than water.

Answer: A

Watch Video Solution

oleum
−−→ A

NaoH
−−−→ B

HCl
−−−−→
−NaCl

C

20. If we use carbon tetrachloride in Reimer Tiemann reaction in place of

chloroform, the product formed is

A. Salicylic acid

B. Salicylaldehyde

C. Cyclohexanol

https://dl.doubtnut.com/l/_F62G1LWgW6PV
https://dl.doubtnut.com/l/_lOHCoGpIuBhX


D. Phenolphthalein

Answer: A

Watch Video Solution

21. From amongst the following alcohols, the one that would react fastest

with conc.HCl and anhydrous ZnCl is

A. 1-Butanol

B. 2-Butanol

C. 2-Methylpropan-2-ol

D. 2-Methylpropanol-1

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_lOHCoGpIuBhX
https://dl.doubtnut.com/l/_VEz8t8Kv9LjM


22.  

The electrophile involved in the above reaction is

A. dichloromethyl cation

B. dichlorocarbene

C. trichloromethyl anion

D. formyl cation

Answer: B

Watch Video Solution

23. The reaction  is called

A. Reimer-Tiemann reaction

B. Schotten-Baumann reaction

C6H5OH
CH3COCl
−−−−−→

Pyridine
C6H6OCOCH3

https://dl.doubtnut.com/l/_gs16VTRpxMWG
https://dl.doubtnut.com/l/_nw3lqpgimuiL


C. Alkylation

D. Benzoylation

Answer: C

Watch Video Solution

24. Ortho -Nitrophenol is less soluble in water than p-and m- Nitrophenol

because

A. o-Nitrophenol is more volatile to steam than those of m- and p-

isomers

B. o-Nitrophenol shows Intramolecular H-bonding

C. o-Nitrophenol shows Intermolecular H-bonding

D. Melting point of o-Nitrophenol is lower than those of m- and p-

isomers

Answer: B

https://dl.doubtnut.com/l/_nw3lqpgimuiL
https://dl.doubtnut.com/l/_2JEF6d6YXuxx


Watch Video Solution

25. When benzene sulfonic acid and p-nitrophenol are treated with

, the gases released respectively are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NaHCO3

SO2, NO2

SO2, NO

SO2, CO2

CO2, CO2

26. Which of the following is the most stable structure of phenol

https://dl.doubtnut.com/l/_2JEF6d6YXuxx
https://dl.doubtnut.com/l/_c3pSFcakhRnf
https://dl.doubtnut.com/l/_25tHCY9jiwHP


A. 

B. 

C. 

https://dl.doubtnut.com/l/_25tHCY9jiwHP


D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_25tHCY9jiwHP


27. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_9iI2NbWapA1c


28. The product formed in the following reaction is 

A. 

B. 

https://dl.doubtnut.com/l/_19KqGq4j79IU


C. 

D. 

Answer: C

Watch Video Solution

29. Phenol can be distinguished from ethanol by the reagent

A. Bromine water

B. Sodium metal

https://dl.doubtnut.com/l/_19KqGq4j79IU
https://dl.doubtnut.com/l/_nBMM3LYoNM4x


PHENOLS (OBJECTIVE EXERCISE - 2B)

C. Iron metal

D. Chlorine water

Answer: A

Watch Video Solution

30. Which one of the following reactins gives phenol as a major product ?

A. Reaction of benzene with conc.  and conc.

B. Reaction of Aniline with  in warm water

C. Reaction of benzene with Hot water

D. Sodium salt of benzoic acid with soda lime reaction

Answer: A

Watch Video Solution

HNO3 H2SO4

NaNO2 /HCI

https://dl.doubtnut.com/l/_nBMM3LYoNM4x
https://dl.doubtnut.com/l/_rGxo3UnkS0ae


1. 

A. 

https://dl.doubtnut.com/l/_6kJWCWnb2G6P


B. 

C. 

https://dl.doubtnut.com/l/_6kJWCWnb2G6P


D. 

Answer: A

Watch Video Solution

2. 

https://dl.doubtnut.com/l/_6kJWCWnb2G6P
https://dl.doubtnut.com/l/_ZE2KPSHMVEWN


A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_ZE2KPSHMVEWN


Answer: B

Watch Video Solution

3. The most unlikely representation of resonance structure of P-

nitrophenoxide .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ZE2KPSHMVEWN
https://dl.doubtnut.com/l/_1rQ3XEKwGOGR


4. Which one of the following is most acidic?

A. phenol

B. 2 - chlorophenol

C. 3 - chlorophenol

D. 4 - chlorophenol

Answer: B

Watch Video Solution

5. Among the following the pKa is minimum for

https://dl.doubtnut.com/l/_1rQ3XEKwGOGR
https://dl.doubtnut.com/l/_TZMRMkPgEhR4
https://dl.doubtnut.com/l/_LHCMb4Vye3M4


A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_LHCMb4Vye3M4


Answer: D

Watch Video Solution

6. In which of the following molecules -  group shows only I e�ect 

A. A,B only

B. A only

C. A,B,C only

D. A,B,C,D

Answer: C

NO2

https://dl.doubtnut.com/l/_LHCMb4Vye3M4
https://dl.doubtnut.com/l/_VBehCK7G0CMo


Watch Video Solution

7.  

The major product X is

A. 

B. 

https://dl.doubtnut.com/l/_VBehCK7G0CMo
https://dl.doubtnut.com/l/_0zgItuVi4SSU


C. 

D. 

Answer: A

Watch Video Solution

8. The correct representation of single carbene is

A. 

https://dl.doubtnut.com/l/_0zgItuVi4SSU
https://dl.doubtnut.com/l/_YUGDmgWUCavI


B. 

C. both a and b

D. 

Answer: A

Watch Video Solution

9. Dinitration of 3-methyl-phenol gives the following major product.

A. 

https://dl.doubtnut.com/l/_YUGDmgWUCavI
https://dl.doubtnut.com/l/_V0WHC1Tp9anw


B. 

C. 

D. 

Answer: C

Watch Video Solution

10.  

The compounds B and C , respectively are

https://dl.doubtnut.com/l/_V0WHC1Tp9anw
https://dl.doubtnut.com/l/_IkPgwe2zzQfR


ETHERS (OBJECTIVE EXERCISE-1 (INTRODUCTION AND PREPARATIONS))

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1. The general formula of ethers is

A. 

B. 

C. 

CnH2nO

CnH2n+ 1O

CnH2n+ 2O

https://dl.doubtnut.com/l/_IkPgwe2zzQfR
https://dl.doubtnut.com/l/_vw85KDg8TfGs


D. 

Answer: C

Watch Video Solution

CnH2nOCnH2n

2. The IUPAC name of an unsymmetrical ether with the molecular formula,

 is

A. Ethoxypropane

B. Methoxyethane

C. Ethoxyethane

D. Methoxypropane

Answer: D

Watch Video Solution

C4H10O

https://dl.doubtnut.com/l/_vw85KDg8TfGs
https://dl.doubtnut.com/l/_Ja5tHWC3HFM6


3.  Hybridisation of oxygen in diethyl ether is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sp

sp2

sp3

sp3d

4. The reaction,  is called

A. Wurtz reaction

B. Williamson's synthesis

C. Kolbe's reaction

D. Hofmann bromamide reaction

RX + R − ONa → R − O − R + NaX

https://dl.doubtnut.com/l/_NG9GKlKeKvlt
https://dl.doubtnut.com/l/_z6dSTWJV0ab3


Answer: B

Watch Video Solution

5. Williamson synthesis is an example of

A. Nucleophillic addition

B. Electrophillic addition

C. Electrophillic substitution

D. Nucleophillic substitution reaction

Answer: D

Watch Video Solution

6. Ethyl chloride reacts with sodium ethoxide to form a compound A.

Which of the following reactions also yields A?

https://dl.doubtnut.com/l/_z6dSTWJV0ab3
https://dl.doubtnut.com/l/_OL6b1fOTXPR3
https://dl.doubtnut.com/l/_DyOzvPVrvUiA


A. 

B. 

C.  (dry ether)

D. , dil, 

Answer: B

Watch Video Solution

C2H5Cl, KOH(alc), Δ

2C2H5OH, conc. H2SO4, 140∘C

C2H5Cl, Mg

C2H2 H2SO4, HgSO4

7. When vapours of ethyl alcohol are passed over , at 533 K, it forms

A. 1,2-Ethanediol

B. ethene

C. Ethoxyethane

D. Ethanal

Answer: C

Watch Video Solution

Al2O3

https://dl.doubtnut.com/l/_DyOzvPVrvUiA
https://dl.doubtnut.com/l/_JlngKL1cXhhe


8. Consider the following reaction  (Pleasant smelling liqluid),

X is

A. Sodium

B. Dry silver oxide

C. Ethyl chloride

D. Dry silver powder

Answer: B

Watch Video Solution

C2H5I
Δ

−−→
X

9. When vapours of ethyl alcohol are passed over , at 533 K, it forms

A. 1, 2 - ethanediol

B. Ethene

C. Ethanal

Al2O3

https://dl.doubtnut.com/l/_JlngKL1cXhhe
https://dl.doubtnut.com/l/_ESNWMgAFM6wX
https://dl.doubtnut.com/l/_DiMHhFRBHLWM


D. Ethoxy ethane

Answer: D

Watch Video Solution

10. Anisole is

A. an ether

B. an alcohol

C. an aldehyde

D. a phenol

Answer: A

Watch Video Solution

11. tert-Butyl chloride on treatment with sodium alkoxide yields

https://dl.doubtnut.com/l/_DiMHhFRBHLWM
https://dl.doubtnut.com/l/_htqS1fSAF62k
https://dl.doubtnut.com/l/_BXIoucTY2shC


A. an ether

B. an alkene

C. an alcohol

D. an alkane

Answer: B

Watch Video Solution

12. Which of the reaction can be employed for the preparation of

unsymmetrical ether?

A. Dehydration of alcohols

B. Williamson's synthesis

C. Dehydration of carboxylic acid

D. Dehydrogenation of alcohols

Answer: B

https://dl.doubtnut.com/l/_BXIoucTY2shC
https://dl.doubtnut.com/l/_p7sTfb2C4oeg


Watch Video Solution

13. Williamson synthesis is an example of

A. Nucleophilic addition

B. Electrophilic addition

C. Electrophilic substitution

D. Nucleophilic substitution

Answer: D

Watch Video Solution

14. The IUPAC name of 

A. Ethoxy propane

B. 1,1-dimethyl ether

C. 2-Ethoxy isopropane

C2H5 − O − CH(CH3)2

https://dl.doubtnut.com/l/_p7sTfb2C4oeg
https://dl.doubtnut.com/l/_g8U01nYlS78O
https://dl.doubtnut.com/l/_Zo6joVJtfMLP


ETHERS (OBJECTIVE EXERCISE-1 (PROPERTIES))

D. 2-Ethoxy propane

Answer: D

Watch Video Solution

1. Which of the following is the strongest Lewis base ?

A. 

B. 

C. `CH_3OCH_3

D. 

Answer: C

Watch Video Solution

H2O

CH3OH

C6H5OH

https://dl.doubtnut.com/l/_Zo6joVJtfMLP
https://dl.doubtnut.com/l/_7xaalmIez2Ae
https://dl.doubtnut.com/l/_2z5vDkUH6rXg


2. Grignard reagents are prepared in

A. Benzene

B. Chloroform

C. Alcohol

D. Ether

Answer: D

Watch Video Solution

3. When diethyl ether is heated with sulphuric acid it forms

A. Propanoic acid

B. Acetic acid

C. Ethyl alcohol only

D. Ethyl hydrogen sulphate and ethanol

https://dl.doubtnut.com/l/_2z5vDkUH6rXg
https://dl.doubtnut.com/l/_grGc3RMkRRl1


Answer: D

Watch Video Solution

4. When phenolic ether is heated with HI, it yields .

A. alkyl halide + phenol

B. alcohol + aryl halide

C. alkyl halide + aryl halide + water

D. none of the above

Answer: A

Watch Video Solution

5. Williamson's synthesis of ethers is an example of

A. nucleophilic substitution reaction

https://dl.doubtnut.com/l/_grGc3RMkRRl1
https://dl.doubtnut.com/l/_u8QQ1LEBzqEe
https://dl.doubtnut.com/l/_OaohMqnRps0E


B. nucleophilic addition reaction

C. electrophilic addition reaction

D. electrophilic substitution reaction

Answer: A

Watch Video Solution

6.  

The products P and Q are

A. 

B. 

https://dl.doubtnut.com/l/_OaohMqnRps0E
https://dl.doubtnut.com/l/_YV1TdWGv52Gv


C. 

D. 

Answer: D

Watch Video Solution

7. In the reaction,

  

What is X?

A. Ethyl propionate

B. Ethyl carbonate

C. Diethyl peroxide

D. Ethylpropanoate

C2H5OC2H5 + CO
BF3

−−−−−−−−−−−−−→
150 ∘C , 500atm pressure

X

https://dl.doubtnut.com/l/_YV1TdWGv52Gv
https://dl.doubtnut.com/l/_Uzem5F4GlQlj


Answer: D

Watch Video Solution

8. The gas liberated by treating diethylether with  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PCI5

C2H4

CH4

C2H5Cl

C2H5COCl

9.  when treated with hydrogen halide gives

A. R - OX and 

C6H5 − O − R

C6H5 − X

https://dl.doubtnut.com/l/_Uzem5F4GlQlj
https://dl.doubtnut.com/l/_t9ZAXn8QsV9W
https://dl.doubtnut.com/l/_uV5s0cohfzWD


B. R-X and 

C. R - OX and 

D. R-X and 

Answer: D

Watch Video Solution

C6H5 − X

C6H5 − OH

C6H5 − OH

10.  .

What is Z

A. 

B. 

C. 

D. 

Answer: C

(CH3)C − OH + Na → X, C2H5OH + PCl5 → Y , X + Y → Z

CH3 − C
∣

CH3

= CH2

CH3 − CH2 − CH2 − O − CH3

CH3 − C
∣

CH3

H − O − C2H5

https://dl.doubtnut.com/l/_uV5s0cohfzWD
https://dl.doubtnut.com/l/_YMuZb0mHh6cR


Watch Video Solution

11. The organic compound which evoporates easily on exposure to

atmospheric air

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H5OC2H5

CHCl3

CH3CH2OH

CH3CHO

12. An unknown compound dissolves in conc. sulphuric acid, but does not

declourise bromine water and does not react with sodium. Which of the

following classes of molecules would behave in this manner ?

https://dl.doubtnut.com/l/_YMuZb0mHh6cR
https://dl.doubtnut.com/l/_yEBsdAgprRrx
https://dl.doubtnut.com/l/_uqpM5fXtfwur


A. Alkene

B. Alcohol

C. Ether

D. Phenol

Answer: C

Watch Video Solution

13. Boiling point of diethyl ether is less than that of

A. Ethane

B. Butane

C. Ethyl alcohol

D. Dimethyl ether

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_uqpM5fXtfwur
https://dl.doubtnut.com/l/_19Cb8UnOxiIA


ETHERS (OBJECTIVE EXERCISE-2A)

14.  . Here X and Y are (if axcess HI

is used )

A.  and 

B.  and 

C. 

D. 

Answer: B

Watch Video Solution

C2H5 − O − C2H5 + HI
Δ

−−→ X + Y

C2H5I C2H5OH

C2H5I H2O

C2H5OH + H2O

C2H4 + H2O

1. Regarding diethyl ether, the wrong statement is

A. It is slightly soluble in water

https://dl.doubtnut.com/l/_19Cb8UnOxiIA
https://dl.doubtnut.com/l/_JA0xIwvztfUH
https://dl.doubtnut.com/l/_Rme1CPe5OHWf


B. In cold condition, it does not react with alkali and dilute acids

C. It has active hydrogen

D. It does not react with Na metal

Answer: C

Watch Video Solution

2. Alcohols can be distinguished from ethers by

A. Sodium metal

B. Ester formation

C. Iodoform test

D. All the above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Rme1CPe5OHWf
https://dl.doubtnut.com/l/_VcXHjQYjYJWQ
https://dl.doubtnut.com/l/_pe0tZlbYe9Ki


3. 'A' reacts with  giving 'B' and Nal. Here 'A' and 'B' respectively are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H5I

CH3COONa, CH2OCH3

C2H5OC2H5, C2H5COOC2H5

C2H5ONa, C2H5OC2H5

C2H5OH, C2H5OC2H5

4. Which of the following can not form oxonium salts with diethyl ether?

A. HCl

B. HBr

C. 

D. 

H2SO4

HCN

https://dl.doubtnut.com/l/_pe0tZlbYe9Ki
https://dl.doubtnut.com/l/_leSmI1MsGYrs


Answer: D

Watch Video Solution

5. Ester is not formed in the following reaction. Identify the suitable

reaction

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COOH + C2H5OH
H +

−−→

C2H5OH + CH3COOCOCH3

CH3CH2OH + CH3COCl →

C2H5OC2H5 + CH3Cl →

6. C-O-C bond in ethers can be cleaved by

https://dl.doubtnut.com/l/_leSmI1MsGYrs
https://dl.doubtnut.com/l/_IOQik6UbIgpA
https://dl.doubtnut.com/l/_lH3wuf8x6xkf


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

KMnO4

LiAlH5

KOH

HI

7.  

the product Y in the above sequence is

A. Di isopropyl ether

B. Di n - propyl ether

C. 2 - Propanol

D. 1, 2, Epoxypropane

Answer: A

CH3CH = CH2
HCl

−−→ X
DrAg2O

−−−−−−→
heat

Y

https://dl.doubtnut.com/l/_lH3wuf8x6xkf
https://dl.doubtnut.com/l/_eIOanWth6EoO


Watch Video Solution

8. When ethyl hydrogen sulphate is heated with excess alcohol at 410 K,

the product obtained is

A. Ethane

B. Ethylene

C. Diethyl ether

D. Diethyl sulphate

Answer: C

Watch Video Solution

9. The major product obtained on interaction of phenol with sodium

hydroxide and carbon dioxide is :

A. salicylaldehyde

https://dl.doubtnut.com/l/_eIOanWth6EoO
https://dl.doubtnut.com/l/_YWZKz7a6gZKE
https://dl.doubtnut.com/l/_EKV55hmlnu57


B. salicylic acid

C. phthalic acid

D. benzoic acid

Answer: B

Watch Video Solution

10.   

It follows which mechanism ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(CH3)3COCH3

+HI
−−→ (CH3)3Cl + CH3OH

SN 1

SN 2

E1

E2

https://dl.doubtnut.com/l/_EKV55hmlnu57
https://dl.doubtnut.com/l/_IfhjO5kLyIS4


11. Anisole with  and conc  gives

A. Phenol

B. Nitrobenzene

C. o and p-nitro anisoles

D. o- nitro anisole

Answer: C

Watch Video Solution

HNO3 H2SO4

12. An ether is more volatile than alcohol having the same molecular

formula. This is due to

A. dipolar character of ethers

B. alcohols having resonance structures

C. inter-molecular hydrogen bonding in ethers

https://dl.doubtnut.com/l/_IfhjO5kLyIS4
https://dl.doubtnut.com/l/_AVtfSbxMpPxC
https://dl.doubtnut.com/l/_72n7p4zvUMpj


D. inter-molecular hydrogen bonding in alcohols

Answer: D

Watch Video Solution

13. HBr reacts with  under anhydrous conditions at 

 to give

A. 

B.  and 

C.  and 

D. 

Answer: A

Watch Video Solution

CH2 = CH − OCH3

25∘C

H3C − CHBr − OCH3

CH3CHO CH3Br

BrCH2CHO CH2OH

BrCH2 − CH2 − OCH2

https://dl.doubtnut.com/l/_72n7p4zvUMpj
https://dl.doubtnut.com/l/_QPLQqXupf1XU


14. To prepare tert-butyl ethyl ether by Williamson synthesis, the

reactants needed are

A. Sodium ethoxide and sodium tert butoxide

B. Sodium ethoxide and tert-butyl bromide

C. Sodium tert-butoxide and ethyl bromide

D. Ethyl alcohol and tert-butyl alcohol

Answer: C

Watch Video Solution

15. The major product obtained when tert-butyl bromide is heated with

sodium ethoxide is

A. 2-Methylpropene

B. Ethene

C. tert-Butylmethylether

https://dl.doubtnut.com/l/_UTbzWvY0yUw3
https://dl.doubtnut.com/l/_Q3w8WRnSmNax


D. Diethyl ether

Answer: A

Watch Video Solution

16.  

Correct statement among the following is

A. A and B are  and 

B. X and Y are  and 

C. X and Y are  and 

D. A and B are  and 

Answer: C

Watch Video Solution

A + B → CH3 − OC(CH3)3

HI
−−→ X + Y

CH3ONa (CH3)3CBr

CH3I (CH3)3COH

CH3OH (CH3)3Cl

CH3OH (CH3)3COH

https://dl.doubtnut.com/l/_Q3w8WRnSmNax
https://dl.doubtnut.com/l/_pI1ax9wN2Dk8


17.  Anisole  

Correct statement among the following is

A. P and Q are  and 

B. R and S are  and 

C. R and S are  and 

D. P and Q are  are 

Answer: C

Watch Video Solution

P + Q →
HI

−−→ R + S

C6H5ONa C2H5Cl

C6H5I CH3OH

C6H5OH CH3I

C6H5Cl CH3ONa

18. Regarding diethyl ether, the wrong statement is

A. It is slightly soluble in water

B. In cold condition, it does not react with alkali and dilute acids

C. It has active hydrogen

D. It does not react with Na metal

https://dl.doubtnut.com/l/_YhY9Sb9LsKBe
https://dl.doubtnut.com/l/_SRjEuUAKTqO5


Answer: C

Watch Video Solution

19. Which of the following can not form oxonium salts with diethyl ether?

A. HCl

B. HBr

C. 

D. HCN

Answer: D

Watch Video Solution

H2SO4

20.  

It follows which mechanism ?

CH3OCH2CH3

+HI
−−→ CH3I + CH3CH2OH

https://dl.doubtnut.com/l/_SRjEuUAKTqO5
https://dl.doubtnut.com/l/_X2fDRBHjkC7L
https://dl.doubtnut.com/l/_5uosaF3XngsX


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SN 1

SN 2

E1

E2

21. Which one of the following reagents will form diethyl ether from

ethanol ?

A.  at 413K

B. Cold HI solution

C.  at 443K

D.  solution

Answer: A

H2SO4

H2SO4

Dil. H2SO4

https://dl.doubtnut.com/l/_5uosaF3XngsX
https://dl.doubtnut.com/l/_fbkNESqla1fD


Watch Video Solution

22. Which one of the following reagents will reduce diethyl ether to

ethane and ethanol ?

A. 

B. Cold HI

C. 

D.  heat

Answer: A

Watch Video Solution

Na/liq. NH3

H2SO4

Al2O3 /

23. Ice cold hydrochloric acid is added to dimethyl ether. The product

formed is

A. Dimethoxy methane

https://dl.doubtnut.com/l/_fbkNESqla1fD
https://dl.doubtnut.com/l/_UvjngkPPVGLU
https://dl.doubtnut.com/l/_T05jpqWaIwH5


B. Dimethoxy oxonium chloride

C. Methyl chloride

D. Methanol and methyl chloride

Answer: B

Watch Video Solution

24. Tert -Butyl methyl ether on heating with HI of one molar

concentration gives

A. Isobutane and Methyl Iodine

B. Isobutanol and Methanol

C. Tertiary Butyl Iodide and Methanol

D. Tertiary Botyl Iodide and Methyl Iodide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_T05jpqWaIwH5
https://dl.doubtnut.com/l/_khTdM2bCCNhO


25. The product formed during the following reaction are 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_khTdM2bCCNhO
https://dl.doubtnut.com/l/_eCe0k3Ne5yBI


ETHERS (OBJECTIVE EXERCISE-2B)

1.  

Correct increasing order of stability

A. IV,II,I,II

B. III,IV,I,II

C. II,IV,I,III

D. III,I,IV,II

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BJ4BffkgdWKo


2. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4rKUG3iS8xL1


3. All the following reactions are  reactions except

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SN 2

4. 

A. 

https://dl.doubtnut.com/l/_vDPJwoCmU3PW
https://dl.doubtnut.com/l/_dLqVImZCIibQ


B. 

C. 

D. 

Answer: C

Watch Video Solution

5. Which of the following does not exhibit resonance

A. 

B. 

https://dl.doubtnut.com/l/_dLqVImZCIibQ
https://dl.doubtnut.com/l/_EWXPKdb2GZwX


C. 

D. 

Answer: A

Watch Video Solution

6. 

A. 

B. 

C. 

C6H5OC2H5

C2H5OC2H5

C6H5OC6H5

https://dl.doubtnut.com/l/_EWXPKdb2GZwX
https://dl.doubtnut.com/l/_f3O0Sy4TFLnd


D. 

Answer: B

Watch Video Solution

C6H5I

7. The correct relative rate of reaction of the given alkenes for any given

electrophiles is 

A. I gt IIgt IV gt III

B. II gt III gt IV gt I

C. II gt IV gt III gt I

D. IV gt I gt III gt II

https://dl.doubtnut.com/l/_f3O0Sy4TFLnd
https://dl.doubtnut.com/l/_mxvUo0AXD51S


Answer: B

Watch Video Solution

8. Most stable carbocation among the following is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_mxvUo0AXD51S
https://dl.doubtnut.com/l/_Eph1rz7S8c5X


D. 

Answer: D

Watch Video Solution

9. 

A. ortho methoxy aniline

B. meta methoxy aniline

C. para methoxy aniline

https://dl.doubtnut.com/l/_Eph1rz7S8c5X
https://dl.doubtnut.com/l/_AFujkFcy4mCN


D. benzene 1, 2 diamine

Answer: B

Watch Video Solution

10. Which of the following reaction takes place through  mechanism

?

A. 

B. 

C. 

D. both 1 and 2

Answer: D

Watch Video Solution

SN 2

CH3 − CH2 − O − CH2 − CH3 + HI → CH3CH2I + CH3CH2OH

CH3 − CH2 − OH + HBr
Δ

−−→ CH3CH2Br + H2O

(CH3)3C − OH + HI → (CH3)3C − I + H2O

https://dl.doubtnut.com/l/_AFujkFcy4mCN
https://dl.doubtnut.com/l/_pIqv2aMw5HOp


ETHERS (OBJECTIVE EXERCISE-3)

1. Which one of the following compounds is most acidic?

A. 

B. 

C. 

D. 

Answer: C

ClCH2CH2OH

https://dl.doubtnut.com/l/_7xUfR4I6i9q4


Watch Video Solution

2. The major organic product in the reaction

 Product is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − O − CH(CH3)2 + HI →

CH3OH + (CH3)2CHI

CH3I + (CH3)2CHCOH

ICH2OCH(CH3)2

CH3 − OC
∣

I

(CH3)2

3. The general molecular formula which represents the homologous

series of alkanol is

A. CnH2nO

https://dl.doubtnut.com/l/_7xUfR4I6i9q4
https://dl.doubtnut.com/l/_DjLNFExnOYtU
https://dl.doubtnut.com/l/_F5719BiTWwhe


B. 

C. 

D. 

Answer: C

Watch Video Solution

CnH2n+ 1O

CnH2n+ 2O

CnH2nO2

4. In the reaction 

 

Which of the following compounds will be formed

A. 

B. 

C. 

D. 

CH3 − C
∣

CH3

H − CH2 − O − CH2 − CH3HI
heated

−−−→

CH3 − C
∣

CH3

H − CH2OH + CH3CH3

CH3 − C
∣

CH3

H − CH3 + CH3CH2OH

CH3 − C
∣

CH3

H − CH2OH + CH3CH2I

CH3 − C
∣

CH3

H − CH2I + CH3CH2OH

https://dl.doubtnut.com/l/_F5719BiTWwhe
https://dl.doubtnut.com/l/_m2vwmVEwGahG


Answer: C

Watch Video Solution

5. Consider the following reaction 

Phenol  

The product Z is

Watch Video Solution

zn dust
−−−→ X

CH3Cl
−−−−−−−−→

anhyd .AlCl3
(Y )

alkaline
−−−−−−→

KMnO4

Z

6. Identify (z) in the following reaction series 

Ethanol 

A. 

B. 

C. 

D. 

PBr2

−−→ X
alc .KOH

−−−−−→ Y
H2SO4 , room temp

−−−−−−−−−−−−−→
H2O ,heat

Z

CH2 = CH2

CH3CH2OH

CH3CH2OSO3H

C2H5OC2H5

https://dl.doubtnut.com/l/_m2vwmVEwGahG
https://dl.doubtnut.com/l/_zXomBg9Guk4T
https://dl.doubtnut.com/l/_SitAaitQvj1i


Answer: B

Watch Video Solution

7. The compound formed by reaction of ethylene glycol and periodic acid

 is

A. carbondioxide

B. formic acid

C. formaldehyde

D. glyoxal

Answer: C

Watch Video Solution

(HIO4)

8. Given are cyclohexanol (I), acetic acid (II), 2, 4, 6 - trinitrophenol (III) and

phenol (IV). In these the order of decreasing acidic character will be

https://dl.doubtnut.com/l/_SitAaitQvj1i
https://dl.doubtnut.com/l/_voGDWb3iBCbM
https://dl.doubtnut.com/l/_3xMx7HgJFQVd


A. II gt III gt IV gt I

B. II gt III gt I gt IV

C. III gt II gt IV gt I

D. III gt IV gt II gt I

Answer: C

Watch Video Solution

9. Write the common and IUPAC names of 

(i)   

(ii)   

(iii) .

A. i and ii

B. i, iii and iv

C. only ii

D. i, ii and iii

CH3 − CH = CH − CHO

CH3 − CH(OH) − CH2 − CHO

(CH3)2C(OH)CH2CH3

https://dl.doubtnut.com/l/_3xMx7HgJFQVd
https://dl.doubtnut.com/l/_5eKCRFE31ks1


Answer: D

Watch Video Solution

10. Which of the following compounds has the most acidic nature

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5eKCRFE31ks1
https://dl.doubtnut.com/l/_UuGPhnB68sPW


Watch Video Solution

11. Which of the following compounds can be used as antifreeze in

automobile radiators ?

A. Methyl alcohol

B. Glycol

C. Nitrophenol

D. Phenol

Answer: B

Watch Video Solution

12. Arrange the following in the increasing acidic strength: 

Phenol, o-chlorophenol, m-chlorophenol and p-chlorophenol. 

A. IV gt III gt I gt II

B. III gt IV gt I gt II

https://dl.doubtnut.com/l/_UuGPhnB68sPW
https://dl.doubtnut.com/l/_rXU9O1gyFRle
https://dl.doubtnut.com/l/_o8ZOlf8gTx14


C. I lt IV lt III lt II

D. II gt I gt III gt IV

Answer: A

Watch Video Solution

13. Among the following ethers, which one will produce methyl alcohol on

treatment with hot concentrated HI

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

CH3 − CH2 − CH2 − CH2 − O − CH3

CH3 − CH2 − C
∣

CH3

H − O − CH3

https://dl.doubtnut.com/l/_o8ZOlf8gTx14
https://dl.doubtnut.com/l/_A1aifjVRY9Af


Watch Video Solution

14. Among the following sets of reactants which one produces anisole?

A. 

B. 

C.  naeutral 

D. 

Answer: B

View Text Solution

CH3CHO, RMgX

C6H5OH, NaOH, CH3I

C6H5OH FeCl3

C6H5CH3, CH3COCl, AlCl3

15. Among the following ethers, which one will not be soluble in

?

A. 2,4,6 - Trinitrophenol

B. Benzoic acid

NaHCO3

https://dl.doubtnut.com/l/_A1aifjVRY9Af
https://dl.doubtnut.com/l/_rMBTwICg6XCo
https://dl.doubtnut.com/l/_4OGaANRHYE0Y


C. O - Nitrophenol

D. Benzene sulphonic acid

Answer: C

Watch Video Solution

16. Which of the following is not the product of dehydration of

A. 

https://dl.doubtnut.com/l/_4OGaANRHYE0Y
https://dl.doubtnut.com/l/_gAacJLvAcZrm


B. 

C. 

D. 

Answer: D

Watch Video Solution

17. Reaction of phenol with chloroform in presence of dilute sodium

hydroxide �nally introduces which one of the following functional group ?

A. 

B. 

C. 

−CHCl2

−CHO

−CH2Cl

https://dl.doubtnut.com/l/_gAacJLvAcZrm
https://dl.doubtnut.com/l/_ZjiRfsXl0Pza


D. 

Answer: B

Watch Video Solution

−COOH

18. Which of the following reaction(s) can be used for the preparation of

alkyl halides? 

 

 

 

A. IV only

B. III and IV only

C. I, III and IV only

D. I and II only

Answer: C

I)CH3CH2OH + HCl
anh .ZnCl2

−−−−−−→

II)CH3CH2OH + HCl →

III)(CH3)3COH + HCl →

IV)(CH3)2CHOH + HCl
anh .ZnCl2

−−−−−−→

https://dl.doubtnut.com/l/_ZjiRfsXl0Pza
https://dl.doubtnut.com/l/_3LxG7HE8AzSj


Watch Video Solution

19.  can be

classi�ed as:

A. Dehydration reaction

B. Williamson alcohol synthesis reaction

C. Williamson ether synthesis reaction

D. Alcohol formation reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3LxG7HE8AzSj
https://dl.doubtnut.com/l/_8Byuw18JxcVE


20. Which of the following reagents would distinguish cis-cyclopenta-1, 2-

diol from the trans-isomer ?

A. Aluminium isopropoxide

B. 

C. Acetone

D. Ozone

Answer: C

Watch Video Solution

MnO2

21. The heating of phenyl-methyl ethers with HIS produces

A. Benzene

B. Ethyl chlorides

C. Iodobenzene

D. Phenol

https://dl.doubtnut.com/l/_haOWf7bGrPlc
https://dl.doubtnut.com/l/_heaRHWDmekto


Answer: D

Watch Video Solution

22. Which one is the most acidic compound ?

A. 

B. 

https://dl.doubtnut.com/l/_heaRHWDmekto
https://dl.doubtnut.com/l/_ejfBwW8enGJ5


C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ejfBwW8enGJ5


23. In the reaction 

 

the electrophile involved is

A. dichloromethyl anion

B. formyl cation

C. dichloromethyl cation

D. dichlorocarbene

Answer: D

Watch Video Solution

24. Compound  is found to react with NaOI (produced by

reacting Y with NaOH) and yields a yellow precipitate with characteristic

smell. A and Y are respectively

A, C8H10O

https://dl.doubtnut.com/l/_V27ZktHNI5pZ
https://dl.doubtnut.com/l/_bL2O9GjKkvBI


ETHERS (OBJECTIVE EXERCISE-4)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1. (A): Alcoholic fermentation involves conversion of sugar into ethanol by

the action of yeast. 

(R): Fermentation involves the liberation of  gas.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

CO2

https://dl.doubtnut.com/l/_bL2O9GjKkvBI
https://dl.doubtnut.com/l/_YBdi5QfV9Ptq


B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

2. (A) Sodium can't be used for drying ethyl alcohol. 

(R) Sodium displaces hydrogen from ethyl alcohol.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

https://dl.doubtnut.com/l/_YBdi5QfV9Ptq
https://dl.doubtnut.com/l/_JrCQpZ0KboGN


Answer: A

Watch Video Solution

3. (A) Ethyl alcohol is soluble in organic solvents 

(R) Ethyl alcohol is having non polar ethyl group.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_JrCQpZ0KboGN
https://dl.doubtnut.com/l/_7IWICVYf8xOv


4. (A) The boiling point of  is less than that of  , though the

molecular weight of C,H,OH is more than that of water. 

(R)  molecules are not highly associated through hydrogen

bonding as in water.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

C2H5OH H2O

C2H5OH

5. (A) Addition of  to  gives methane. 

(R)  is more acidic than 

C2H5OH CH3MgI

C2H5OH CH4

https://dl.doubtnut.com/l/_cmj6F9VqSxYd
https://dl.doubtnut.com/l/_LVS6BfArXnyF


A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

6. (A): Oxidation of tertiary alcohols requires strong oxidising agent and

elevated temperature. 

(R): Oxidation of tertiary alcohols involves cleavage of C - C bond.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

https://dl.doubtnut.com/l/_LVS6BfArXnyF
https://dl.doubtnut.com/l/_1Uj3kQuy0rwR


D. Both (A) and (R) are false

Answer: A

Watch Video Solution

7. (A) Acetone and propenol-2 are tautomers. 

(R) Propanone and propenol-2 contain di�erent functional groups.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1Uj3kQuy0rwR
https://dl.doubtnut.com/l/_yrhvM1ZO4kuJ
https://dl.doubtnut.com/l/_dYH4BR60dPmC


8. (A) Alcohols act as Bronsted - Lowry bases. 

(R) In alcohols the lone pair of electrons on oxygen forms dative bond by

accepting a proton

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

9. (A) Anhydrous  is used in reaction of alcohols with HCI. 

(R) ZnCl, forms a complex with oxygen of alcohol and converts - OH into a

much better leaving group.

ZnCl2

https://dl.doubtnut.com/l/_dYH4BR60dPmC
https://dl.doubtnut.com/l/_SVLSr5J8qVdl


A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

10. (A) Alcohols can act as nucleophiles 

(R) Alcohols form salts with alkali metals

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

https://dl.doubtnut.com/l/_SVLSr5J8qVdl
https://dl.doubtnut.com/l/_TONKxHzbFirI


D. Both (A) and (R) are false

Answer: B

Watch Video Solution

11. (A) Tertiary alcohols are more reactive for nucleophilic substitution

reactions 

(R) The C-O bond is weak in tertiary alcohol

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TONKxHzbFirI
https://dl.doubtnut.com/l/_jfIiwUrmi0pQ


12. (A) Reactivity of primary alcohol is more than secondary alcohols

towards sodium metal 

(R) Primary alcohol is more acidic than secondary alcohol

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

13. (A) The bond angle C-O-H in alcohol is less than in phenols 

(R) In phenols -OH group attached to the  carbon atom. While in

alcohols OH group attached to  carbon atom

sp2

sp3

https://dl.doubtnut.com/l/_jfIiwUrmi0pQ
https://dl.doubtnut.com/l/_FF2C2bVvY9SI
https://dl.doubtnut.com/l/_xAqRH7QZE9AH


A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

14. (A) In ethers, bond angle C-O-C is more than tetrahedral angle 

(R) Steric repulsive inter action between two bulky alkyl groups is more

than 1p-lp repulsions around oxygen atom

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

https://dl.doubtnut.com/l/_xAqRH7QZE9AH
https://dl.doubtnut.com/l/_JNCGurXFJTJ9


D. Both (A) and (R) are false

Answer: A

Watch Video Solution

15. (A) n-propyl alcohol is prepared from propene by the action of 

followed by oxidation with  in basic medium 

(R) In Hydroboration oxidation reaction, rearranged products are not

formed because it involves the formation of cyclic transition state

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

W t h Vid S l ti

B2H6

H2O2

https://dl.doubtnut.com/l/_JNCGurXFJTJ9
https://dl.doubtnut.com/l/_dj0M4kO9bhUL


Watch Video Solution

16. (A) During acid catalysed esteri�cation, oxygen atom of alcohol is

present in ester molecule 

(R) Alcohol acts as a nucleophile

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

17. (A) Lucas reagent is used to distinguish  and  alcohols 

(R) The role of anhyd.  in the Lucas reagent is to weaken the bond

1∘ , 2∘ 36 ∘

ZnCl2

https://dl.doubtnut.com/l/_dj0M4kO9bhUL
https://dl.doubtnut.com/l/_uhXeOuRVYx9s
https://dl.doubtnut.com/l/_h3o849R2z0az


between C-O by accepting electron pair from oxygen atom of alcohol

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

18. (A) Addition of water to  gives 

 as major product 

(R)  carbocation is more stable than  carbocation

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

(CH3)2 − C = CH − CH3

(CH3)2 − COH − CH2 − CH3

3∘ 2∘

https://dl.doubtnut.com/l/_h3o849R2z0az
https://dl.doubtnut.com/l/_3wnRoGnRZLKA


B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

19. (A) 1-propanol & 2-propanol can be distinguished by haloform test 

(R) The trihalomethyl group  of is a good

leaving group for nucleophilic substitution reaction

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

( − CX3) CH3 −

O
∣ ∣

C − CX3

https://dl.doubtnut.com/l/_3wnRoGnRZLKA
https://dl.doubtnut.com/l/_ZyIXCe6kuyTi


D. Both (A) and (R) are false

Answer: B

Watch Video Solution

20. (A) Alcohols are acidic in nature but donot react with NaOH solution 

(R) Alkoxide is stronger base than hydroxide ion

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_ZyIXCe6kuyTi
https://dl.doubtnut.com/l/_MbKi0x1TsNi2
https://dl.doubtnut.com/l/_15l2UQKkVREG


21. (A) The acidity of alcohols follow the order  

(R) The +I e�ect of alkyl groups  favour the dissociations

of - O - H bond

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

1∘ > 2∘ > 3∘

(3∘ > 2∘ > 1∘ )

22. (A) For the reduction of esters in to alcohols  is preferred than

  

(R)  is more expensive than 

Ni/H2

LiAlH4

LiAIH4 Ni/H2

https://dl.doubtnut.com/l/_15l2UQKkVREG
https://dl.doubtnut.com/l/_q3r2SuCFgKAl


A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

23. (A) Dichloro carbene acts as electrophile in Reimer-Tiemann reaction. 

(R) Dichloro carbene has two electrons on carbon atom.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

https://dl.doubtnut.com/l/_q3r2SuCFgKAl
https://dl.doubtnut.com/l/_fOWvJb4RSdVV


D. Both (A) and (R) are false

Answer: B

Watch Video Solution

24. (A) : Phenols are more acidic than alcohols. 

(R): Phenoxide ion is more stable than alkoxide ion due to resonance.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fOWvJb4RSdVV
https://dl.doubtnut.com/l/_wsIpGnDbJ9yq
https://dl.doubtnut.com/l/_PWOZ3PFhjlOM


25. (A) In methanol C-O bond length is 1.42Å, but in phenol, it is 1.36Å. 

(R) In methanol carbon atom is  hybridised and in phenol, carbon

atom bearing the hydroxyl group is  hybridised.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

sp3

sp2

26. (A) o-Nitrophenol is less soluble in water than the m- and p-isomers of

nitrophenol. 

(R) o-Nitrophenol exist as associated molecules.

https://dl.doubtnut.com/l/_PWOZ3PFhjlOM
https://dl.doubtnut.com/l/_uSAooRbb9gVo


A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

27. (A) Phenol undergoes Kolbe's reaction but not ethanol. 

(R) Phenoxide ion is a weaker base than ethoxide ion.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

https://dl.doubtnut.com/l/_uSAooRbb9gVo
https://dl.doubtnut.com/l/_WFfxrABdtVyn


D. Both (A) and (R) are false

Answer: B

Watch Video Solution

28. (A) Phenols are acidic & react with alkalies like NaOH but do not react

with  and  solutions 

(R)  ions are less basic than phenoxide ion

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

Na2CO3 NaHCO3

CO− 2
3 &HCO−

3

https://dl.doubtnut.com/l/_WFfxrABdtVyn
https://dl.doubtnut.com/l/_TJ4d964di7Fu


29. (A) Presence of electron withdrawing groups at p-position, increases

the acidic strength of phenols 

(R) Presence of electron withdrawing groups at ortho and para position

stabilises the phenoxide ion formed

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

30. (A) Both phenol and phenoxide ion exhibit resonance, phenoxide ion

is more stable than phenol 

https://dl.doubtnut.com/l/_TJ4d964di7Fu
https://dl.doubtnut.com/l/_m8saIUT8Fud5
https://dl.doubtnut.com/l/_i65jWfWLIN21


(R) In phenoxide ion two equivalent resonating structures, and in phenol

four equivalent resonating structures are present

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

31. (A) Phenol and benzoic acid are distinguished with  solution 

(R) Benzoic acid is more basic than phenol

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

NaHCO3

https://dl.doubtnut.com/l/_i65jWfWLIN21
https://dl.doubtnut.com/l/_6zqG3PkG1YOY


B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

32. (A) O and p nitro phenols are separated by steam distillation 

(R) O-isomer is steam volatile due to intra molecular H-bond

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

https://dl.doubtnut.com/l/_6zqG3PkG1YOY
https://dl.doubtnut.com/l/_4NiolAKqbODX


Answer: A

Watch Video Solution

33. (A) Reimer Tiemann reactions of phenol with chloroform in alkali

produce salicylade-hyde as major product 

(R) The reaction involves in the formation of dichloro carbene as

intermediate

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_4NiolAKqbODX
https://dl.doubtnut.com/l/_eUC35ubKITkv
https://dl.doubtnut.com/l/_gc99mGVs5Cj4


34. (A): Ethers behave as bases in the presence of mineral acids. 

(R): Oxygen atom in ether is having lone pair electrons.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

35. (A):Ethers are relatively inert when compared to .  

(R): In ethyl alcohol both carbon and oxygen undergo  hybridisation.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

C2H5OH

sp3

https://dl.doubtnut.com/l/_gc99mGVs5Cj4
https://dl.doubtnut.com/l/_bFbhfNn5ah0U


B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

36. (A):  and  react together to form 

  

(R): Good yields are obtained when sodium tert.alkoxide is treated with

 alkyl halide

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

(CH3)3C − ONa CH3Br

(CH3)3C − O − CH3

1∘

https://dl.doubtnut.com/l/_bFbhfNn5ah0U
https://dl.doubtnut.com/l/_w7BcCdoTPYcU


D. Both (A) and (R) are false

Answer: A

Watch Video Solution

37. (A) IUPAC name of the compound 

 is 

(R) In IUPAC nomenclature, ether is regarded as hydrocarbon derivative in

which a hydrogen atom is replaced by -OR or-OAr group [where R = alkyl

group and Ar = aryl group]

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

CH3 − C
∣

CH3

H − O − CH2 − CH3

https://dl.doubtnut.com/l/_w7BcCdoTPYcU
https://dl.doubtnut.com/l/_GMjg3A6ZcBeb


Answer: A

Watch Video Solution

38. (A) Ditertiarybutyl ether cannot be prepared by Williamson's synthesis 

(R) Ter.butylbromide on reaction with tertiary butoxide preferably

undergo elimination

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GMjg3A6ZcBeb
https://dl.doubtnut.com/l/_STYLqNnSfPDo


39. (A) The major products formed by heating 

 

(R) Para amino benzyl carbocation is more stable

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

40. (A) Anisole undergoes electrophilic substitution reaction at ortho &

para position 

https://dl.doubtnut.com/l/_OCg0S3fuBG2f
https://dl.doubtnut.com/l/_ws1wsNt81sJ7


(R) Anisole is less reactive than phenol towards electrophilic aromatic

substitution reaction

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

41. (A) Phenetole on cleavage with HI gives phenol & ethyl iodide 

(R) Phenetole is a mixed aromatic ether

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

https://dl.doubtnut.com/l/_ws1wsNt81sJ7
https://dl.doubtnut.com/l/_jNu4q4wopDcJ


B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

42. (A) IUPAC name of

 is 2-ethoxy1,1,-

dimethyl cyclohexane 

https://dl.doubtnut.com/l/_jNu4q4wopDcJ
https://dl.doubtnut.com/l/_5RVxokIeQj51


(R) According to IUPAC, ethoxy group is a functional group and named in

the above compound by giving priority to the ethoxy group

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

Watch Video Solution

43. (A) Formation of ether from alcohol is an example of bimolecular

nucleophilic substitution reaction  

(R) Alkyl groups of alcohol are preferably  alkyl groups

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

(SN 2)

1∘

https://dl.doubtnut.com/l/_5RVxokIeQj51
https://dl.doubtnut.com/l/_mfkeF59Txt6e


B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

44. (A) To prepare ter.butylethylether, the reactants used are

ter.butylbromide and ethoxide solution 

(R) Williamson's synthesis is an electrophilic substitution reaction of RX

with alkoxide ion

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

https://dl.doubtnut.com/l/_mfkeF59Txt6e
https://dl.doubtnut.com/l/_tv3EZiHWS0W4


D. Both (A) and (R) are false

Answer: D

Watch Video Solution

45. (A) Ethers are not generally prepared by acid dehydration of  and 

 alcohols (R) dehydration of 29 and 30 alcohols gives alkenes by

elimination

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

2∘

3∘

https://dl.doubtnut.com/l/_tv3EZiHWS0W4
https://dl.doubtnut.com/l/_DfV7FriD4Vvi


46. (A) Methoxy benzene can be prepared by the reaction of 

and  but not by the reaction of  with  

(R)  is not a good substrate for SN? reaction because attack

of nucleophile from back side of leaving group is hindered by the ring

and also double bond character will be developed between carbon and

bromine

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

C6H5ONa

CH3Br C6H5Br CH3ONa

C6H5 − Br

https://dl.doubtnut.com/l/_DfV7FriD4Vvi
https://dl.doubtnut.com/l/_tjoYgrjKJyRy


47. (A) Reaction of HI with ter-butylethylether produces ter.butyliodide &

ethyl alcohol 

(R) It follows  reaction

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

Watch Video Solution

SN 1

48. (A) Anisole is more reactive than phenol towards electrophilic

aromatic substitution reactions 

(R)  group is more ring activating than -OH group present on

benzene ring

−OCH3

https://dl.doubtnut.com/l/_wHgPw357LWLs
https://dl.doubtnut.com/l/_UOmfWIOvVaOx


A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

Watch Video Solution

49. (A) With excess HI anisole gives a mixture of iodobenzene and methyl

iodide 

(R) The reaction between anisole and HI takes place via  mechanism.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

SN 2

https://dl.doubtnut.com/l/_UOmfWIOvVaOx
https://dl.doubtnut.com/l/_iZTUduFqOT3E


D. Both (A) and (R) are false

Answer: D

Watch Video Solution

50. (A) Diethyl ether is used as general anaesthetic 

(R) Diethyl ether produces unconscio-usness without e�ecting lungs.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_iZTUduFqOT3E
https://dl.doubtnut.com/l/_fRGHmYZuPO8U

